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IDENTIFICATION

PRODUCT NAME: CNDURAO DUV11 OFLNE RCVR TSTS
PRODUCT CODE :AC=T465A=MC

PRODUCT DATE:DEC, 1982,1983

MAINTAINER :DIAGNOSTICS SERVICES/ISS
AUTHOR: K.LIND

COPYRIGHT (C) 1982,1983
DIGITAL EQUIPMENT CORPORATION, MAYNARD MASS.
T

THE INFORMATION IN THIS DOCUMENT IS SUBJECT TO CHANGE WITHOUT NOTICE AND
SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT CORPORATION.
DIGITAL EQUIPMENT CORPORATION ASSUMES NO RESPONSIBILITY FOR ANY ERRORS
THAT MAY APPEAR IN THIS DOCUMENT.

THE SOFTWARE DESCRIBED IN THIS DOCUMENT IS FURNISHED UNDER A LICENSE AND
MAY ONLY BE USED OR COPIED IN ACCORDANCE WITH THE TERMS OF SUCH LICENSE.

DIGITAL EQUIPMENT CORPORATION ASSUMES NO RESPONSIBILITY FOR THE USE OF
RELIABILITY OF ITS SOFTWARE ON EQUIPMENT THAT IS NOT SUPPLIED BY DIGITAL.
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1.

2.

2.2

3.

10-DEC

GENERAL DESCRIPTION

THIS DIAGNOSTIC CAN CHAIN 16 DUV11'S. THIS MEANS THAT

16 DEVICES CAN BE SEQUENTIALLY EXERCISED. THE DIAGNOSTIC
MAKES ONE PASS BEFORE PROCEEDING TO THE NEXT DEVICE,

AND CONTINUES EXERCISING ALL DEVICES IN THIS FASHION UNTIL

HALTED.

Ezgpgfgé}cocshégipggggl{sﬂ TESTS VERIFY THAT THE RECEIVER
REQUIREMENTS

POP=11/21 COMPUTER (LSI)

DUVI1 SYNCRONOUS/ISOCRONOUS OPTION

ONE CONSOLE TELETYPE OR EQUIVALENT

STORAGE
THE PROGRAM LOADS INTO 4K OF MEMORY WITH BOOTSTRAP

LOADING PROCEDURE

THE STANDARD PROCEDURE FOR LOADING ABSOLUTE BINARY TAPES
IS TO BE USED.

STARTING ADDRESS
FOR ABSOLUTgobOADER

4K 017

8K 37500
12K 37500
16K 77500
0K 117500
LK 1%7500
8k 157500

STARTING PROCEDURE
CONTROL SWITCH SETTINGS

NOTE: ALL sumufs neswt INTERNAL TO THE CPU AT ADDRESS
176, THESE SET VIA THE CONSOLE TTY BY DIRECTLY
MODIFYING LOC. 1 6.

NOTE:  RUNNING UNDER APT=11, THERE 1S

CALLED "SUSWR''. IN ORDER TO BE FL Bl.%

H315 CONNECTOR, ONE BIT PASSES STATUS 8

BIT 0 IN SUSWR REFLECTS THIS STATUS, A 0 = couuscton

PRESENT, A 1 = CONNECTOR NOT AVAILIBLE.

THE USER CHANGES THE CONTENTS OF

L il

-REM

SEQ 0002
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6.1.2

4.1.3

4.1.4

4.2

4.3
6.3.1

4.3.2

6.3.3

10-DEC~
WHEN BUILDI Hg E TABLE, BY ANSWERING THE
PROMPT *'SWI

AFTER PROGRAM LOAD (INITIAL PROGRAM START)

ALL CONSOLE SWITCHES DOWN

TO MODIFY DEVICE VECTOR AND CONTROL REGISTER ADDRESSES
AFTER PROGRAM RESTART OR TO RUN MULTIPLE DEVICES

SW00=1
TO START PROGRAM AT SELECTED TEST AFTER A PROGRAM RESTART
p— (ONLY IN SINGLE DEVICE TESTS)

s

TO LOCK ON SELECTED TEST AFTER A PROGRAM RESTART
(ONLY IN SINGLE DEVICE TESTS)

Swié=1
NOTE1: IN GENERAL SWO1 WILL BE USED WHEN SW14=1 IS USED
NOTE2: WITHOUT SWO01=1 *LOCK ON TEST'' WILL DEFAULT TO TEST 1

STARTING ADDRESS

THE STARTING ADDRESS FOR ALL TESTS IS 000200

THE RETARTING ADDRESS FOR ALL TESTS IS

1§ ST ARS8 kA A Sekpclfo TRRLLAR  oooee
PROGRAM AND/OR OPERATOR ACTION

INITIAL PROGRAM START

4.3.1.1 LOAD PROGRAM INTO MEMORY WITH ABSOLUTE LOADER
4.3.1.; SET SWITCH REGISTER (LOC. 1762 70O ZERO.

4.3.1.3 TYPE 2006.

4.3.1.4 PROGRAM WILL START,

4.3.1.5 THE PROGRAM WILL TYPE "DUV11 CNDUR-A TAPE B'' (ONCE ONLY)
4.3.1.6 THE PROGRAM WILL TYPE 'R'* TO INDICATE THAT [T IS ABOUT
TO START TESTING ,AND THEN TESTING WILL BEGIN

PROGRAM RESTART WITH ALL SWITCHES DOWN

4.3.2.1 THE PROGRAM WILL TYPE "R'* AND WILL COMMENCE TESTING
PROGRAM RESTART WITH SW00=1

SEQ 0003
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4.3.3.1 SET SWITCH REGISTER (LOC. 176) TO A 000001.
4.3.3.2 TYPE 2006G.
4.3.3.3 PROGRAM WILL START,

4.3.3.4 THE PROGRAM WILL TYPE °' 1ST DEV
ADDRESS'' AND WAIT FOR AN INPUT

4.3.3.5 TYPE IN THE ADDRESS OF THE FIRST R
REGISTER ADDRESS OF THE DUV11 TO B
FOLLOWED BY A <CARRIAGE RETURN>

l
TELETYPE KEYBOARD
g CONTROL

ICE: RE
FROM TH
El
TESTED

EC
E

C
E
VE
ST

IF AN INCORRECT ADDRESS IS TYPED ,THE PROGRAM WILL TYPE ‘"?*
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.4

4.3.3.6 THE PROGRAM WILL TYPE ''VECTOR ADDRESS~-'' AND WAIT FOR AN
INPUT FROM THE TELETYPE KEYBOARD

4£.3.3.7 TYPE IN THE BASE RECEIVER INTERRUPT VECTOR ADDRESS
FOR THE DUV11 TO BE TESTED FOLLOWED BY A <CARRIAGE RETURN>
IF AN INCORRECT ADDRESS IS TYPED THE PROGRAM WILL TYPE °"?*
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.6

4.3.3.8 THE PROGRAH WILL TYPE ‘'ARE YOU RUNNING MULTIPLE DEVICES ?*’
R N)='' AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.3.9 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED BY A
<CARRIAGE RETURN>

IF AN INCORRECT ANSWER IS GIVEN, THE Pnocm WILL TYPE 2"
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.8

IF A °NO'' ANSWER IS GIVEN: JUMP TO SECTION 4.3.3.12
IF A "'YES'' ANSWER IS GIVEN:THE NEXT QUESTION IS ASKED

4.3.3.10 THE PROGRAM WILL TYPE '‘LAST DEVICE:RECEIVER CONTROL

REGISTER ADDRESS='' AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.3.1 TYPE IN THE ADDRESS OF THE LAST RECEIVER CONTROL REGISTER
ADDRESS OF THE DUV11 TO BE TESTED FOLLOWED BY A <CARRIAGE RETURN>

IF AN INCORRECT ANSWER IS TYPED ,THE P RAH WILL TYPE "
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.10
NOTE:ALL ADDRESSES SHALL BE CONTIGUOUS

4.3.3.11.1 lF AN 'WT OF RANGE'® ADDRESS IS TYPED
IE. MORE T 16 (10) DEVICES AWAY (UPWARDS)....
PROGRAM UILL 'IPE 'OUT OF RANGE:RETYPE LAST DEVI
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

EIVER CONTROL REGISTER

. THE
CE RXCSR ADDRESS=-"'

SEQ 0004
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6.3.3.11.2 TYPE IN THE ADDRESS OF THE LAST RECEIVER CONTROL
REGISTER ADDRESS OF THE DUV11 TO BE TESTED FOLLOWED
BY A <CARRIAGE RETURN>

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE '""
AND WILL REPEAT THE MESSAGE OF 4.3.3.11.1

IF A DEVICE ADDRESS LOWER THAN 1ST DEVICE ADDRESS IS TYPED..c.cocecsee
esesSCHOOLS OUT.cocseess THERE IS NO PROTECTION FOR THIS.

THE PROGRAM WILL DEFAULT TO TWO DEVICES ACTIVE (UPWARDS FR%Mn

1ST DEVICE ADDRESS).THE SAME APPLIES TO IDENTICAL ADDRESSES

TYPED FOR FIRST AND LAST DEVICE.

OBSERVE LOCATION @ ACTREG: SEE SECTION 7.2

4£.3.3.12 THE PROGRAM WILL TYPE ‘'# OF SYNC CHARS
SELECTED (1 OR 2)='* AND WAIT FOR AN INPUT FROM THE TELETYPE
gsg??akggs.zifiﬂ TO MANUAL FOR PROPER SWITCH SETTINGS OF

4£.3.3.13 TYPE IN THE APPROPRIATE ANSWER '*1°' OR °'2'* FOLLOWED
g; ?chgzgé?GE RETURN>. (NOTE :ALL MULTIPLE DEVICES MUST

lf AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE '*?*'
AND WILL REPEAT THE MESSAGE OF 4.3.3.12

4.3.3.14 THE PROGRAM WILL TYPE °' IS SEC XMIT SWITCH E55-2 ON? (Y OR N)=*'
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
4.3.3.15 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED

BY A <CARRIAGE RETURN>.(NOTE THAT ALL MULTIPLE DEVICES
MUST BE THE SAME)

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE '*?**
AND WILL REPEAT THE MESSAGE OF 4.3.3.14

4£.3.3.16 THE PROGRAM WILL TYPE ‘IS SEC REC SWITCH E55-3 ON?
(7 OR N)='" AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
4£.3.3.17 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED

BY A <CARRIAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)

IF AN INCORRECT ANSWER IS TYPED ,T PROGRAH WILL TYPE ‘2"
AND WILL REPEAT THE MESSAGE OF 4.3.3.1

4£.3.3.18 THE PROGRAM WILL TYPE °'IS OPT CLR ENABLE SWITCH
ES55=1 ON? (Y OR N)='' AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
4.3.3.19 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED

BY A <CARRIAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)

SEQ 0005
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IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE ‘"
AND WILL REPEAT THE MESSAGE OF 4.3.3.18

6.3.3.20 THE PROGRAM WILL TYPE °‘'ARE YOU RUNNING IN MAINT.
MODE EXTERNAL ? AND ......DO YOU HAVE THE EXTERNAL MODEM
BYPASS JUMPER CONNECTOR ON ? (Y OR N)='' AND WAIT FOR AN
INPUT FROM THE TELETYPE KEYBOARD
6.3.3.21 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED BY
A <CARRIAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)
IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE '"?*
AND WILL REPEAT THE MESSAGE OF 4.3.3.20

4.3.3.22 THE PROGRAM WILL TYPE ‘R'' TO INDICATE THAT IT
HAS STARTED AND WILL COMMENCE TESTING AT TEST 1

PROGRAM RESTART WITH SWO01=1
NOTE: THIS WILL ONLY WORK WHEN A SINGLE DEVICE IS SELECTED

...1T WILL NOT WORK IF MULTIPLE DEVICES ARE SELECTED

IF MULTIPLE DEVICES WERE PREVIOUSLY SELECTED,LOAD 000200,

ggg §E§E§' SW00=1 AND ANSWER 'NO'* TO THE MULTIPLE DEVICE QUESTION
4.3.4.1 SET SWO1=1 IN SWITCH REG (LOC. 176)

4.3.4.2 TYPE 2006.

4.3.4.3 PROGRAM WILL START.

4.3.4.4 THE PROGRAM WILL TYPE '‘TEST PC='" AND WAIT FOR AN INPUT FROM
THE TELETYPE KEYBOARD

4.3.4.5 TYPE IN THE ADDRESS OF THE TEST AT WHICH THE PROGRAM IS TO
BE STARTED FOLLOWED BY A <CARRIAGE RETURN>

4.3.4.6 THE PROGRAM WILL TYPE 'R'' TO INDICATE THAT IT HAS STARTED
TESTING AT THE SELECTED TEST

NOTE: CARE MUST BE TAKEN WHEN THIS FEATURE IS USED
SINCE THERE IS NO PROTECTION AGAINST SELECTING AN ADDRESS
THAT IS IN THE MIDDLE OF A TEST

PROGRAM RESTART WITH SW14 =1

NOTE: THIS WILL ONLY WORK WHEN A SINGLE DEVICE IS SELECTED

SEE NOTE IN 4.3.4 FOR MORE DETAILS

4.3.5.1 SET SW14=1 IN SWITCH REG. (LOC. 176)

4.3.5.2 TYPE 2006.

4.3.5.3 PROGRAM WILL START,

SEQ 0006
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THE PROGRAM WILL TYPE ''LOCK ON SELE:.TED TEST ? (Y OR N)=''
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED BY A
<CARRIAGE RETURN>

IF A NO ANSWER IS GIVEN: THIS LOCK ON TEST WILL BE IGNORED
AND THE PROGRAM WILL TYPE ‘R'* TO INDICATE THAT IT HAS STARTED
TESTING AT TEST 1

IF A YES ANSWER WAS GIVEN:THE PROGRAM WILL ACT AS FOLLOWS...
THE PRQGRAM WILL TYPE 'R°'* TO INDICATE THAT IT HAS STARTED
TESTING.AT TEST 1 AND WILL REMAIN IN TEST 1 UNTIL HALTED

OR IF ANY KEY IS STRUCK ON THE TELETYPE ,THE PROGRAM
WILL FREEZE ON THE NEXT TEST UNTIL A KEY IS STRUCK ON

THE TELETYPE AND SO FORTH THRU THE PROGRAM. [F SWO1 -1 IT
WILL PERFORM AS IN SECTION 4.3.4 ALLOWING ONE TO FREEZE

ON A SELECTED TEST RATHER THAN DEFAULTING TO TEST 1

OPERATING PROCEDURE
OPERAT%ONAL SWITCH SETTINGSoélNTERNAL TO THE CPU, ACCESSED VIA LOC. 176).

15 HALT ON ERR
Swi4 = LOOP ON CURRENT TEST
sWi3 = INHIBIT ERROR TYPEOUT
swil =1 INHIBIT ITERATIONS
sWwi0 =1 ESCAPE TO NEXT TEST ON ERROR
SW09 =1 LOOR ON ERROR
SWo1 = RES.ART PROGRAM AT SELECTED TEST
SW00 =1 RESELECT VECTOR AND CONTROL REGISTER ADRESSES

EPARAMETERS AFTER A PROGRAM RESTART

TO INHIBIT "END OF PASS'® TYPEOUT = TURN TELETYPE OFF

ERRORS

ERROR HALTS (UNDER LSI ALL HALT ERRORS RETURN CONTROL TO 0.D.T.)
THERE ARE FOUR DISTINCT ERROR TYPEOUTS

PC+2 = ERROR PC

WHERE PC +2 IS THE ADDRESS OF THE CALL TO THE ERROR HANDLER +2
REFER TO THE ABOVE 'MLT'® IN DIAGNOSTIC FOR ERROR DESCRIPTION

CHECK ADDRESS @ RXCSR: TO LOCATE THE DEVICE PRESENTLY UNDER
TEST WHEN RUNNING MULTIPLE DEVICES

PC +2 = REGISTER ERROR PC

REGISTER EXPECTED ACTUAL

16XXXX YYYYYY 222212

WHERE 16XXXX IS THE ADDRESS OF THE FAILING DEVICE REGISTER

WHERE YYYYYY IS THE EXPECTED CONTENTS OF THAT REGISTER

SEQ 0007
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6.1.4

6.1.5

6.2
6.2.1

6.2.2

6.2.3

6.2.‘

6.3
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WHERE 222227 IS THE ACTUAL CONTENTS OF THAT REGISTER

PC +2 = RECEIVER_ERROR PC
REGISTER EXPECTED ACTUAL
16XXXX YYYYYY 11211

WHERE 16XXXX IS THE ADDRESS OF THE FAILING RECEIVER (RXDBUF) REGISTER
WHERE YYYYYY IS THE EXPECTED DATA CONTENTS OF THAT REGISTER
WHERE 222211 IS THE ACTUAL DATA CONTENTS OF THAT REGISTER

PC +2 = TRANSMITTER ERROR PC
REGISTER EXPECTED ACTUAL
16XXXX YYYvyy 21112

WHERE 16XXXX IS THE ADDRESS OF THE FAILING TRANSMITTER (TXCSR) REGISTER
WHERE YYYYYY IS THE EXPECTED CONTENTS OF THAT REGISTER
WHERE 22722 IS THE ACTUAL CONTENTS OF THAT REGISTER

ERROR DESCRIPTIONS
SEE LISTINGS FOR DETAILS OF ERRORS

ERROR RECOVERY

Sw15 =0
IF THE PROGRAM IS RUN WITH SW15 =0 _NO OPERATOR ACTION IS
REQUIRED TO CONTINUE TESTING

SW15 =1

IF _THE PROGRAM IS RUN WITH SW15 =1 ,TO CONTINUE TESTING
AFTER THE PROGRAM HAS HALTED ,PRESS THE PROCESSOR
CONSOLE ‘‘CONTINUE SWITCH"

NOTE: THE PC ¢+ 2 OF THE "HLT'' WILL BE DISPLAYED IN THE DATA LIGHTS

ILLEGAL INTERRUPTS

IF AN INTERRUPT OCCURS TO A VECTOR ADDRESS NOT SELECTED
DURING PROGRAM INITIALIZATION, THE PROGRAM WILL HALT IN
THE TRAPCATCHER. THE ADDRESS AT WHICH THE PROGRAM

HALTS IS 2 GREATER THAN THE ADDRESS TO WHICH THE INTERRUPT
OCCURED. THE PROGRAM MUST BE RESTARTED AT 000200 TO
RECOVER FROM THIS ERROR.

ADDITIONAL TROUBLESHOOTING AIDS ERRCNT: § PASCNT:
CHECK THESE TWO TAG LOCATIONS FOR TOTAL # OF ERRORS AND PASSES RESPECTIVELY.
LOADING 000200 AND RESTARTING WILL CLEAR THESE LOCATIONS.

END OF PASS ROUTINE
THIS TYPEOUT IS MENTIONED HERE FOR CONVENIENCE
IT IS IN THE FORM:

END OF PASS TAPE Y

SEQ 0008
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16XXxx = DEVICE

WHERE Y IS THE TAPE LOADED

WHERE 16XXXX IS THE DEVICE'S BASE REGiSTER ADDRESS
TO INHIBIT THIS TYPEOUT = TURN TELETYPE OFF
RESTRICTIONS

MULTIPLE DEVICES
UP TO 16(10) DEVICES MAY BE TESTED. HOWEVER, THEY
MUST HAVE CONTIGUOUS ADDRESSES AND VECTORS

NOTE: IF ALL DEVICES UNDER TEST HAVE THE SAME INTERRUPT VECTOR
YOU CAN CHANGE °‘‘ZERO: ADD  #10,BASEIV sNEXT BLOCK
(VECTORS)'* TO '‘ZERO: _ADD #0,BASEIV'';

THEREBY THE VECTOR ADDRESSES WILL NOT BE

UPDATED AFTER EACH PASS.

DISQUALIFYING DEVICES WHEN RUNNING MULTIPLE DEVICES

WHEN RUNNING MU! TIPLE DEVICES AN ACTIVE BIT IS SET
FOR EACH DEVICE RUNNING UNDER TEST IE. BIT 0 FOR
DEVICE 0 ,BIT 15 FOR DEVICE 15

TO DiSQUALIFY DEVICES:

IF DEVICE O IS TO BE DISQUALIFIED ,SIMPLY RESTART
PROGRAM WITH SWO0 =1 AND OMIT THE FIRST DEVICE.

IF HOWEVER, DEVICES 1 THRU 15 OR ANY COMBINATION THEREOF
ARE TO BE DISQUALIFIED....LOAD THE LOCATION OF ACTREG:
OBSERVE THE ACTIVE BITS (ACTIVE =1, NONACTIVE = 0)

AND DEPOSIT O WHERE THOSE DEVICES ARE TO BE DISQUALIFIED

7.202.1 ro RES'AR'...T'“ 2006.'.
THE PROGRAM WILL CONTINUE WITH THE DEVICE IT WAS IN BEFORE HALTING.

7.2.2.2 ve0vess0R .....SET SWO0=1 IN SWITCH REG (LOC. 176) AND TYPE 2006G....
ANSWER THE QUESTION :1ST DEVICE : ETC.cvcsesenes
«se+THE PROGRAM WILL CONTINUE WITH DEVICE 0

7.2.2.3 I ALL DEVICES ARE DISQUALIFIED BY MISTAKE _ THE PROGRAM
WILL TYPEOUT AN ERROR MESSAGE.......TYPE 2006G.

CABLE DELAYS
NOTE: EXTERNAL LOOP BACK TESTS ONLY (MODEM CABLE WITH H315 CONNECTOR ON)

TO PROVIDE SUFFICIENT DELAY FOR CLOCK SIGNAL OVER THE CABLE,

LOCATION "HOLD:'* MUST BE MODIFIED TO ACCOMODATE FOR FASTER MACHINES.
PRESENTLY “HOLD:'* =20 IS SUFFICIENT TIME ON AN 11/21 MACHINE.

BASICALLY DON'T TRY TO EXCEED 10K TO 12K RATE USING THE EIA DRIVERS

TO USE THE ‘'XOR'* TESTER ,THE BRANCH AROUND THE ‘‘XOR'’
CODE MUST BE PATCHED TO A ‘NOP''. (SEE LISTINGS FOR DETAILS)

SEQ 0009
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|
i 8. DEFAULT PARAMETERS:
| 1ST DEVICE: RECEIVER CONTROL REGISTER ADDRESS= RXCSR: 174300
| VECTOR ADDRESS= DURIV: 330
|
ARE YOU RUNNING MULTIPLE DEVICES ?- NO MULTD: 0
LAST DEVICE: RECEIVER CONTROL REGISTER ADDRESS= LASTADD: 0
# OF SYNC CHARS SELECTED = 2 SYNCNO: 377
IS SEC XMIT SWITCH ES5-2 ON?- YES SEXMIT: 377
1S SEC REC SWITCH E55=3 ON?= VYES SEREC: 377

IS OPT CLR ENABLE SWITCH E55-1 ON?= YES OPTCLR: 377
DO YOU HAVE THE EXTERNAL MODEM BYPASS JUMPER

CONNECTOR ON (H315)= VYES JMRBY: 377
9. PROGRAM DESCRIPTION
*
REM *
9.1 THIS PROGRAM PERFORMS THE OFFLINE RECEIVER SECTION TESTING
OF THE DEVICE
SEE LISTING FCR DETAILS -
«REM *

10. FLOW CHARTS: RECEIVER FLOW,TRANSMITTER FLOW,TRANSMITTER & RECEIVER FLOW

1. REVISION HISTORY
DZDURB1 WAS MODIFIED TO WORK IN SBC 11/21 PROCESSOR
PRIORITY 340 WAS CHANGED TO 300 WHEREVER ENCOUNTERED
DEFAULT CSR AND VECTOR ADDRESSES WERE CHANGED
+INIT CALL INCLUDED FOR INITIALIZATION
DIAGNOSTIC WAS RENAMED TO CNDURAO.

12. LISTINGS
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'CNDUR2.M11 30-0CT=82 12:16 SEQ 0011
|
6488
6585
6586
6587
6598
6612
6613
6614
6675
6676
6881
7009
79}9 .SBTTL APT COMMUNICATIONS ROUTINE
(2) X 2233222233333 3333232232333 232323 32323333333 333333331323332333323322323331]
¢i) 000000 112767 000001 000236 $ATY1: MOVB  #1,SFFLG ::TO REPORT FATAL ERROR
(1) 000006 112767 000001 000226 $ATY3: MOVB  #1,SMFLG ::T0 TYPE A MESSAGE
(1) 000014 000403 BR $ATYC
(1) 000016 112767 000001 000220 $ATY4: MOVB  #1,$FFLG ;:TO ONLY REPORT FATAL ERROR
(1) 000024 $ATYC:
(3) 000024 010046 MOV RO,=(SP) ;;PUSH RO ON STACK
(3) 000026 010146 MOV R1,=(SP) :PUSH R1 ON STACK
(1) 000030 105767 000206 TSTB  $MFLG ..suouuo TYPE A MESSAGE?
(1) 000036 001450 BEQ 54 :IF NOT: BR
(1) 000036 122767 000001 001502 CMPB  #APTENV,SENV ::opmnue UNDER APT?
(1) 000044 001031 BNE 3% :IF NOT: BR
(1) 000046 132767 000100 001473 BITB  #APTSPOOL,S$ENVM ::SHOULD SPOOL MESSAGES?
(1) 000054 001425 BEQ 3s S IF BR
(1) 000056 017600 000004 MOV 34 (SP) RO tGET nessncs ADDR.
(1) 000062 062766 000002 000004 ADD #2.4(SP) :BUMP RETURN ADDR.
(1) 000070 005767 001432 1$: ST $MSGTYPE ..ses 1F°DONE W/ LAST XMISSION?
(1) 000074 001375 sne 1% ::IF NOT: WAIT
(1) 000076 010067 001440 RO, SMSGAD
(1) wrmmxumumx
(1) 000102 105720 2s: 518 (RO)+ ::FIND END OF MESSAGE
(1) 000104 001376 BNE 28
(1) ooo1og 166700 001430 SUB $MSGAD ,RO ::SUB START OF MESSAGE
(1) 000112 006200 ASR RO +:GET MESSAGE LNGTH IN WORDS
(1) 000114 010067 001424 MOV RO,SMSGLGT +:PUT LENGTH IN MAILBOX
(1) 000120 012767 000004 001400 MOV #4.SMSGTYPE $STELL APT TO TAKE MSG.
(1) 000126 000413 BR 58
(1) 000130 017667 000004 000016 3$: MOV 34 (SP) .48 ::PUT MSG ADDR IN JSR LINKAGE
(1) 000136 062766 000002 000004 ADD c; 4(SP) "?9"’ RETURN ADDRESS
(3) 000144 016746 177626 MOV 177776,=(SP)  ;:PUSH 177776 ON STACK
(1) 000150 004767 012566 JSR PC,STYPE ::CALL TYPE MACRO
(1) 000154 000000 4$: WORD 0
(1) 000156 5%
(1) 000156 105767 000062 108: T1STB  S$FFLG ..SHOULD REPORT FATAL ERROR?
(1) 000162 001416 BEQ 12% :IF NOT: BR
(1) 000164 005767 001356 ST ssuv ..nunnxuc UNDER APT?
(1) ooo1rg 001413 BEQ 12% :IF NOT: BR
(1) 000172 005767 001330 118:  TST snssrvpe ..rxnxsuso LAST MESSAGE?
(1) 000176 001375 BNE 1% S IF WAIT
(1) 000200 8;7667 000004 001322 MOV a4csp> SFATAL t5GET enaon ¥
(1) 000206 062766 000002 000004 ADD (SP) :BUMP RETURN ADDR.
(1) 000214 005267 001306 INC SH§G!YPE ;s TELL APt TO TAKE ERROR
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CNDUR2.M11  30-0CT=82 12:16 APT COMMUNICATIONS ROUTINE SEQ 0012
(1) 000220 105067 00002 128:  CLRB  SFFLG ;;CLEAR FATAL FLAG
(1) 000224 105067 00001 CLRB  SLFLG :CLEAR LOG FLAG
(1) 000230 105067 000006 CLRB  SMFLG “SCLEAR MESSAGE FLAG
(3) 000234 012601 MOV (SP)+,R1 ::POP STACK INTO R1
(3) 000236 012600 MOV (SP)+.RO ..Pop STACK INTO RO
(1) 000240 000207 RTS PC RE TURN
(1) 00024 000 $SMFLG: .BYTE 0 ::MESSG. FLAG
(1) 00024 000 $LFLG: .BYTE 0
(1 -:L0G FLAG
(1) 000244 000 $FFLG: .BYTE O ;:FATAL FLAG
(1) 000246 .EVEN
(1 20 APTS12E=200
(1) 000001 APTENV=001
(1) 000100 APTSPOOL=100
(1) 000040 APTCSUP=040

7249 000001 $TN=1
7375
7379
7414
7431
7444
7456

B —————— e T
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CNDURA .M APT COMMUNICATIONS ROUTINE SEQ 0014
149 .ENABLE ABS
150

:DUV11 CNDUR-A_TAPE B
:COPYRIGHT 1982, DIGITAL EQUIPMENT CORP., MAYNARD, MASS. 01754

'3“"5"3 PROCEDURE
:PROGRAM WILL TYPE ‘DUVI1 CNDUR=A TAPE

:PROGRAM WILL ms "R* 70 INDICATE THAT rgsm«; HAS STARTED
:AT THE END OF A PASS, PROGRAM WILL TYPE "END OF PASS TAPE B8''
;AND THEN RESUME TESTING

.SBTTL BASIC DEFINITIONS

INITIAL ADDRESS OF THE STACK POINTER e+ 1100 wes
001100 STACK= 1100 »
.EQUIV EMT,ERROR ::BASIC DEFINITION OF ERROR CALL
.EQUIV 10T,SCOPE ::BASIC DEFINITION OF SCOPE CALL
; MISCELLANEOUS DEF INITIONS
000011 HT= 11 :CODE FOR HORIZONTAL TAB
000012 LPe 12 :1CODE FOR LINE FEED
000015 (R= :;CODE FOR CARRIAGE RETURN
000200 ERLF= 300 ::CODE_FOR CARRIAGE RETURN=LINE FEED
177776 PS= 177776 : ;PROCESSOR STATUS WORD
.EQUIV PS,PSW
127774 STKLMT= 177774 ::STACK LIMIT REGISTER
17777 BIRGe 177778 : ;PROGRAM INTERRUPT REQUEST REGISTER
17757 DSWR= 17757 : SHARDWARE SWITCH REGIST ER
177570 ODISP= 177570 HARDWARE DISPLAY REGIST
Yevevs THE FOLLOVING ODT START ADDRESS FOR SBC 11/21 IS ADDED
170000 TST= 170000
; SGENERAL PURPOSE REGISTER DEF INITIONS
000000 %0 : ;GENERAL REGISTER
0001 Rz o : ;GENERAL REGISTER
88000; Ree % : ;GENERAL REGISTER
= 3 : ;GENERAL REGISTER
Ré= % : ;GENERAL REGISTER
5 R5= x5 s sGENERAL REGISTER
Re= % : ;GENERAL REGISTER
00000 R7= 2 : $GENERAL REGISTER
000206 sP= X :STACK POINTER
00000 Pc= X : ;PROGRAM COUNTER

-tSRIORlBY LEVEL DEFINITIONS

Nl N N N N N N b N T P P T P P b P P N N P b P P b P P b P D P b P b P b b P -

|
é
:
|
|
|
:
i

IR, TN, N, N, N, 0, N, 0, 0, 0, P, 0, 0, 0, 0, 0, 0, 0, 0, 0, 00, 0, 0, 0, 00, T, 0, 0, 8, P, 0, 0, 0, 0, 0, 0, 0, 0, 50, P, 0, N 0, 0, 0, 0 0 N, 0 0 0, P P

000000 :sPRIORITY LEVEL 0

0 PR1= 40 s;PRIORITY LEVEL 1

100 PR2= 108 ssPRIORITY LEVEL i
140 PR3= 14 ssPRIORITY LEVEL

888200 PRé= 00 :;PRIORITY LEVEL 4

gao PR5= 4 ssPRIORITY LEVEL 5

000 PR6= 0 s sPRIORITY LEVEL 9
00034 PR/= ssPRIORITY LEVEL

H DEFINITIONS

:#"'SWITCH REGISTER" SWITC
§u{§= 100580 .

—— . S———— )
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BASIC DEFINITIONS

1046)
CT-82 16:31

2396

CNDUR=A MACY11

CNDURA.M11

;s TIME OUT AND OTHER ERRORS

*DATA BIT DEFINITIONS (BITOO TO BIT15)

s*BASIC °*'CPU’" TRAP VECTOR ADDRESSES
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sasseeeens
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CNDUR=A MACY11 30(1046) 14=DEC=82 09:58 PAGE 61-2
CNDURA.M11  29-0CT=82 16:31 BASIC DEFINITIONS SEQ 0016
(2) 000010 RESVEC= 10 ..nesenveo AND ILLEGAL INSTRUCTIONS
(2) 000014 TBITVEC=14 LT BIT
(2) 000014 TRTVEC= 14 ‘L TRACE TRAP
(2) oooo14 BPTVEC= 14 : :BREAKPOINT TRAP (BPT)
(2) So 10TVEC= 20 ..INPUTIOUTPUT TRAP (I0T) %#SCOPE++
(2) oooo PWRVEC= 24 FAIL
(2) EMTVEC= 30 s HULATOR TRAP (EMT) %+ERROR++
(2) 000034 TRAPVEC= :"TRAP'' TRAP
(2) 000060 . TKVEC= 60 ::TTY KEYBOARD VECTOR
(2) 000064 TPVEC= 64 STTY PRINTER VECTOR
(? jenven memuwmsmﬁxwumAMLmEumxwamnmxmwuo
(2) 000100 LKVEC= 100 ;:LINE CLOCK VECTOR
(2) 000140 BRKVEC= 140 : sBREAK VECTOR
(2) 000240 PIRQVE (=240 : PROGRAM INTERRUPT REQUEST VECTOR

— ———— . — ———— e, s - - - - e
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CNDUR=A MACY11_30(1046) 14=DEC-82 09:58 PAGE 61-3
CNDURA.M11 29-0CT-82 16:31 BASIC DEFINITIONS SEQ 0017

sSTANDARD INTERRUPT VECTORS

000174 =174

000174 000000 DISPREG:0

000176 000000 SWREG:0
000200 .=200

000200 000167 001746 JMP +START ;GO TO START OF PROGRAM
001100 .=1100

001100 000000 +WORD 0

001102 177570 LIGHTS:177570

:PROGRAM CONTROL PARAMETERS

001104 000000 RETURN: 0
001106 000000 NEXT: O ADDRESS OF NEXT TEST TO BE EXECUTED
001110 000000 LOCK: O DRESS FOR LOCK ON CURRENT DATA
001112 000000 PASCNT : 8 ; ADDRESS" commmc PASS COUNT
001114 000000 ERRCNT : ROR COUNT
001116 000000 SAVSP: 0 :STACK PbINTER STORAGE
;:PROGRAM VARIABLES
001120 000020 HOLD: so : TEMPORARY STORAGE=DELAY TIME FOR CABLES
001122 SHIFT: *TEMPORARY STORAGE= # OF SHIFTS PER CHAR
001124 000000 COUNT : :TEMPORARY STORAGE= # OF TIMES A CHAR WILL BE SENT
oongg 000000 SAVPC : ;PROGRAM COUNTER STORAGE
001130 000000 HLDO:
001132 000000 HLD1:
00113¢ 000000 HLD2:
001136 000000 HLD3: O
001140 000000 HLD4 :
001142 000000 HLDS:
001144 000000 HLD6:

e el el L L L T T T L e la e lelelalaleloleoleolelele
LSS NTRTNTNT NTRT NS NN NN T TN NN N N LN N TN LS TS DS LS LS LN LS LS TN L8 LS S s L Y
" N N o o o N e o o o o o o o o o o N o o N N o N Nt N N o N N N N N o T N T
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CNDURA.M11 29-0CT-82 16:31 BASIC DEFINITIONS SEQ@ 0018

(2) :PROGRAM onvsasnrxonnL PARAME TERS

(2) 001149 77 SYNCNO: .BYTE 7 # OF SYNC CHARS nso D FOR SYNC'ZATION
(2) 00114 77 SEXMIT: .BYTE 377 $SEC XMIT JUMPER °

(2) 001150 77 SEREC: .BYTE 377 :SEC REC JUMPER "lN"

(2) 001151 77 OPTCLR: .BYTE 377 :OPTIONAL JUMPER CLR "'IN''

(2) oo11s§ goo MULTD: .BYTE g :NO MULTIPLE DEVICE FLAG

22; 00115 7 Jgeg;: .BYTE 377 :EXTERNAL MODEM BYPASS JUMPER ''IN'*
(2)

(2) ;PROGRAM MULTIPLE DEVICE PARAMETERS

(s) 001154 000000 BASEADD : 0 ;PROG CONTROLLED 1ST oevxce ADDR

(2) 001156 000000 KEEPADD : 0 :SAVED 1ST DEVICE ADDR

(5» 001160 000000 LASTADD : 0 :LAST DEVICE RXCSR ADDR

(2) 001162 000000 BASEIV: 0 :PROG CONTROLLED IV

(2) 001164 000000 KEEPIV: 0 :SAVED INTR VECTOR

(2) 001166 000000 ACTREG: 0 :ACTIVE REGISTER ,,,MODIFY THIS

(2) :LOCATION TO DISQUALIFY OR QUALIFY
(2) -osvxces (1= RUN,,,0= DON'T RUN)

(2) 001170 000000 ROTADD : 0 ROTATING POINTER FOR ACTREG..POINTS
23; ;70 DEVICE PRESENTLY UNDER TEST WHEN RUNNING MULTIPLE DEVICES
8; :PROGRAM CONTROL FLAGS

(2) 00117§ 000 INIFLG: .BYTE 0 ;PROGRAM INITIALIZATION FLAG
(2) 00117 000 STFLG: .BYTE O STEST START FLAG

(2) 001174 000 LOKFLG: .BYTE 0 :LOCK ON CURRENT TEST FLAG
(2) 001176 .EVEN

(1 001400 21400

(2)

(2)
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16:31

BASIC DEFINITIONS

s INSTRUCTION DEFINITIONS

PUSH1SP=5746 sDECREMENT PROCESSOR STACK 1 WORD =TST =(SP)

POP1SP=5726 : INCREMENT PROCESSOR STACK 1 WORD =TST (SP)+
PUSHRO=10046 ;SAVE RO ON STACK =MOV RO,=(SP)
POPRO=126 ;RESTORE RO FROM STACK =MOV (SP)+,RO

PUSH2$P=24S4 :DECREMENT STACK TWICE =CMP =(SP),=-(SP)
: INCREMENT STACK TWICE =CMP (SP)+,(SP)+

POP2SP=22
;REGISTER osrxnxfxons
-RXCSR BIT osrtuxtxons

DSC=BIT15 A SET CHANGE
RING=BIT14 xuc
CTS=BIT13 “CLR TO SEND
CARDET=BIT12 :CARRIER DETECT
RECACT=BITI1 SREC ACTIVE
SRD=BIT10 :SEC REC DATA
DSR=BIT9 :DATA SET RDY
STPSYN=BITS SSTRIP SYNC
RXDONE=BIT7 :REC DONE
RINTEN=BIT SREC INTR ENABLE
DSINTE=BIT :DSC INTR ENABLE
SYNSCH=BIT4 :SYNC SEARCH
STD=BIT :SEC XMIT DATA
RTS=BIT2 :REQ TO SEND
DTR=BIT1 :DATA TERM RDY
VOID=BITO
RXDBUF BIT DEFINITIONS
RXERR=BIT15 :REC ER
OVRRUN=BIT14 *OVERRUN
FRMERR=BIT13 :FRAME ERROR
PARER=BIT12 *PARITY ERROR
:PARCSR BIT osrxuxrnous
PAREN=B]T9 ARITY ENABLE
EVPAR=BIT8 vsu panxrv SENSE
-PARCSR WRD oernﬁxrl
SYNINT=30000 :SYNC EXTERNAL MODE
svuextssoooo :SYNC INTERNAL MODE
1SYMOD= :1SOC MODE
FIVE=0 *WORD LENGTH S BITS
$1X=2000 *WORD LENGTH 6 BITS
SEVEN=4000 :WORD LENGTH 7 BITS
EIGHT=6000 :WORD LENGTH 8 BITS
NOPAR=0 *NO PARITY
0DDPAR=1000 -ooo mm
EVEPAR=1400 N PARITY
-TXCSR BIT oertuitxon
DNA=BIT15 DATA NOT AVAILABLE
MTDATA=BIT14 SMAINT DATA
CLK=BIT1 :CLK
BITW=BIT10 ‘BIT WINDOW
MRESET=BIT SMASTER RESET
TXDONE=BIT SXMIT DONE

TXINTE=BIT6 :XMIT INTR ENABLE

SEQ 0019
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CNDURA.M11  29-0CT-82 BASIC DEFINITIONS SEQ 0020
(g) 000040 DNAINTEzalTS ;DONA INTR ENAB :
(2) 000020 SEND=BI T4 +SEND
(2) 000010 HDXEN=BIT3 uox/rox
(2) 000001 BREAK'BITO
(2) ;TXCSk WRD oer:utrlons
(2) 000000 USER=0 ;USER MODE
(2) 004000 MINT=4000 sMAINT INT MODE
gg; 010000 MEXT=10000 SMAINT EXT MODE

014000 SYSTST=14000 ;SYSTEM TEST MODE
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16:31 COMMON TAGS

.SBTTL COMMON TAGS

-4 ARARRAARNARRAAARNTRAC RN RN AR NARAAANIANAAARAAAAAAAACAEAOAAAAAAOSS

s*THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
:*USED IN THE PROGRAM.

SCMTAG:

STSTNM:

$SERFLG:
$ICNT:
$SLPADR:
SLPERR:
$SERTTL:
S$ITEMB:
SERMAX: .BYTE
$SERRPC: .

$SAUTOB:
$INTAG:

SWR:

DISPLAY: .WORD
$TKS:
$TKB:
$TPS:
$TPB:
$NULL:
SFILLS:

SFILLC: .BYTE

S$TPFLG:
SREGAD: .WORD

000377 SBELL:
“ .

egOOOOOOOOOO-DOOOOOOOO

WR
DISP

: CONTAINS # OF

OO0 O0O0O0O0O0O0O000O OO=-NO

C07><3TT><II ;
/?/

:;START OF COMMON TAGS

:;CONTAINS THE TEST NUMBER

s sCONTAINS ERROR FLAG

s sCONTAINS SUBTEST ITERATION COUNT
s sCONTAINS SCOPE LOOP ADDRESS

s ;CONTAINS SCOPE RETURN FOR ERRORS
s sCONTAINS TOTAL ERRORS DETECTED

s sCONTAINS ITEM CONTROL BYTE

s sCONTAINS MAX. ERRORS PER TEST

s ;CONTAINS PC OF LAST ERROR INSTRUCTION
s sCONTAINS ADDRESS OF 'GOOD® DATA
s sCONTAINS ADDRESS OF °BAD' DATA

s sCONTAINS *'GOOD* DATA

s sCONTAINS °BAD' DATA

s sRESERVED=-=NOT TO BE USED

ssAUTOMATIC MODE INDICATOR
s s INTERRUPT MODE INDICATOR

s sADDRESS OF SWITCH REGISTER

s sADDRESS OF DISPLAY REGISTER

s:TTY KBD STATUS

::TTY KBD BUFFER

s;TTY PRINTER STATUS REG. ADDRESS
ssTTY PRINTER BUFFER REG. ADDRESS

s sCONTAINS NULL CHARACTER FOR FILLS

FILLER CHARACTERS REQUIRED
;s INSERT FILL CHARS. AFTER A ‘LINE_FEED"
:2"'TERMINAL AVAILABLE'®' FLAG (BIT<07>=0=YES)
22CONTAINS THE ADDRESS FROM
::WHICH (SREGO) WAS OBTAINED
:2CONTAINS ((SREGAD)+0)
::CONTAINS ((SREGAD)+2)
J:CONTAINS ((SREGAD)+4)
32CONTAINS g: GAD) +6)
((

GAD)+10)
GAD)+12)

AARARA
RRR

E

ITERATIONS
OR ADDRESS

.
m>D
~» 00099

R
L
K

SEQ 0021
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CNDURA.M11  29-0CT-82 16:31 COMMON SEQ 0022
(2) 001523 015 SCRLF: .ASCII <15> : s CARRIAGE RETURN
(2) 001524 000012 SLF:  .ASCIZ <12 :LINE FEED
(3) ttttttittttttttttQt'tit'ttttttt.tttt.tttttttt'tt't."'tttt'tt"
g; ‘S8TTL APT MAILBOX=-ETABLE
(l.) tttﬁttttttt.ttt.Qt.tt""'tii'itti'ttt.tttt.ttttt'..t..it.QQQQQ!
(3) VEN
(3) 001526 SMAIL : :sAPT MAILBOX
(3) 001553 000000 SMSGTY: .WORD AMSGTY ::MESSAGE TYPE CODE
(3) 001530 000000 SFATAL: .WORD AFATAL ::FATAL ERROR NUMBER
(3) 001532 000000 $STESTN: .WORD ATESTN ::TEST NUMBER
(3) 001534 000000 $PASS: .WORD APASS ::PASS COUNT
(3) 001536 000000 $DEVCT: .WORD ADEVCT ::;DEVICE COUNT
(3) 001540 000000 SUNIT: .WORD AUNIT ::1/0 UNIT NUMBER
(3) 001542 000000 $SMSGAD: .WORD AMSGAD ::MESSAGE ADDRESS
(3) 001544 000000 $MSGLG: .WORD AMSGLG ::MESSAGE LENGTH
(3) 001546 SETABLE: : sAPT ENVIRONMENT TABLE
(3) 001546 000 SENV: .BYTE AENV  ::ENVIRONMENT BYTE
(3) 001547 000 SENVM: .BYTE _AENVM
(3) :ENVIRONMENT MODE BITS
(3) oo1gso 000000 $§SUREG: .WORD ASWREG ::APT SWITCH REGISTER
(3) 001552 000000 SUSWR:  .WORD  AUSWR  :;USER SWITCHES
(3) 00155¢ 000000 $CPUOP: .WORD ACPUOP ::CPU TYPE,OPTIONS
(3 it BITS 15-11=CPU TYPE
(3) I 11/04=01, 11/os-oz 11/20=03,11/40=04,11/45=05
(3) : 11/70=06.PDQ=07,0=10
(3) e BIT 10=REAL TIME CLOCK
(3 1 BIT gan.omnc POINT PROCESSOR
(3) e BIT 8=MEMORY MANAGEMENT
(3) 00155 000 $MAMS1: .BYTE  AMAMS1 :;HIGH ADDRESS.M.S. BYTE
(3) 00155 000 SMTYP1: .BYTE AMTYP1 ::MEM. TYPE,BLK#
(3 o HEM.TYPE BYTE == (HIGH BYTE)
(3) e 900 NSEC CORE=001
3 e 00 NSEC BIPOLAR=002
3 e 00 NSEC nos=
(3) 001560 000000 $MADR1: .WORD  AMADR1 ;;H1GA ADDRESS,BL v gL
(3) ™ MEM.LAST mﬁ =3 anes THIS WORD AND LOW OF *‘TYPE'* ABOVE
(3) 0015 000 $MAMS2: .BYTE AMAMS2 ;:HIGH ADDRESS.M.S. BYTE
(3) 00156 000 SMTYP2: .BYTE AMTYPZ ::MEM.TYPE,BLK#2
(3) 001564 000000 $SMADR2: .WORD  AMADR ;m LAST Aooatss.amz
(3) 0015 000 SMAMS3: .BYTE  AMAMS3 ::WIGH Aooaess.n.s.ev
(3) 00156 000 SNTYP3: [BYTE  AMTYPS :IMEM.TYPE,BLK#3
(3) 001570 000000 SMADR3: .WORD AMADRS ;:MEM.LAST ADDRESS,BLK#3
(3) 001572 000 SMAMSL: .BYTE  AMAMS4 ;;nmu ADDRESS .M. S.BYTE
(3) 001573 000 SMTYP4: .BYTE AMTYP4 ::MEM.TYPE,BLK#
(3) 001574 000000 R4: .WORD AMADRG ::MEM.LAST ADDRESS,BLK#4
(g) 001576 000000 SVECT1: .WORD AVECT1 .:luteanm VECTOR#1,BUS PRIORITY#
(3) 001 000000 SVECT2: .WORD AVECT2 ::INTERRUPT VECTOR#28US PRIORITY#2
(3) 001 000000 $BASE: .WORD ABASE
(3 : ;BASE ADDRESS OF EQUIPMENT UNDER TEST
(3) 001604 8866”83 SDEVM: .WORD ADEVM ;:DEVICE MAP
(3) 001 $CDW1: .WORD ACDW1 ::CONTROLLER DESCRIPTION WORD#1
(g) 00161 m scogs: JWORD ACDW2 ::CONTROLLER DESCRIPTION WORD#2
(3) 00161 $DDWO: .WORD  ADD $:DEVICE DESCRIPTOR WORD#C
(g) 001614 838883 $ODW1: .WORD ADDW1  ;;DEVICE DESCRIPTOR WORD#1
(3) 001616 $ODW2: .WORD ADDW2  ;:DEVICE DESCRIPTOR WORD#2
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CNDURA . M11 29-0CT-82 16:31 APT MAILBOX-ETABLE SEQ 0023
(3) 001250 000000 $ODW3: .WORD ADDW3  ;;DEVICE DESCRIPTOR WORD#3
(3) 001622 000000 $DDW4: .WORD ADDW4  ;;DEVICE DESCRIPTOR WORD#4
(3) 001624 000000 $ODW5: .WORD ADDW5S  ;;DEVICE DESCRIPTOR WORDAS
(3) 001626 000000 $DDW6: .WORD ADDW6  ;:;DEVICE DESCRIPTOR WORD#
(3) 001630 000000 $ODW7: .WORD ADDW?  ;;DEVICE DESCRIPTOR WORD#
(3) 001632 000000 $ODW8: .WORD ADDW8  ;;DEVICE DESCRIPTOR WORDA8
(3) 001634 000000 $DDW9: .WORD ADDWY  ;:DEVICE DESCRIPTOR WORD#9
(3) 001636 000000 $ODW10: .WORD  ADDW10 ;:;DEVICE DESCRIPTOR WORD#10
(3) 001640 000000 $ODW11: .WORD ADDW11 ;:DEVICE DESCRIPTOR WORD#11
(3) 001642 000000 $ODW12: .WORD ADDW12 ;;DEVICE DESCRIPTOR WORD#1
(3) 001644 000000 $DDW13: .WORD ADDW13 ;:;DEVICE DESCRIPTOR WORD#1
(3) 001646 000000 $ODW14: .WORD ADDW14 ;;DEVICE DESCRIPTOR WORD#14
f%; 001650 000000 $DDW15: .WORD ADDW15 ;;DEVICE DESCRIPTOR WORD#15
(3)

(3) 001652 SETEND:
(3)
(4)
(CY)
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005746

024646
022626

100000
040000
020000
010000
004000
002000
001000
000400
000200
000100
00004

000020
000010
000004
000002
000001

o

100000
040000
020000
010000

001000
000400

020000

-

2000
004000

=

1
1

o

5

g8
888
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APT MAILBOX=-ETABLE

s INSTRUCTION DEFINITIONS
PUSH1SP=5746 sDECREMENT PROCESSOR STACK 1 WORD =TST =(SP)
POP1SP=5726 : INCREMENT PROCESSOR STACK 1 HORD =TST (SP)+

PUSHR0=10046 :SAVE RO ON STACK =MOV RO,=(SP)

POPRQ=
PUSHZ2S

12600 :RESTORE RO FROM STACK =MOV (SP)# RO
P= 6 ;DECREMENT STACK TWICE =CMP =(SP),=(SP)

POP2SP=2 632 : INCREMENT STACK TWICE =CMP (SP)+,(SP)+

:REGISTER DEFINITIONS

:RXCSR BIT DEFINITIONS
psc=8IT15 ;DATA SET CHANGE
RING=BIT14 :RING
CTS=BIT13 :CLR TO SEND
CARDET=BIT12 :CARRIER DETECT
RECACT=BIT11 :REC ACTIVE
SRD=BIT10 :SEC REC DATA
DSR=BIT9 :DATA SET RDY
STPSYN=BIT8 SSTRIP SYNC
RXDONE=BIT7 +REC DONE
RINTEN=BIT :REC INTR ENABLE
DSINTE=BIT :DSC INTR ENABLE
SYNSCH=BIT4 :SYNC SEARCH
STD=BIT :SEC XMIT DATA
RTS=BIT2 :REQ TO SEND
DTR=BIT1 :DATA TERM RDY
VOID=BITO

:RXDBUF BIT DEFINITIONS
RXERR=BI 15 :REC ERROR
OVRRUN=BIT14 :OVERRUN
FRMERR=B]T13 FRAHE ERROR
PARER=BIT12 RITY ERROR

PARCSR BIT oernﬁlrtous

PAREN=B179 ;PARITY ENABLE
EVPAR=BI TS :EVEN PARITY SENSE

-PARCSR WRD osrxuxtxous
SYNINT=30000 SYNC EXTERNAL MODE
svnextssoooo -svuc INTERNAL MODE
1SYMOD= :1S0C MODE
FIVE=0 :WORD LENGTH S BITS
SIX=2000 :WORD LENGTH 6 BITS
SEVEN=4000 SWORD LENGTH 7 BITS
EIGHT=8000 :WORD LENGTH 8 BITS
NOPAR= *NO PARITY
0DDPAR=1000 ooo PARITY
EVEPAR=1400 ranxrv

-TXCSR BIT oernnirz

11§ :DATA not AVAILABLE
HTDATA=?£716 SMAINT DATA
LK=BIT :
BITW=BIT10 :BIT WINDOW
MRESET=BIT m\sm RESET
TXDONE=B1 T SXMIT DONE
TXINTE=BITé SXMIT INTR ENABLE

SEQ 0024
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APT MAILBOX=-ETABLE

DNAINTE=BITS
SEND=BIT4
HDXEN=BIT3
BREAK=BITO
sTXCSk WRD DEFIN
USER=0

MINT=4000
MEXT=10000
SYSTST=14000

:DNA INTR ENAB
: SEND

*HDX/FDX

*BREAK

ITIONS

;USER MODE
:MAINT INT MODE

sMAINT EXT MODE
sSYSTEM TEST MODE

SEQ 0025
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CNDURA.M1T  29-0CT-82 16:31 ERROR POINTER TABLE SEQ 0026
{%} .SBTTL ERROR POINTER TABLE
(2) ;*THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.
() ;*THE INFORMATION IS OBTAINED BY USING THE INDEX NUMBER FOUND IN
(2) s«LOCATION $ITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT. .
(2) s *NOTE1: IF SITEMB IS O THE ONLY PERTINENT DATA IS (SERRPC).
gg; :*NOTE2: EACH ITEM IN THE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS: |
(2) T M ::POINTS TO THE ERROR MESSAGE ;
) e DH ::POINTS TO THE DATA HEADER i
(2) I DT :;POINTS TO THE DATA \
553 v DF ::POINTS TO THE DATA FORMAT |
(2) ;
(2) 001652 $ERRTB: :
%)) ;ERROR TABLE |
(1) 001652 001762 EM1 ;ERROR 1 REGISTER ERROR l
(1) 001654 002067 DH1 |
(1) 001656 002116 DT1 |
(1) 001660 002132 DF 1 |
(1) 001662 002022 EM2 ;ERROR 2 RECEIVER ERROR ,
(1) 001664 002067 DH1 |
(1) 001666 002116 DT1 '
(1) 001670 002132 DF 1
(1) 001672 002043 EM3 :ERROR 3 TRANSMITTER ERROR
(1) 001674 002067 DH1
(1) 001676 00211 DT1 |
(1) 001700 00213 DF 1 ;
(1) 001702 001746 EMé :ERROR & BIT ERROR (GENERAL) .
(1) 001704 000000 0 |
(1) 001706 002126 DT4
g}; 001710 002132 DF 1
(1) :DEFAULT DU ADDRESSES |
(1) 001712 174300 RXCSR: 174300 -
(1) 001714 174301 HRXCSR: 174301 |
(1) 001716 174302 RXDBUF : 174302 ;
(1) 001720 174303 HRXDBUF : 174303 |
(1) 001722 174302 PARCSR: 174302 |
(1) 001724 174303 HPARCSR: 174303 .
(1) 001726 174304 TXCSR: 174304 |
(1) 001730 174305 HTXCSR: 174305 |
(1) 001732 174306 TXDBUF : 174306
(1) 001734 174307 HTXDBUF : 174307
(1) -g FAULT DU VECTORS
(1) 001736 000330 DURIV: :REC INTR VECTOR
(1) 001740 000332 DURIS: 332 *REC INTR STATUS
(1) 001742 000334 DUTIV: g¢ SXMIT INTR VECTOR
(1) 001744 000336 DUTIS é *XMIT INTR STATUS
(1) :ERROR MESSAGES
(1) 001746 050043 051105 047522 EM4:  .ASCIZ / ERROR PC /
(1) 001754 02012 041529 00004g
(1) 001762 020040 047503 050115 EM1:  .ASCIZ / COMPARISON ERROR ON REGISTERS/
(1) 001770 051101 051511 047117
(1) 001776 042440 051122 051117
(1) 002004 047440 020116 042522
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CNDURA. M1 23~0CT-82 16:31

(1) 00201 45g§ 052123 051105
g}; 88 8 ! 0 25 503
1} ER e s g
(1) 88 0 51128 5111 0
(1) 04 26 5224 35
(1) 002050 051 12 451 52124
(1) 002056 05110 24640 051122
E}; 002064 051117 000

(1) 002067 105 05112; 041520
(1) 002074 020040 040527 052116
(1) 00510 045105 020040 041501
(1) 00211 052524 046101 000
%}; 002116

(1) 002116 001416 001130 001132
g}; 002124 000000

2}; 002126 001416 000000

(1) 00213 000 000 000
(1) 00213 000

1)

(2)

2)

(3)

(2)

(2) 002136

(2) 000046

2 ; 000046 12523

(2) 000052

8 goo0cd

(2)

&

(g)

(2) 2136

(2) 4

(2) 000024

(2) 4

(2) 000044 136

(;) 002136

(3

(2)

(2)

IS P

(2) 88 1

(2) 14 1

(2) 14 1

(2) 144 1

(2) 1‘8

(2) 15

:58 PAGE 61-13

ERROR POINTER TABLE

EM2: +ASCIZ / RECEIVER ERROR/

EM3: +ASCIZ / TRANSMITTER ERROR/

sDATA HEADERS FOR ERROR MESSAGES
DH1: +ASCIZ /ERRPC WANTED ACTUAL/

.EVEN
;DATA TABLES FOR ERROR MESSAGES
DT1: .WORD  SERRPC,HLDO,HLD1,0

DTé: +WORD  SERRPC,0

DF1: .BYTE 0,0,0,0

.EVEN
+SBTTL ACT11 HOOKS

JittntttntRARttRRARRRRRRCRRRRRRCORRRAAARNAAARAACARRAACCRACCCROARNCNS

;HOOKS REQUIRED BY ACT11
$SVP(=,

A :SAVE PC
=
QEggAD :31)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP
o=
WORD 0 ::2)SET LOC.52 TO ZERO
+=$SVPC s RESTORE PC
.SBTTL APT PARAMETER BLOCK

sttt ARARARARRRRNERARERARERAAAARAANAAANARARAANARARAACAOARCAGES

*SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
::'tt't!ltttttQtt.'Qt'ttQt'ttttttttt.tt.ﬁ'.tttﬁQt..t'tti.tt"it'.

$X=, ::SAVE CURRENT LOCATION

58‘ $3SET POWER FAIL TO POINT TO START OF PROGRAM

2 $3FOR APT START UP

=44  ::POINT TO APT INDIRECT ADDRESS PNTR.

$APTHDR ;:POINT TO APT HEADER BLOCK

.=.8X ::RESET LOCATION COUNTER
:'QQ'Q.Q'Q!Qtt.t'."".".*""..t.Q..'.t...titt..tt..'.i'.tttt"
:§§;g:”m g\g@mn BLOCK AS DEFINED IN THE APT=-PDP11 DIAGNOSTIC

SAPTHD :
$HIBTS:

.WORD 2. ::TW0 HWIGH BITS OF 18 BIT mu.nsg ADDR.
$MBADR: .WORD AIL  ::ADDRESS OF APT MAILBOX (BITS 0-15)
$TSTM: .WORD 1 SRUN TIM OF LONGES TE?T
$SPASTM: .WORD 1 ::RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT
SUNITM: .WORD --aoosuom RUN TIME (SECS) OF A PASS FOR
JWORD SETEND-SMAIL/2 :;LENGTH MAILBOX<E TABLE (WORDS)

PR R—

SEQ 0027
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CNDURA.M11 23—0(:1-82 16:31 APT PARAMETER BLOCK SEQ 0028

el
-

i

(2)

(2) :PROGRAM INITIALIZATION

(2) :LOCK OUT INTERRUPTS

(2) sSET UP PROCESSOR STACK

(2) :SET UP POWER FAIL VECTOR

(2) :CLEAR PROGRAM CONTROL FLAGS AND COUNTS

g ; :TYPE TITLE MESSAGE

(2) 002152 .START:

(3) .SBTTL INITIALIZE THE COMMON TAGS

(3) :3CLEAR THE COMMON TAGS (SCMTAG) AREA

(3) 002152 012706 001400 MOV #SCMTAG,R6 ;:FIRST LOCATION TO BE CLEARED
(3) 002156 005026 CLR (R6) ¢ : :CLEAR MEMORY LOCATION

(3) 83 160 022706 001440 CMP #SWUR,R6 ; :DONE?

(g) 164 001374 BNE . .6 ::LO0P BACK IF NO

(3) 002166 012706 001100 MOV #NSTACK, SP ;:SETUP THE STACK POINTER
(3) ;sINITIALIZE A FEW VECTORS

(3) 002172 012737 016170 00002 MOV #$SCOPE acxorvsc ::10T VECTOR FOR SCOPE ROUTINE
(3) 002200 013737 000300 oooog MOV #PR6, I TOTVEC+2 ;:LEVEL 6

(3) 002206 O1 7;7 014060 0000 MOV #SERROR,a#EMTVEC' : ;EMT VECTOR FOR ERROR ROUTINE
:g; 002214 012737 000300 32 =" #PR6,SFENTVEC+2 ;::LEVEL 6

(3) 002222 012737 016558 000034 MOV #STRAP,3#TRAPVEC ;:TRAP VECTOR FOR TRAP CALLS

(3) 002230 012737 300 000036 MOV #PR6,aFTRAPVEC+2;: LEVEL 6

(3) 002236 012737 014662 000024 MOV #SPURDN, a#PWRVEC ; ;POWER FAILURE VECTOR

(3) 002244 012737 000300 000026 MOV #PR6,3#PURVEC+2 ;:LEVEL 6

¢? %g %sr nsy CLR TIMES :SINITIALIZE NUMBER OF ITERATIONS
(3) 5067 177232 CLR SCAPE $3CLEAR THE ESCAPE ON ERROR ADDRESS
(3) 002262 112767 177125 MOV  #1,SERMAX :SALLOW ONE ERROR PER TEST

(3) 002270 012767 002270 177110 MOV #..SLPADR ;SINITIALIZE THE LOOP ADDRESS FOR SCOPE
(3) 002276 012767 002276 177104 MOV #..SLPERR ::SETUP THE ERROR LOOP ADDRESS
(4) ::S1ZE FOR A HARDWARE SWITCH REGISTER. IF NOT FOUND OR IT IS

4) S:EQUAL TO A ‘=1, SETUP FOR A SOFTWARE SWITCH REGISTER.

(4) 002304 01374 MOV S#ERRVEC,~(SP) ;:SAVE ERROR VECTOR

(4) 002310 01273 oo; 4 ogooo& MOV #64S,9FERRVEC  ::SET UP ERROR VECTOR

(4) 5 16 81 767 1775720 177114 MOV #DSWR, SWR $3SETUP FOR A HARDWARE SWICH REGISTER
%) wsy 12767 177570 177110 MOV #DDISP,DISPLAY ::AND A HARDWARE DISPLAY REGISTER
(4) 0023 5 022777 177777 177100 CMP #-1,3SWR $3TRY TO REFERENCE HARDWARE SWR
(4) 002340 001012 BNE 608 :3BRANCH IF NO TIMEOUT TRAP OCCURRED
%) $3AND THE HARDWARE SWR IS NOT = =1
(4) 002342 03 BR 65% $SBRANCH IF NO TIMEOUT

g:; 005333 1 71; 002352 64$: R?Y #65$, (SP) $3SET UP FOR TRAP RETURN

(4) 2;25 1276 172 177020 658: MOV #SWREG, SWR ;:;POINT TO SOFTWARE SWR

%) 002 12767 174 177054 MOV #DISPREG,DISPLAY

f%} 012637 668: MOV (SP)+,3#ERRVEC ;;RESTORE ERROR VECTOR

(4) 002372 ggsoer 177138 CLR $PASS ::CLEAR PASS COUNT

%) 376 2737 000200 177143 BITB  WAPTSIZE,SENVM ;;TEST USER SIZE UNDER APT

%) 404 3014 ; BEQ 67% $SYES,USE NON=APT SWITCH

52; 2g2 12767 001550 177024 o MOV #$SWREG, SWR ::NO,USE APT SWITCH REGISTER

(2) 414 912709 1 MOV c;racx.so :SET STACK

(2) 4 034§ 3 MTPS  #300 $LOCK INTERRUPTS

(2) 424 012737 014 000024 MOV #.PFAIL, 3024 SSET UP POWER FAIL VECTOR
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CNDURA . M11 zg-oct-gz 16:31 INITIALIZE THE COMMON TAGS SEQ 0029

(2) 432 105067 176535 CLRB  STFLG :CLEAR START FLAG

(2) %%:. 005067 176422 CLR PASCNT :CLEAR PASS COUNT

(2) 002442 105067 1767 CLRB  SERFLG :CLEAR ERROR FLAG

(2) 00244 5067 176740 CLR SERTTL :CLEAR ERROR COUNT

(2) 00245 5067 176740 CLR $ZRRPC :CLEAR LAST ERROR POINTER

(2) 456 012767 880021 mmg MOV #1,8TSTNM $SET UP FOR TEST 1

(2) 464 012767 002152 17641 MOV #.START,RETURN *SET UP FOR POWER FAIL BEFORE

2) :TESTING STARTS

D gm e e o e

(2) oozsog 12739 2516 000004 MOV S0

D e ey o .

(2) 002516 012767 000176 176714 1$: MOV #SWREG, SWR

(2) 002524 012767 000174 176710 MOV #DISPREG,DISPLAY

(2) 002532 02 69 CMP (SP)+,(SP)+

(2) 00253¢ 012637 000004 28: MOV (SP)+. a8

(2) 002540 O1 9 7 000006 MOV (SP)+ a6

“ %zggg 21 6; 000176 176666 S‘.E ;guneé.sm

8; oozss‘ 83?2%7 000042 ;g ggl‘z ;CHECK FOR CHAIN

(2) 0025 88‘016; 52 JMP .BEGIN

(2) 0025 767 010054 gss: JSR PC,CNTLU

2 ; 88%276 38%31 176374 $: It"s‘ga {,,'j%{'-“ ;HAS INITIALIZATION BEEN PERFORMED

(2) 002 104401 01502 TYPE MTITLE :TYPE TITLE MESSAGE

(2) 52?‘ 18;167 ng coM8 NIFLG “IF NOT SET FLAG AND DO

(2) 0 105767 17 ONCE: TSTB ENV ;APT CONTROL?

(2) 002614 mg BEQ 1% :BR IF NO

(2) 00261 53 000001 176726 BIT #1,SUSWR ;EXTENAL JUMPER ON?

(2) 1 ; BNE 12$ :NO

(2) 5 10506 1763;1 CLRB  JMRBY :CLEAR FLAG

(2) 0026 o%n% 2 128: JNP .BEGIN :G0 DO IT

{ ; 8826 8017 1 176574 118: g'x‘g gg ,@SWR *RESELECT VECTOR & CONTROL REG?

(2) 002646 ?2; 333 JMP .BEGIN

(2) 002652 0127 18: MOV #300,R0 ;RESTORE VECTOR AREA TO TRAPCATCHER

g ; 6 } ;o 1 302 333 :‘ .én SSTART AT LOCATION 300

(2) 1011 28: MOV R1. (RO)

(2) o1 CLR (r1)

(2) 7 ADD R2,RO

(2) 74 1 ADD R2.R1

g ; 882 7 3§§ 79} 001000 Sﬁ 5}600.:1 ;END AT LOCATION 776

(2) 7206 1 ‘% INSTR  ;OUTPUT MESSAGE & GET INPUT STRING

(2) ?150 MREGAD :MESSAGE

(2) 71 1 PAR $CONVERT STRING

(2) 712 174 174 SLOW LIMIT

(2) 716 177 177 SHIGH LIMIT

(2) 716 0170 ?mse SSTORE AT THIS LOCATION

(2) 7 1 .BYTE SMASK

(2) 721 1 BYTE 1 *HOW MANY TIMES + 2

(1) 7 16767 814%5 176226 MOV DUBASE ,KEEPADD :SAVE

(1) 0027 7267 013 JSR PC,DUADDR
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CNDURA.M11 -0CT INITIALIZE THE COMMON TAGS SEQ 0030
(1) 0027 016767 176216 176212 MOV KEEPADD ,BASEADD :RESTORE FOR ROTATION
(3) 002742 og INSTR .ourpu ‘MESSAGE & GET INPUT STRING
(2) 002744 0150 MVECTO :MESSAGE
(2) 00274 104410 PARAM  -CONVERT STRING
(2) 002750 000300 00 sLOW LIMIT
(2) 002752 00077 76 SHIGH LIMIT
(2) 002756 001736 DURIV STORE AT THIS LOCATION
(2) 00275 001 BYTE 1 *MASK
(2) 00275 BYTE & *HOW MANY TIMES + 2
(1) 002760 016767 176752 176176 MOV DURIV,KEEPIV  :SAVE
(1) 002766 016767 176744 176166 MOV DURIV.BASEIV  :SET UP FOR ROTATION
(2) 002774 104406 INSTR  ;OUTPUT MESSAGE & GET INPUT STRING
(2) 002776 015120 MMULT  :MESSAGE
(2) 003000 104414 SETFLG :SET FLAG BASED UPON INPUT STRING
(2) 003002 00115; MULTD :THIS FLAG
2}; 3006 105767 176142 TSTB  MULTD ARE tgsgssngerpts DEVICES
(1) 003010 100406 B8MI 888 vsnaunrwanm
(1) 003012 005067 176150 CLR ACTREG
(1) 003016 005067 176146 CLR ROTADD
g}; ooggg6 000167 000140 B JMP OUTMUL ;JUMP AROUND NEXT QUESTION
(2) 003026 1044 INSTR  ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003030 01514 MLASTD :MESSAGE
(2) 003032 104410 PARAM  :CONVERT stnlnc
(2) 003034 174000 174000 :LOW LIMIT
(2) 003036 177776 177776 :RIGH LIMIT
<5) 33332 0011 %AS?ADD .sroas At THIS LOCATION
(2) 1 .BYTE nAs
(2) 00304 001 BYTE 1 MANY TIMES + 2
1 :THE FOLLOWING nburxue SETS UP ACTREG FOR THE FIRST TIME
(1) 003044 012767 000001 176116 1s: MOV OTADD :SET UP POINTER
(1) 003052 005067 176110 CLR Acfasc :CLR ACTIVE REGISTER
(1) 003056 056767 176106 176102 28%: BIS ROTADD,ACTREG ;MAKE TH'S DEVICE ACTIVE
(1) 003064 000241 cLC
(1) 00 006167 176076 ROL ROTADD ;SET UP POINTER
(1) 003072 103421 BCS 3s SARE YOU OUT OF RANGE ?

(1) 003076 062767 oooo1g 176052 ADD #10,BASEADD :SET UP BASE ADDRESS

(1) 003102 0267267 176052 176044 CMP 5A$fADD BASEADD :IS THIS THE LAST DEVICE ?

(1) 003110 1 136; BHI s NO DO IT AGAIN

(1) 003112 056767 176052 176046 BIS ROTADD.AETREG  :THIS ASSUMES THAT THERE ARE AT
(1) .LEAST TWO DEVICES uucn YOU ANSWER YES

(1) HUL lPlE DEVICE QUESTION

(1) 003120 012767 000001 176042 4$: MOV #1,ROTADD swmummuummmnwm
(1) 003126 016767 176024 176020 MOV KEEPADD.IASE 10

(1) oog1 800414 B8R OUTMUL luué s 10N

(1) 0031 16767 176014 176010 38: MOV xsepnoo.tnssuoo n ORE

(2) oo§144 1044 INSTR  :OUTPUT MESSAGE £ GET INPUT STRING

(2) 003146 01524 MRANGE  :MESSAGE

(2) 003150 10441 PARAM  :CONVERT srnxus

(2) 315 174 mggo SLOW LIMIT

(2) 15¢ 177 63 177776 :HIGH LIMIT

(2) §1ss 0011 Hnsrnoo SSTORE AT THIS LOCATION

(2) 160 1 .BYTE MASK

(2) oc§1e1 1 BYTE 1 ‘HOW MANY TIMES ¢ 2

(1) 003162 000167 177656 JMP is :00 IT AGAIN
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:31
003166 012767 000300

(1

:1; 003174 004767 01

(2)

(2)

(2)

(2) 003200

(s) 3%00 104406

(2) 003202 015461

(2) 3204 122767 000061
(2) 003212 001003

(2) 003214 105067 175726
(2) 003220 00041;

(2) 003222 122767 000062
(2) 003230 001004

(2) 0032 112767 177777
(%) 003240 000402

(2) 003242 104407

(2) 003244 000757

(2) 003246 000240

(2) 3%50 106409

(2) 003252 01552

(2) 3254 104414

(2) 003256 001147

(g) 3260 104406

(2) 003262 015600

(2) 0032664 104414

(S) 00;598 1150

(2) 00 104406

(2) 003272 015650

(2) 003274 104414

(2) 003276 001151

(2) 003 104406

(2) 003302 015727

(2) 003304 104414

(2) 003306 001153

(2)

(2)

(2)

(%) 003310 012709 001100
(2) 003314 1064; 000300
(2) 003320 032777 000002
(g) 0033%8 001413

(3) 0033 104406

(3) 003332 015413

(3) 003334 104410

(3) 0033 3374

(3) 88334 17500

(3) 334 14602

(3) 883346 001

(3 3345 1

(2) 003346 016767 176030
(2) 003354 03

(2) 003356 012767 3374
(2) OOBS?‘ 04401 015407
(2) 003370 000177 175510

013466 OUTMUL: MOV

012610

012572
175706

176112

175230
175520

e —— e - . — N ——
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INITIALIZE THE COMMON TAGS

3s:

2%:
4$:

.BEGIN:

.BYTE
.BYTE

3s:
4S:

#300,DUPRT
JSR _ PC,DULEV

:COMPARE THE FIRST CHARACTER IN. THE TELETYPE INPUT
:BUFFER TO THE CHARACTERS ™

:IF ThE CHARACTER 1S .w..cLEAa YE FLic

:1F THE CHARACTER IS ' SET THE FLAG

INSTR  ;OUTPUT MESSAGE & GET INPUT STRING
:MESSAGE

MSYNC ’
CMPB  #'1, INBUF IS IT "M 2
BNE 13

CLRB SYNCNO ;000

BR 48 .
CMPB  #'2, INBUF JIS IT ' 2
BNE 28

MOVB  #=1,SYNCNO :377

BR 4

INSTER :RETRY

BR ss

NOP

INSTR 00;;07 MESSAGE & GET INPUT STRING

MESSAGE

sSET FLAG BASED UPON INPUT STRING
SEXMIT :THIS FLAG

INSTR OU;PUT MESSAGE & GET INPUT STRING

sMESSAGE
gE;E%G .SE}SFLRG BASED UPON INPUT STRING
INSTR .OUTPUI MESSAGE €& GET INPUT STRING

sMESSAGE

sSET FLAG BASED UPON INPUT STRING
TCLR :THIS FLAG

INSTR OUTPUI HESSAGE € GET INPUT STRING

:MESSAGE
:SET FLAG BASED UPON INPUT STRING
JMRBY  :THIS FLAG

sTEST START AND RESTART

MOV lgTACK.SP sSET UP STACK
MTPS #300 .LOCK OUT INTERRUPTS
gg; gguo1.asuu F SWO1=1, GET STARTING PC

INSTR .gg;;uEenessnce & GET INPUT STRING
PARAM  :CONVERT STRING

1ST1  :LOW LIMIT

17500 :HIGW LIMIT

; :rgae AT THIS LOCATION
1 *HOW MANY TIMES ¢ 2

ggv t;srun RETURN

MOV crstt ,RETURN

svnnr AT TEST 1
R
JMP 6n£tunu

YPE
STAR! TESTING

SEQ 0031
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CNDURA.M11  29-0CT-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0032

8151

8152 ::THIS TEST VERIFYS WORD LENGTH SELECT OF THE
) S:RECEIVER SECTION,IT USES THE ERROR FLAGS
(1 :3T0 DETERMINE THAT IT WAS SELECTED CORRECTLY
(1) 2 2 (OVRRUN,RXERR)
(N + $MODE : 1SYMOD
(1 SLENGTH:F IVE
{}; OOCHM:37
(5) ttt'.ttt.ti't'lQ'Qt'ttt't'.t"'..tt.....t'Q.QQ.Q'.'...'Q"C'Q"
m 003374 000004 t8r1:  SCOPE
(3) 003376 052777 000400 176322 BIS #MRESET,@TXCSR :MASTER RESET
(g) 003404 012777 000000 176310 MOV #1SYMOD,3PARCSR :SET THE MODE
{ ; 003412 052777 000400 176306 BIS #MRESET.@TXCSR :MASTER RESET
(S) :SET MAINT DATA,CLK,BREAK,SMAINTENANCE MODE
gg; 003420 012777 064001 176300 MOV #MTDATA!CLK!MINT !BREAK,3TXCSR
2) ;SET MODE ,# OF BITS,PARITY SENSE ILOAD SYNC REG
(2) 003426 012777 000000 176266 MOV #1SYMOD! F IVE 'NOPAR !0, aPARCSR
(g) 003434 052777 000020 176250 BIS #SYNSCH.@RXCSR ser SYNC SEARCH
() :POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
(2) 003442 042777 020000 176556 BIC chx.arxcsa .roxs CLK DOWN
(2) 003450 052777 020000 176250 BIS #CLK.@TXCSR
(s) ;POKE CLK TO GET Locic tuto svucionxzarxon
(2) 003456 042777 020000 176242 BIC #CLK,TXCSR : POKE ch DOWN
(;) oo;:gg 52777 ?;oggg 176234 BIS chx.atxgsa °POKE K UP
(1) 00 16703 176 MOV RXDBUF ,R SET up FOR ERROR MESSAGE
(1) 003476 012700 000037 MOV 0;7 ao expecteb
(1) 0035 12767 100007 17541 MOV :# OF SHIFTS
(1) 003510 012767 176 1757 MOV ;1?6 SYHPI :DATA CHAR
(N 003512 79; 013300 JSR PC ,RPOKE %SHIFT IN THIS CHAR
(1) 003522 105777 176164 TSTB  @RXCSR ;RXDONE
(1) 003526 100401 BMI .+
(1) 003530 104004 ERROR 4 :RXDONE SHOULD BE SET
(1) 0035 17701 176160 MOV DBUF , R1 sACTUAL
(1) 003536 020001 CMP no Rt :COMPARE EXPECTED VS. ACTUAL
(1 ooss&g 1401 BEQ +4
(1) 00354 002 ERROR 2 ;RECEIVED DATA DID NOT MATCH
(1) SEXPECTED DATA = CHECK MAINT DATA
(1) :OR RECEIVER LOGIC
(1) 003546 012767 oooogr 175350 MOV #7,SHIFT’ :# OF SHIFTS
(1) 003552 012767 000176 175720 MOV ctfo.stnr1 DATA CHAR
(1) 003560 004767 013236 JSR POKE HIFT IN THIS CHAR
(1 :NOW SHIFT IN A s;tono CNAIACTEI uxruour nsnoxnc RXDBUF
(1) 003 12767 175;30 MOV # OF SHIFTS
(1) 0035 12767 176 175700 MOV 0176 stnr1 DATA CHAR
(1) ;gz 10319 JSR C . RPOKE SSHIFT IN THIS CHAR
(1) 003604 012 4003 MOV nloooo-sr RO :EXPECTED DATA PLUS
() nxenn OVRRUN
(1) 003610 017701 176102 MOV o?u *ACTUAL
(1) 003614 1 CMP RO, R conrane EXP VS. ACT
(1) 00361 1401 BEQ ol
(1) 00 04002 ERROR 2 :SPECIFICALLY LOOK AT RXERR &
(1) SOVRRUN BITS...THEY BOTH SHOULD BE SET




1

CNDUR=A MACY11 30(1046) 14=DEC-82 09:58 PAGE 6119
CNDURA.M11  29-0CT=82 16:31 INITIALIZE THE COMMON TAGS SEQ 0033

(1)
8153 ::THIS TEST VERIFYS WORD LENGTH SELECT OF THE

55 SSRECEIVER SECTION,IT USES THE ERROR FLAGS

(1 :370 DETERMINE THAT IT WAS SELECTED CORRECTLY

(1) : : (OVRRUN, RXERR)

(1) 2 2MODE : I1SYMOD

(1) $SLENGTH:FIVE

ﬂ; 22CHAR:0 .

. F 4

(S) . 0'Q'ttt;zﬂt.tltt.tt."tt'tt't't't.ttttt.tt..tttttttt'tttttttttt'
m 003622 000004 tS12:  SCOPE

(3) 003624 052777 000400 176074 BIS #MRESET,3TXCSR :MASTER RESET

(g) 003632 012777 000000 176062 MOV #1SYMOD,3PARCSR :SET THE MODE

52; 003640 052777 000400 176060 BIS #MRESET.STXCSR :MASTER RESET

(2) ;SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE

g ; 003646 012777 064001 176052 MOV #MTDATA! CLK 'MINT !BREAK,@TXCSR

(2) ;SET MODE ,# OF BITS,PARITY SENSE, um SYNC REG

(2) 003654 012777 000000 176040 MOV #1SYMOD! F IVE 'NOPAR ' 0, aPARCSR

(2) 003662 052777 000020 176022 BIS #SYNSCH.@RXCSR :SET SYNC SEARCH

(2) -POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
(2) 003670 042777 020000 176030 BIC #CLK,ATXCSR poxe Cl. DOWN

(2) 003676 052777 020000 176022 BIS #CLK mcsn CLK UP

(%) ;POKE CLK TO GET LOGIC INTO svuchonmnou

(2) 003704 042777 020000 176014 BIC #CLK,3TXCSR : POKE cu DOWN

(2) 333753 8527" 0;2993 176006 BIS lCLK.aTXSSl :POKE CLK UP

(1) 0037 703 1 MOV RXDBUF ,R “SET up FOR ERROR MESSAGE
(1) 003724 000000 MOV #0,RO ~ ;EXPECTE

(1) 0037 o1 767 000007 175164 MOV 14 :# OF SMIFTS

(1) 003736 01 m 000100 175534 MOV #100,$TMP1 :DATA CHAR

(1) 003744 004767 013052 JSR PC, RPOKE SSHIFT IN THIS CHAR

(1) 003750 105777 175736 IS8 @RKCSR :RXDONE ?

(1) 003754 100401 BM] .+

(1) 003756 104004 ERROR & RXDONE SHOULD BE SET

(1) 003760 017701 175732 MOV SRXDBUF , i ACTUAL

(1) 003764 020001 CMP RO m : COMPARE EXPECTED VS. ACTUAL

(1) 003766 001401 BEQ +

(1) 003770 104002 ERROR 2 ;RECEIVED DATA DID NOT MATCH

(1) SEXPECTED DATA = CHECK MAINT DATA
(1) ‘OR RECEIVER LOGIC

(1) 003772 msnr 000007 175122 MOV #7,SHIFT’ :# OF SHIFTS

(1) 000 012767 000100 175472 MOV nbo srm ‘DATA CHAR

(1) 004006 004767 013010 JSR POKE SSHIFT IN THIS CHAR

(1) :NOW SHIFT IN A sséono CHARACTEI uxmour READING RXDBUF
(1) 004012 015767 7 175105 MOV 63 IFT # OF SHIFTS

(1) 004020 012767 000100 17545 MOV n $THPY DATA CHAR

(1) oo/.ogs 004767 012770 JSR ¢ . RPOKE SSHIFT IN THIS CHAR

(1) 004032 012700 14 MOV loooo'o RO .smcm DATA PLUS

(1) :RXERR & OVRRUN

(1) 004036 017701 175654 MOV XDBUF ,R1 : ACTUAL

(1) 006042 020001 CMP no R1  “;COMPARE EXP VS. ACT

(1) 004044 001401 BEQ 4

(1) 004046 104002 ERROR é ;SPECIFICALLY LOOK AT RXERR &

(1) *OVRRUN BITS...THEY BOTH SHOULD BE SET
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13

INITIALIZE THE COMMON TAGS

::THIS TEST VE
:sRECEIVER SEC
:2TO DETERMINE
RUN,RXERR

s s (OVKk

R
T

DE : I1SYMOD

oe
SRR RRARRARARANAARNRERANAAENAACNAANAAAARAANAANACANAANAAACOCAOCOONEY

t$13:  SCOPE

BIS
MOV
BIS

sSET MODE .# OF BIT
MOV #

BIS

8IC #CLK,ATXCSR :POKE CLK DOWN
8IS #CLK.STXCSR :POKE CLK UP
;POKE CLK TO GET LOGIC INTO SYNCRONIZATION
BIC #CLK,ITXCSR :POKE CLK DOWN
BIS tch.atxgsn :POKE CLK UP
MOV RXDBUF ,R *SET UP FOR ERROR MESSAGE
MOV #25,R0° ;EXPECTED
MOV #8, (SHIFT :# OF SHIFTS
MOV #253,$THP1 :DATA CHAR
JSR PC ,RPOKE SSHIFT IN THIS CHAR
;g}e aazcsa sRXDONE 3
.
ERROR & :RXDONE SHOULD BE SET
MOV aRXDBUF ,R1 sACTUAL
ggz ao£n1 :COMPARE EXPECTED VS. ACTUAL
.t
ERROR 2 ;RECEIVED DATA DID NOT MATCH
SEXPECTED DATA = CHECK MAINT DATA
:OR RECEIVER LOGIC
MOV #8, SHIFT :# OF SHIFTS
MOV #255,8TMP1 :DATA CHAR
JSR PC ,RPOKE SSHIFT IN THIS CHAR
:NOW SHIFT IN A SECOND CHARACTER WITHOUT READING RXDBUF
MOV os SHIFT :# OF SHIFTS
MOV #252,$TAP1 :DATA CHAR
JSR PC ,RPOKE SSHIFT IN THIS CHAR
MOV #140000¢25,R0 :EXPECTED DATA PLUS
*RXERR © OVRRUN
MOV aRXDBUF ,R1 $ACTUAL
gg: RO.R1  ;COMPARE EXP VS. ACT
0 _
ERROR 2 ;SPECIFICALLY LOOK AT RXERR &

s MO
:2LENGTH:SIX
HAR:25

IFYS
10N
;unf IT WAS SELECTED CORRECTLY

WORD LENGTH SELECT OF THE
IT USES THE ERROR FLAGS

#MRESET,@TXCSR ;MASTER RESET
#1SYMOD,aPARCSR ;SET THE MODE
#MRESET,@TXCSR ;MASTER RESET

sSET MAINT DATA,CLK,BREAK,SMAINTENANCE MODE
MOV #MTDATA!CLK!MINT!BREAK ,@TXCSR

S,PARITY SENSE.GLOADnsggc REG

1SYMOD'SIX!NOPAR !0, aPARC
#SYNSCH.RXCSR :SET SYNC SEARCH
:POKE CLK TO GET RECEIVER INTO SYNCROIZATION....

;OVRRUN BITS...THEY BOTH SHOULD BE SET

SEQ 0034
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~
[V
-

8155 ::THIS TEST VERIFYS WORD LENGTH SELECT OF THE
%} SSRECEIVER SECTION,IT USES THE ERROR FLAGS
(1) $:T0 DETERMINE THAT IT WAS SELECTED CORRECTLY
(1) :: (OVRRUN, RXERR)
(1) : :MODE : 1S YMOD
1) :LENGTH: SIX
ﬂ; :.CHAR:SZ
(S) tttttttitt'.tttt..'t'.t'..tt'Q'Q..Q..Q'..'.Qt..".'t'.t.'."'..
g:; 004276 000004 t814:  SCOPE
(3) 004300 052777 000400 175420 BIS #MRESET,@TXCSR :MASTER RESET
(i’ 004 012777 000000 175406 MOV #1SYMOD.APARCSR :SET THE MODE
5 ; 004314 052777 000400 175404 BIS #MRESET.@TXCSR :MASTER RESET
(3) :SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
gg; 004322 012777 064001 175376 MOV #MTDATA'CLK'MINT!BREAK,@TXCSR
(2) ;SET MODE .# OF BITS,PARITY sense,cLvo SYNC REG
(2) 004330 012777 002000 175364 MOV #1SYMOD ' SIX!NOPAR !0, aPARCSR
(2) 004336 052777 000020 175346 BIS #SYNSCH.BRXCSR :SET SYNC SEARCH
2) *POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
(2) 004344 042777 020000 175354 BIC #CLK,ATXCSR ;POKE CLK DOWN
(2) 004352 052777 02000C 175346 BIS #CLK.ATXCSR POKE CLK
2) ;POKE CLK TO GET LOGIC INTO svnckonxzntxou
(5) 004360 otsrrr 020000 175340 BIC #CLK,3TXCSR :POKE CLK DOWN
(2) 382 85 777 o;ggoo 175332 BIS chx arxgsa :POKE CLK UP
5B 4 016703 17531 MOV SET UP roa ERROR MESSAGE
(1) 004400 012700 00005 MOV csz ao exrscteb
(1) 004404 012767 000010 174510 MOV HIF :# OF SHIFTS
(1) 004412 012767 oogsza 175060 MOV c él.srnpt *DATA CHAR
(1) 004420 004767 01237 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) 004426 105777 TST8 anxcsn :RXDONE ?
(1) 004430 100401 .+
(1) 004432 104004 ERROR 4 : RXDONE SHOULD BE SET
(1) 004434 017701 175256 MOV BUF ,R1 ACTUAL
(1) 004440 020001 CMP o n1 : COMPARE EXPECTED VS. ACTUAL
(1) 004442 001401 BEQ
(1) 004444 104002 ERROR 2 ;RECEIVED DATA DID NOT MATCH
(1) :EXPECTED DATA = CHECK MAINT DATA
(1 :OR aecenven LOGIC
(1) 0046446 015767 000010 174446 MOV cg SHIFT # OF SHIFTS
(1) 004454 012767 000324 175016 nov él STHPI :DATA CHAR
(1) 004462 004767 012334 KE SSHIFT IN THIS CHAR
(1) :NOW su:rr IN A seéouo CHARACTER WITHOUT READ!NG RXDBUF
(1) 004466 812767 10 ml.;b MOV SHIFT :# OF SHIFTS
(1) 004474 012767 gu 174776 MOV oﬂsmn :DATA CHAR
(1) 004502 004767 012314 JSR RPOKE SSHIFT IN THIS CHAR
g}; 004506 012700 140052 MOV c1toooo'sz RO .txpscrsooeagaurtus
(1) 004512 817701 175200 MOV aRXDBUF ,R1 ACTUAL
(1) 00451 0001 CMP RO.R1 ~ :COMPARE EXP VS. ACT
(1) 0045 1401 BEQ +
(1) 004522 104002 ERROR 2 ;SPECIFICALLY LOOK AT RXERR &
(1) SOVRRUN BITS...THEY BOTH SHOULD BE SET

————r — — 2wt
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CNDURA.M11  29-0CT- INITIALIZE THE COMMON TAGS SEQ 0036

(1)

8156 ::THIS TEST VERIFYS WORD LENGTH SELECT OF THE
(1) SSRECEIVER SECTION,IT USES THE ERROR FLAGS
(1) $3TO DETERMINE THAT IT WAS SELECTED CORRECTLY
(1) : ; (OVKRUN RXERR)
(1 +MODE : 1 SYMOD
1 S SLENGTH:SIX
K 1 EhAR: 77
(S) 'ttttttttttttﬁtttttti.tittttttitttttttttttttttttit'tttttttttttt.
:z; 004524 000004 TS1S:  SCOPE
(3) 004526 052777 000400 175172 BIS #MRESET,aTXCSR ;MASTER RESET
(2) 004534 012777 000000 175160 MOV #1SYMOD,aPARCSR :SET THE MODE
53; 004542 052777 000400 175156 8IS #MRESET.@TXCSR :MASTER RESET
(2) :SET MAINT DATA,CLK,BREAK,SMAINTENANCE MODE
gg; 004550 012777 064001 175150 MOV #MTDATA! CLK'MINT !BREAK,@TXCSR
(2) :SET MODE ,# OF BITS,PARITY SENSE ILOAD SYNC REG
(2) 004556 012777 175136 MOV #1SYMOD'SIX!NOPAR!0,3PARCSR
(2) 004564 052777 000020 175120 BIS #SYNSCH,RXCSR sef SYNC SEARCH
(2) :POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
(2) 004572 042777 020000 175126 BIC #CLK,3TXCSR :Poxs CL DOWN
(2) 004600 052777 020000 175120 BIS #CLK.@TXCSR uP
(2) :POKE CLK TO GET Locic INTO svuckonszrxon
(2) 004606 042777 02 175112 BIC LK,@TXCSR POKE ch DOWN
(2) 004614 852777 o;ooog 175104 BIS 0ch arx SR POKE CLK UP
(1) 004622 016703 17507 MOV RXDBU *SET ur FOR ERROR MESSAGE
(1) 004626 012709 000077 MOV 077 no -EXPECTE
(1) 004632 012767 000010 17426 MOV IFt :# OF SHIFTS
(1) 004640 012767 000376 17463 MOV 0 i& stnp1 :DATA CHAR
(1) 004646 004767 012150 JSR PC ,RPOKE SSHIFT IN THIS CHAR
(1) 004652 105777 175034 TSTB  @RXCSR :RXDONE ?
(1) 004656 100401 8MI +%
(1) 004660 104004 ERROR 4 DONE SHOULD BE SET
(1) 004662 017701 175030 MOV h sACTUAL
(1 666 020001 CMP no R! *;COMPARE EXPECTED VS. ACTUAL
(1) 004670 001401 BEQ +4
(1) 004672 104002 ERROR é ;RECEIVED DATA DID NOT MATCH
(1) :EXPECTED DATA = CHECK MAINT DATA
(1) :OR RECEIVER LOGIC
(1) 004674 012767 000010 17&;;0 MOV #8. SHIFT :# OF SHIFTS
(1) 004702 012767 000376 174570 MOV & 76 $THP1 :DATA CHAR
(1) 004710 004767 012106 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1 NOW SHIFT IN A SECOND CHARACTER' WITHOUT nsonuc RXDBUF
(1) 004714 012767 000010 174200 MOV #8. SHIFT :# OF SHIFTS
(1) 004722 012767 000376 174550 MOV #376,3THP1 *DATA CHAR
(1) 0047 7267 012 JSR PC . RPOKE SSHIFT IN THIS CHAR
(1) 004734 012700 14007 MOV #140000'77,R0  :EXPECTED DATA PLUS
(1) *RXERR & OVRRUN
(1) 004740 817701 174752 MOV aRXDBUF ,R1 +ACTUAL
(1) 004744 020001 CMP RO,R1 ~:COMPARE EXP VS. ACT
(1) 004746 001401 BEQ +4
(1) 004750 104002 ERROR 2 :SPECIFICALLY LOOK AT RXERR &
(1) *OVRRUN BITS...THEY BOTH SHOULD BE SET
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e :NOW sn1?r IN A s Eouo 5uaancren 37{5§u%"a§:5fu§"3§oaur
5767 000010 17375 MOV 5 :# JF SHIFTS
767 8oozoo 17432 MOV 0206 StnPl OATA CHAR
11640 JSR

(=l
)

;SHIFT IN THIS CHAR

3838 5333 833 smEEmamses
g
s

e wd  d d e b b -
INNE RABR 8RN Saro&RS
o
~

CNDURA.M11  29-0CT-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0037
(1
8157 ;:THIS TEST VERIFYS WORD LENGTH SELECT OF THE
) s SRECEIVER SECTION,IT USES THE ERROR FLAGS
(1) 370 DETERMINE tuni IT WAS SELECTED CORRECTLY
(1) : : (OVRRUN, RXERR)
(1) *MODE : 1 SYMOD
(1 :SLENGTH:SIX
g}; :2CHAR:0
(S) 'tQ!IiQtittﬁtltt'i'Q.'t'""".t.'.t'tQ"t'tttt..ttt"t.tt.'t'.
52; 004752 000004 t876:  SCOPE
(3) 004754 052777 000400 174744 BIS #MRESET,@TXCSR :MASTER RESET
(2) 004762 012777 000000 174732 MOV #1SYMOD,aPARCSR :SET THE MODE
53; 004770 052777 000400 174730 BIS #MRESET.@TXCSR :MASTER RESET
(2) ;SET MAINT DATA,CLK,BREAK,BMAINTENANCE MODE
53; 004776 012777 064001 174722 MOV #MTDATA! CLK ' MINT !BREAK, 3TXCSR
(2) ;SET MODE .# OF BITS,PARITY sease,cLOAo SYNC REG
(2) 005004 012777 002000 174710 MOV #1SYMOD ' SIX!NOPAR!O,aPARCSR
(2) 005012 052777 000020 174672 BIS #SYNSCH.IRXCSR ;SET SYNC SEARCH
(2) “POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
(2) 005020 042777 020000 174700 BIC #CLK,3TXCSR ;POKE CLK DOWN
(2) 005026 052777 020000 174672 BIS #CLK.ITXCSR POKE CLK UP
(2) ;POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(2) 005034 042777 020000 174664 BIC #CLK,3TXCSR :POKE CLK DOWN
(2) soas 352777 o;ooog 174656 BIS 0ch.arx§sa :POKE CLK UP
(1) 005050 016703 17464 MOV RXDBUF ,R *SET UP ron ERROR MESSAGE
(1) 005056 012700 000000 MOV #0,R0 ~ ;EXPECTE
(1) 005060 012767 000010 174034 MOV #8. SHIFT :# OF SHIFTS
(1) 005066 012767 000200 174404 MOV #200,$TMP1 *DATA CHAR
(1) 005074 004767 011722 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) 005100 105777 174 TSTB  @RXCSR ;RXDONE ?
(1) 005106 100401 +4
(1) 005106 104004 ERROR 4 : RXDONE suoumo BE SET
(1) 005110 017701 174602 MOV FLR1 ACTUAL
(1) 005114 020001 CMP no al :COMPARE ' EXPECTED VS. ACTUAL
(1) 005116 001401 BEQ +4
(1) 005120 104002 ERROR 2 :RECEIVED DATA DID NOT MATCH
(1) SEXPECTED DATA = CHECK MAINT DATA
(1) :0R RECEIVER LOGIC
(1) 015767 000010 17377 MOV #8. . SHIFT 1T or SHIFTS
f}; 012767 000200 17434 MOV azob.stnp1 :DATA CHAR
(1)
(1
i
(1) 0127 MOV o1loooo'o RO  :EXPECTED DATA PLUS

(1) :RXERR & OVRRUN

(1) 017701 174524 MOV aRXDBUF ,R1 *ACTUAL

(1) 020001 CMP RO.R1  ;COMPARE EXP VS. ACT

(1) 001401 REQ +4

g}; 104002 ERROR 3 :SPECIFICALLY LOOK AT RXERR &

;OVRRUN BITS...THEY BOTH SHOULD BE SET
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INITIALIZE THE COMMON TAGS

29-0CT-82 16:31

000400
000000
000400

173524
174074

t*.tttt*tt*Qtttt'tt'ti"it'tﬁi'tt'ttﬁ'ﬁt.ﬁ.'itttﬁt.ﬁ*'.t..'."i

t417:  SCOPE

BIS
MoV
BIS

#MRESET ,@TXCSR

RIFYS WORD LENGTH SELECT OF THE

TION,IT USES THE ERROR

FLAGS

nAf IT WAS SELECTED CORRECTLY

sMASTER RESET

#1SYMOD ,aPARCSR ;SET_THE MODE

#MRESET ,aTXCSR

sSET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
MoV #MTDATA! CLK'MINT !BREAK,@TXCSR

sSET MODE V, OF BITS,PARITY SENSE.GLOAgpsvgg REG

BIS

BIC #CLK,ITXCSR :POKE CLK
BIS #CLK.ATXCSR :POKE CLK UP
: POKE ch TO GET LOGIC INTO svnckonxznrtou
BIC #CLK,3TXCSR : POKE ch ooun
BIS 0CLK.OTX§SR :POKE
MOV g SSET ur ron ERROR MESSAGE
MOV 012 né CTED
MOV SHI i :# OF SHIFTS
MOV 06§é stnP1 :DATA CHAR
JSR C ,RPOKE 5suxrt IN THIS CHAR
;g}a anzcsn s RXDONE
ERROR & ;RXDONE SHOULD BE SET
MOV SRXDBUF ,R1 s ACTUAL
gg: “2;“‘ ; COMPARE EXPECTED VS. ACTUAL
ERROR 2 ;RECEIVED DATA DID NOT MATCH
:EXPECTED DATA - CHECK MAINT DATA
:OR RECEIVER LOGIC
MoV #9. SHIFT :# OF SHIFTS
MOV csié $THP1 :DATA CHAR
JSR POKE SSHIFT IN THIS CHAR
:NOW SHIFT IN A seéouo cunancrsu uxruour nsonus RXDBUF
MOV #9, SHIFT :# OF SHIFT
MOV 0652 srnp1 :DATA cnau
JSR SSHIFT IN THIS CHAR
MOV cttoooo'tzs RO :EXPECTED DATA PLUS
axe R & OVRRUN
MOV aRXDBUF , CTUAL
ggg ao‘n1 .conraas exp VS. ACT
ERROR 2 ;SPECIFICALLY LOOK AT RXERR &

#1SYMOD!

#SYNSCH,aRXCSR

SEVEN!NOPAR!0

sOVRRUN BITS...THEY BOTH SHOULD BE SET

sMASTER RESET

-SET SYNC SEARCH
:POKE CLK TO GET RECEIVER INTO svncggﬁznrxon....

———— e ————

SEQ 0038
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CNDURA.M11  29-0CT-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0039
(1)
S ;:THIS TEST VERIFYS WORD LENGTH SELECT OF THE
1 SSRECEIVER SECTION,IT USES THE ERROR FLAGS
1 2370 DETERMINE THAT IT WAS SELECTED CORRECTLY
1 + : (OVRRUN, RXERR)
1 2 2MODE : ISYMOD
1 : SLENGTH:SEVEN
} :2CHAR:S52
S .o ttttti‘:tt".ttttitt"'tt'it.t'tttlt.tl'.t't""lt't"t"ttt"'
2 005426 000004 t§7110: SCOPE
005430 052777 000400 174270 BIS #MRESET,@TXCSR :MASTER RESET
005436 012777 000000 174256 MOV #1SYMOD,aPARCSR :SET THE MODE
005444 052777 000400 174254 BIS #MRESET,@TXCSR :MASTER RESET

;SET MAINT DATA,CLK,BREAK,SMAINTENANCE MODE
MOV #NTD

005452 012777 064001 174246 TOATA!CLK!MINT !BREAK ,@TXCSR

sSET MODE ,# OF BITS,PARITY SENSE,BLOAD SYNC REG
MOV #1SY SR

8159
)
(1)
(1)
(1)
(1)
(1)
(1)
(5)
(4)
(4)
3)
&
(2)
(2)
(2)
)
(2) 005460 012777 004000 174234 SYMOD ! SEVEN NOPAR' 0, 3PARC
(2) 005466 052777 000020 174216 BIS #SYNSCH.BRXCSR :SET SYNC SEARCH
(2) -POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
(2) 005474 042777 020000 174224 BIC #CLK,3TXCSR :POKE CLK DOWN
(2) 005502 052777 020000 174216 BIS #CLK.BTXCSR ‘POKE (LK UP
(2) ;POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(2) 005510 042777 020000 174210 BIC #CLK,3TXCSR :POKE CLK DOWN
(2) 005516 85 777 Q;oooo 174202 BIS chx.arxgsa :POKE CLK UP
(1) 005524 016703 174166 MOV RXDBUF ,R SET UP FOR ERROR MESSAGE
(1) 005530 012700 000052 MOV #52,R0° ;EXPECTED
(1) 005534 012767 000011 173360 MOV #9,  SHIFT :# OF SHIFTS
(1) 005542 012767 000524 173730 MOV #524 . $THP1 :DATA CHAR
(1) 005550 004767 011246 JSR PC, RPOKE SHIFT IN THIS CHAR
(1) 005554 105777 174132 TSTB  SRXCSR ;RXDONE ?
1) oossgg 100401 I Y
(1) 005562 104004 ERROR 4 :RXDONE SHWOULD BE SET
(1) 005564 017701 174126 MOV aRXDBUF , R1 sACTUAL
(1) 005570 020001 CMP RO.R1  ;COMPARE EXPECTED VS. ACTUAL
(1) 005572 001401 BEQ +4
(1) 005574 104002 ERROR 2 :RECEIVED DATA DID NOT MATCH
(1) :EXPECTED DATA = CHECK MAINT DATA
(1) :OR RECEIVER LOGIC
(1) 005576 012767 000011 173316 MOV #9. SHIFT :# OF SHIFTS
(1) 005604 012767 000524 173666 MOV #524 ,$THP1 *DATA CHAR
(1) 005612 004767 011204 JSR PC ,RPOKE SSHIFT IN THIS CHAR
(1) :NOW SHIFT IN A gstouo CHARACTER WITHOUT READING RXDBUF
(1) 005616 012767 11 1r§§za MOV SHIFT :# OF SHIFTS
(1) 005624 012767 000524 173646 MOV #5234, 8THP1 :DATA CHAR
(1 8856 004767 011164 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) 005636 012700 140052 MOV #140000152,R0  :EXPECTED DATA PLUS
(1) *RXERR & OVRRUN
(1) 005642 017701 174050 MOV aRXDBUF ,R1 *ACTUAL
(1) 005646 020001 CMP RO.R1 ~;COMPARE EXP VS. ACT
(1) 005650 001401 BEQ .
m 005652 104002 ERROR 2 :SPECIFICALLY LOOK AT RXERR &

sOVRRUN BITS...THEY BOTH SHOULD BE SET
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CNDUR=A MACY11_30(1046) 14=DEC-82 09:58 PAGE 61-26

CNDURA .M11 ~0CT=82 16:31 INITIALIZE THE COMMON TAGS SEQ 0040
(1)
8160 ;:THIS TEST VERIFYS WORD LENGTH SELECT OF THE
(1) ..nemvsn SECTION,IT USES THE ERROR FLAGS
(1) TO DETERMINE THAT IT uas SELECTED CORRECTLY
(1) ..<ovr.auu RXERR)
(1) E:1SYMOD
(1 ..Lencm ;Evsu
i i
(S) t'tt'tttt'.tQQtiit'QQ'Q'Q.Q'Q"t'tt't"ttt!'t"'tt"ﬁitt"'tttt
53 005654 000004 t8T11:  SCOPE
(3) 005656 052777 ggoaoo 17404 BIS #MRESET,3TXCSR :MASTER RESET
(g) 005664 012777 000000 17403 MOV #1SYMOD,@PARCSR :SET THE MODE
5 ; 005672 052777 000400 174026 BIS #MRESET.@TXCSR :MASTER RESET
(5: :SET MAINT DATA,CLK,BREAK,BMAINTENANCE MODE
g ; 005700 012777 064001 174020 MOV #MTOATA!CLK ! MINT !BREAK,@TXCSR
(2) :SET MODE # OF BITS.PARITY SENSE.ELOAD SYNC REG
(2) 005706 012777 004000 1740 MOV #1SYMOD ! SEVEN!NOPAR! 0, aPAR csa
(2) 005714 052777 000020 17377 BIS #SYNSCH,@RXCSR :SET SYNC SEAR
(2) :POKE CLK TO cef RECEIVER INTO smcnoxzmou....
(2) 005722 042777 osoooo 173776 BIC #CLK,ATXCSR ;POKE CLK DOWN
(2) 005730 052777 020000 173770 BIS #CLK,@TXCSR POKE CLK UP
(2) :POKE CLK TO GET Locic mo SYNCRONIZATION
(2) 005736 042777 020000 ngr 2 BIC #CLK pox CL oow
(g) 83?7“ 5 77; 173754 BIS ocu.m sa ug
(N 752 01670 MOV 99 “SET UP FOR ERROR MESSAGE
(1) 0057 1 709 17 MOV u6 em 6
(1) 0057 1276 1 17;133 MOV # OF SHIFTS
83 oo% : ;6; 11573 by Ts’: SE’%&SIE‘" gumcm THIS CHAR
m ggooog ;osr%; 73754. g}a aazcsa ;RXDONE
(1) nuac1u§ 1 ERROR & - RXDONE suouw BE SET
(1) 83‘631 81798? 173700 MOV aRXDBUF , R1 s ACTUAL
(1) 83231 20001 CMP RO.R1 ~;COMPARE EXPECTED VS. ACTUAL
(1) 081601 BEQ +4
(1) 006022 104002 ERROR 2 ;RECEIVED DATA DID NOT MATCH
(1) :EXPECTED DATA = CHECK MAINT DATA
(1) ‘OR nscnm LOGIC
(1) 3323 % 012767 11 "3273 MOV 09, . SHIFt SHIFTS
(1) 012767 n 17344 nov n?& $THP1 DA A CHAR
(1) 006040 004767 010756 £ SSHIFT IN THIS CHAR
(1) sum IN A gstouo CHARACTER' mmou nmmc RXDBUF
(1) & 012767 17;238 MOV :# OF SHIFTS
(1) 52 012767 17 MOV 114 7& stm :DATA CHAR
(1) 735 JSR g RPOKE SSHIFT IN THIS CHAR
(1 127 MOV & loooo'm RO :EXPECTED DATA PLUS
(1) axsaa OVRRUN
(1) 720 017701 173622 MOV mo?ur R1 &
(1 74 1 CMP RO,R1 ~;COMPARE’ m VS. ACT
(1 53 1401 BEQ +4
m 1 002 ERROR 2 ;SPECIFICALLY LOOK AT RXERR &

sOVRRUN BITS...THEY BOTH SHOULD BE SET




CNDUR=A MACY11 30(1046) 14=DEC=82 09:58 PAGE 61=27
CNDURA .M11 23-0(?-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0041

(1)

8161 ::THIS TEST VERIFYS WORD LENGTH SELECT OF THE
(1 :SRECEIVER SECTION,IT USES THE ERROR FLAGS
(1) ;370 DETERMINE THAT IT WAS SELECTED CORRECTLY
(1) +: (OVRRUN, RXERR)
(1) 2 JMODE : ISYMOD
(1) :SLENGTH:SEVEN
ﬂ; i HAR:0
(S) tttttttQtttttttt"Q'itt.'.t"ttt'ttt'tt!t'QQ.Q'.QQQQQQQ'Q.QQQ..
52; 006102 000004 t8112:  SCOPE
(3) 006104 052777 000400 173614 BIS #MRESET,@TXCSR ;MASTER RESET
(i) 006112 012777 000000 173685 MOV #1SYMOD,@PARCSR :SET THE MODE
22; 006120 052777 00 1736 BIS #MRESET,@TXCSR ;MASTER RESET
(2) ;SET HAINT DATA.CL BREAK ,EMAINTENANCE MODE
g ; 006126 012777 064001 173572 #MTOATA! CLK 'MINT !BREAK ,@TXCSR
(2) ;SET noos c OF BITS,PARITY SENSE,BLOAD svnc REG
(2) 006134 012777 004000 17;;60 #1SYROD ! SEVEN!NOPAR !0, aPARCSR
(2) 006142 052777 000020 173542 axs psvuscu SRXCSR ;SET svuc ssnncu
(2) :POKE CLK TO GET RECEIVER INTO svucnoxzarxou....
(s) 006150 04577 020000 17355 BIC ICLK.DTXCSR roxe CLK DOWN
(2) 006156 052777 020000 17354 8IS #CLK .@TXCSR CLK UP
(g) :POKE CLK TO GET Locic INTO svnckonszrxou
(5) 00eiss 0es777 920000 173336 BIS  SCLE'BTNCSR  PORE Cik Lo
(f» ooezos 31 703 ?i???? MOV RXDB r.u§ “SET ur roa ERROR MESSAGE
(1) 006204 012700 000000 MOV co.n PECTED
(1) 006210 81 767 1 17;704 MOV "o, :# OF SHIFTS
(1) 006216 012767 000400 173254 MOV 0406 stm :DATA CHAR
(1) 006 ga 004797 01g272 JSR PC ,RPOKE SSHIFT IN THIS CHAR
(1) 105777 173456 TSTB  @RXCSR ;RXDONE ?
(1) 382334 100401 BMI +4
(N 104004 ERROR ‘ DONE SHOULD BE SET
(1) 00624 817701 173452 MOV BUF, i ;ACTUAL
(1) 006244 020001 CMP ao u1 *;COMPARE EXPECTED VS. ACTUAL
(1) 006246 001401 BEQ +4
(1) 006250 104002 ERROR 3 ;RECEIVED DATA DID NOT MATCH
(1) :EXPECTED DATA = CHECK MAINT DATA
513 006252 012767 000011 17 MOV SHI '*ou aecexveg Lgﬁffts
(1) 006265 815767 000400 17§3?s nov 0466 $THPI :DATA CHAR
(1) 006266 004767 010530 JSR RPOKE SSHIFT IN THIS CHAR
(1) NOW SHIFT IN A setouo CHARACTEI uxrnou nsonnc RXDBUF
(1) oooggg 015767 1 gc;s MOV #9. SHIFT :# OF SHIFTS
(1) 006 12767 08 MOV #400,$THP1 :DATA CHAR
(1 ooosog 767 01051 JSR ps RPOKE SSHIFT IN THIS CHAR
(1) 006312 012700 140000 MOV i tooooso.no :EXPECTED DATA PLUS
(1) nxsna OVRRUN
(1) 006 13 17701 173374 MOV XDBUF , ACTUAL
(1) 006 20001 CMP ao R1 COHPAIE "EXP VS. ACT
(1) 006324 001401 BEQ +4
(1) 006326 104002 ERROR 3 ;SPECIFICALLY LOOK AT RXERR &
(1) SOVRRUN BITS...THEY BOTH SHOULD BE SET

B U
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CNDURA.M11  29-0CT-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0042
(1)
8 ::THIS TEST VERIFYS WORD LENGTH SELECT OF THE
SSRECEIVER SECTION,IT USES THE ERROR FLAGS
::TO DETERMINE THAT IT WAS SELECTED CORRECTLY
: : (OVRRUN, RXERR)
+MODE : 1 SYMOD
..LENGTH:;IGHT
:2CHAR:12
. 'tttttt;;ttit.ttitiﬁttttt'tt"ttttt..Qttttttttt.tttttttttiittt'.
006330 000004 TST13: ScoPe
006332 052777 000400 173366 BIS #MRESET,@TXCSR :MASTER RESET
006340 012777 000000 173354 MOV #1SYMOD ,aPARCSR :SET THE MODE
006346 052777 000400 173352 BIS #MRESET,@TXCSR :MASTER RESET

;SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
MOV #MTOATA! CLK !MINT !BREAK,TXCSR

;SET MODE .# OF BITS,PARITY SENSE,.BLOAD SYNC REG
32 MOV #1SYMOD'E1GHT !NOPAR'0,aPARCSR
i4 8IS #SYNSCH.SRXCSR :SET SYNC SEARCH

:POKE CLK TO GET RECEIVER INTO SYNCROIZATION....

22 BIC #CLK,ATXCSR :POKE CLK DOWN
14 BIS #CLK . STXCSR :POKE CLK UP

;POKE CLK TO GET LOGIC INTO SYNCRONIZATION
06 BIC #CLK,STXCSR ;POKE CLK DOWN

006354 012777 064001 173344
006362 012777 006000
006370 052777 000020

1

1
006376 042777 020000 1
006404 052777 020000 1
1

1

006412 042777 020000

8822 0 85 777 o;ggoo 00 BIS #CLK.STXCSR :POKE CLK UP

6 016703 173264 MOV RXDRUF ,R SET UP FOR ERROR MESSAGE

006432 01 000125 MOV o1ss.n6 :EXPECTED

006436 01276 ooooas 172456 MOV #10, . SHIFT :# OF SHIFTS

006444 012767 001252 173026 MOV #1252, $THPY :DATA CHAR

006452 004767 010344 JSR PC,RPOKE SSHIFT IN THIS CHAR

006456 105777 173230 TSTB  @RXCSR :RXDONE ?

006462 100401 8MI . +4

006464 104004 ERROR & :RXDONE SHOULD BE SET

006466 017701 173224 MOV aRXDBUF ,R1 sACTUAL

006472 020001 CMP RO,R1 ;COMPARE EXPECTED VS. ACTUAL

006474 001401 BEQ +4

006476 104002 ERROR 2 :RECEIVED DATA DID NOT MATCH
SEXPECTED DATA = CHECK MAINT DATA
:OR RECEIVER LOGIC

006500 01576? 000015 172414 MOV c1g SHIFT :# OF SHIFTS

006506 012767 001252 172764 MOV #1255, $THP1 :DATA CHAR

006514 004767 010302 JSR PC ,RPOKE SSHIFT IN THIS CHAR

:NOW SHIFT IN A SECOND CHARACTER WITHOUT READING RXDBUF

0065 015767 12 17237 MOV c1g SHIFT :# OF SHIFTS

006526 012767 001252 172744 MOV #1253, $TMPY ‘DATA CHAR

006534 004767 1022 JSR PC ,RPOKE SSHIFT IN THIS CHAR

006540 012700 1401 MOV #140000'125,R0 :EXPECTED DATA PLUS

*RXERR & OVRRUN

006544 017701 173146 MOV aRXDBUF ,R1 SACTUAL

006550 020001 CMP RO.R1 ;COMPARE EXP VS. ACT

006552 1401 BEQ +

006554 104002 ERROR 2 ;SPECIFICALLY LOOK AT RXERR &
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CNDURA.M11  29-0CT=- INITIALIZE THE COMMON TAGS SEQ 0043

(1

8163 ;:THIS TEST VERIFYS WORD LENGTH SELECT OF THE
N SSRECEIVER SECTION,IT USES THE ERROR FLAGS
(1 1570 DETERMINE THAT IT WAS SELECTED CORRECTLY
(1 : : COVRRUN, RXERR)
(1N : SMODE : 1 SYMOD
(1) ::LENGTH:EIGHT
ﬂ; ::CH :25
(S) .Qt'..'.'tttttttt'it'tttitt'ttt.ttttttttitttttttitttttittttﬁt.t
{3 006556 000004 t8114: SCOPE
(3) 006560 052777 000400 173140 BIS #MRESET,3TXCSR :MASTER RESET
(g) 006566 012777 000000 173126 MOV #ISYMOD.3PARCSR :SET THE MODE
52; 006574 052777 000400 173124 BIS #MRESET.@TXCSR :MASTER RESET
(2) :SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
gg; 006602 012777 064001 173116 MOV #MTOATA!CLK'MINT !BREAK,3TXCSR
(2) ;SET MODE ,# OF BITS,PARITY SENSE, lLOAD SYNC REG
(2) 006610 012777 006000 173104 MOV #1SYMOD ! EIGHT 'NOPAR! 0, 3PARCSR
(2) 006616 052777 000020 173066 BIS #SYNSCH.BRXCSR :SET SYNC SEARCH
(2) :POKE CLK TO cef RECEIVER INTO SYNCROIZATION....
(2) 006626 042777 020000 173074 BIC #CLK,3TXCSR .POKE CLK DOWN
(2) 006632 052777 020000 173066 BIS LK. txcsu :POKE CLK UP
(2) :POKE CLK TO GET LOGIC xnro svnciouxzarxou
(2) 006640 042777 020000 173060 BIC #CLK,3TXCSR : POKE CL DOWN
(2) 006646 852777 o;gg 173052 BIS chx atxgsn .Poxs CLK UP
(1) 006654 016703 1 MOV g :SET UP FOR ERROR MESSAGE
(1) 006660 012700 00025 MOV ozs ab :EXPECTED
(1) 006664 012767 000012 172230 MOV SHIFT :# OF SHIFTS
(1) 006672 012767 001524 172600 MOV 01sél 8THP1 ‘DATA CHAR
(1) 006700 004767 010116 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) 006706 105777 173002 TSTB  @RXCSR ;RXDONE ?
(1) 006710 100401 8M] .+
(1) 006712 104004 ERROR 4 ;RXDONE SHOULD BE SET
(1) 006714 017701 172776 MOV aRXDBUF ,R1 s ACTUAL
(1) 006720 020001 CMP RO,R1  ;COMPARE EXPECTED VS. ACTUAL
(1) 006722 001401 BEQ +4
(1) 006724 104002 ERROR 2 ;RECEIVED DATA DID NOT MATCH
(1) SEXPECTED DATA = CHECK MAINT DATA
(1 *OR RECEIVER LOGIC
(1) 006726 012767 000012 wyg MOV 910, ,SHIFT :o SHIFTS
(1) 00673& 012767 001524 1725 MOV c1sél.stnv1 :DATA CHAR
(1) 006742 004767 010054 JSR KE SSHIFT IN THIS CHAR
(1) ;NOW SHIFT IN A sstouo CHARACTER' uxtuour atnoxnc RXDBUF
(1) 006746 013767 000012 17;146 MOV #10, ,SHIFT :# OF SHIFTS
(1) 006754 012767 001552 172516 MOV 01 él Stﬂ?l *DATA CHAR
(1) 762 004767 0100 JSR SSHIFT IN THIS CHAR
(1) 766 012700 140252 MOV o1£oooo-zsz RO :EXPECTED DATA PLUS
(1) -nxena £ OVRRUN
(1) 006772 017701 172720 MOV aRXDBUF , *ACTUAL
(1) 006776 020001 CMP RO, R1 -courans EXP VS. ACT
(1) 007000 001401 BEQ +4
(1) 007002 104002 ERROR é :SPECIFICALLY LOOK AT RXERR &
(1) *OVRRUN BITS...THEY BOTH SHOULD BE SET
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gCM)UR-A MACY11_30(1046) 14=DEC-82 09:58 PAGE 61-30

'CNDURA.M11  29-0CT-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0044
o
. 8164 ;THIS TEST VERIFYS WORD LENGTH SELECT OF THE
S ) ::nscs:ven SECTION,IT USES THE ERROR FLAGS
1 $3T0 DETERMINE THAT IT WAS SELECTED CORRECTLY
LD + 3 (OVRRUN, RXERR)
I (D "mewm
S ¢ b sil E GTH: sxcur
| 3 :: CHAR:
|
' (S) 'Qttt'.'."."..'Q'..Q"Ql’"'.'t'.QQQQQQ.Qtt.ttt"t."t.tt.t.lt
| (& 007004 000004 t6715:  SCOPE
| (3) 007006 052777 000400 172712 8IS #MRESET,ATXCSR ;MASTER RESET
, (;) 007014 012777 000000 172700 MOV #1SYMOD,3PARCSR :SET THE MODE
52; 007022 052777 000400 172676 BIS #MRESET.@TXCSR :MASTER RESET
(2) ;SET MAINT DATA,CLK,BREAK,SMAINTENANCE MODE
i 25; 007030 012777 064001 172670 MOV #MTOATA' CLK 'MINT !BREAK, 3TXCSR
(2) ;SET MODE ,# OF BITS,PARITY SENSE,ELOAD SYNC REG
(2) 007036 012777 006000 172656 MOV #1SYMOD'EIGHT !NOPAR'0,aPARCSR
(2) 007044 052777 000020 172640 BIS #SYNSCH.BRXCSR :SET SYNC SEARCH
(2) :POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
(2) 007052 242777 020000 172646 élc #CLK, arxcsa :POKE CLK DOWN
(2) 007060 052777 020000 172640 BIS #CLK.STXCSR CLK UP
(2) ;POKE CLK TO GET Locic INTO svnckouxzntxou
(2) 007066 042777 020000 172632 BIC #CLK,@TXCSR ; POKE ch DOWN
(2) 007074 852777 0 172624 BIS lCLK.aTx SR :POKE CLK UP
(1) 007102 016703 61 MOV axo;u :SET UP FOR ERROR MESSAGE
(1) 007106 012700 000377 MOV #377,R0 EXPECTED
(1) 007112 012767 000012 172go MOV #10., (SHIFT :# OF SHIFTS
(1) 007120 012767 001776 17235 MOV 11776 $THP1 :DATA CHAR
(1) 007126 004767 007670 JSR PC ,RPOKE SHIFT IN THIS CHAR
(1) 007132 105777 172554 TSTB  @RXCSR ;RXDONE ?
(1) 007136 100401 8MI .+
(1) 007140 104004 ERROR 4 XDONE SHOULD BE SET
(1) 007142 017701 172550 MOV aRXDBUF , i1 + ACTUAL
(1) 007146 020001 CMP RO,R1 ;COMPARE EXPECTED VS. ACTUAL
(1) 007150 001401 BEQ L+
(1) 007152 104002 ERROR 2 ;RECEIVED DATA DID NOT MATCH
(N :EXPECTED DATA = CHECK MAINT DATA
(1) :OR RECEIVER LOGIC
(1) 007154 012767 000012 171740 MOV 9 SHIFT :# OF SHIFTS
(1) 007162 012767 001776 172310 MOV ié $THP1 *DATA CHAR
(1) 007170 004767 007626 JSR pc RPOKE SSHIFT IN THIS CHAR
(1) :NOW SHIFT IN A sstouo CHARACTER’ uxtuour asAolnc RXDBUF
(1) 007174 012767 000012 171720 MOV #10., , SHIFT :# OF SHIFT
(1) 007202 012767 001776 172270 MOV 01776 srnpl SDATA CNAR
(1) 007210 004767 oorgog JSR SSHIFT IN THIS CHAR
(1) 007214 012700 14037 MOV nloooo'm RO :EXPECTED DATA PLUS
(1) nxsna OVRRUN
(1) 007220 017701 172472 MOV aRXDBUF ,R1 CTUAL
(1) 007224 020001 CMP RO,R1 ~;COMPARE' exp VS. ACT
(1) 007553 001401 BEQ 4
(1) 007 104002 ERROR 3 ;SPECIFICALLY LOOK AT RXERR
(1) *OVRRUN BITS...THEY BOTH SHOULD BE SET
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'CNDUR=-A MACY11 30(1046) 14=DEC-82 09:58 PAGE 6131
CNDURA.M11  29-0CT=-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0045

8 WORD LENGTH SELECT OF THE
l} USES THE ERROR FLAGS

|
|
|
|
| T WAS SELECTED CORRECTLY
|

|

o0
SRRARAANAAAANREAAARGETERNACACRCRRAAERRAAARAAAASACAARCAAAGOAASASCCRSES

007232 000004 T§T16: SCOPE

007234 052777 000400 wyu BIS #MRESET,@TXCSR :MASTER RESET
007242 012777 000000 172452 MOV #1SYMOD,@PARCSR :SET THE MODE
007250 052777 000400 172450 BIS #MRESET,@TXCSR :MASTER RESET

:SET MAINT DAT\,CLK,BREAK,EMAINTENANCE MODE
MOV #MTDATA! CLK'MINT 'BREAK,3TXCSR

sSET noogoﬁc OF BITS,PARITY SENSE,.CELOAD SYNC REG

007256 012777 064001 172442

007264 012777 006000 172430 #1SYMOD ' E IGHT !NOPAR ' 0, aPARCSR
007272 052777 000020 172412 BIS #SYNSCH.SRXCSR :SET SYNC SEARCH
:POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
007300 042777 020000 172420 BIC #CLK,3TXCSR ;POKE CLK DOWN
007306 052777 020000 172412 BIS #CLK.TXCSR :POKE CLK UP
:POKE CLK TO GET LOGIC INTO SYNCRONIZATION
007314 042777 020000 172404 BIC #CLK,ITXCSR :POKE CLK DOWN
852777 ?;ggog 172376 BIS octx.arxgsa :POKE CLK UP
16703 3 MOV RXDBUF ,R SET UP FOR ERROR MESSAGE
007334 012700 000000 MOV #0,RO ~ ;EXPECTE
007340 012767 000012 171554 MOV 0., SHIFT :# OF SHIFTS
007346 012767 001000 172124 MOV #1000, $THP1 :DATA CHAR
007354 004767 007442 JSR PC,RPOKE *SHIFT IN THIS CHAR
007360 105777 172326 TSTB  @RXCSR ;RXDONE ?
007364 100401 BM] .
007366 104004 ERROR & :RXDONE SHOULD BE SET
007370 017701 172322 MOV aRXDBUF , R1 s ACTUAL
007374 020001 CMP RO,R1 ;COMPARE EXPECTED VS. ACTUAL
007376 001401 BEQ +
007400 104002 ERROR 2 :RECEIVED DATA DID NOT MATCH
:EXPECTED DATA = CHECK MAINT DATA
:OR RECEIVER LOGIC
007402 012767 000012 171515 MoV 010, ,SHIFT :# OF SHIFTS
17206 MOV #1000, $THP1 :DATA CHAR

0076410 012767 001000
007416 004767 007400 JSR PC,RPOKE SSHIFT IN THIS CHAR
:NOW sux;;vln A SECOND CHARACTER WITHOUT READING RXDBUF

#10, , SHIFT :# OF SHIFTS
#1000,

007430 012767 001000 17204 MOV TP :DATA CHAR

007436 004767 007360 JSR PC . RPOKE SSHIFT IN THIS CHAR

007442 012700 140000 MOV #140000'0,R0  :EXPECTED DATA PLUS
:RXERR § OVRRUN

007446 017701 172244 MOV aRXDBUF ,R1 ACTUAL

007452 020001 CMP RO,R1  ;COMPARE EXP VS. ACT

007454 001401 BEQ 4

007456 104002 ERROR 2 ;SPECIFICALLY LOOK AT RXERR
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sOVRRUN BITS...THEY BOTH SHOULD BE SET
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CNDUR=-A MACY11_30(1046) 14=-DEC-82 09:58 PAGE 61-32

CNDURA.M11  29-0CT=82 16:31 INITIALIZE THE COMMON TAGS SEQ 0046
R}
| 8166 ::THIS TEST VERIFYS WORD LENGTH SELECT OF THE
C}) SSRECEIVER SECTION,IT USES THE ERROR FLAGS
(1N ;370 DETERMINE THAT IT WAS SELECTED CORRECTLY
(1) : ; (OVRRUN, RXERR)
(1 : SMODE : SYNEXT
N :SLENGTH:F IVE
E}; ::CHAR: 25
(S) 'Q'.'t'.t".tttt'"t""t.".".'t..t'.'.."'.t'.0"00'.0"."'
(4) 007460 000004 t§117:  Scope
-
(3) 007462 052777 000400 172236 BIS #MRESET,@TXCSR  :MASTER RESET
(2) 007470 012777 020000 172224 MOV #SYNEXT,3PARCSR :SET THE MODE
gg 007476 052777 000400 172222 BIS #MRESET,@TXCSR :MASTER RESET
(2) ;SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
53; 007504 012777 064001 172214 MOV #MTDATA! CLK'MINT !BREAK,3TXCSR
(2) :SET MODE ,# OF BITS,PARITY SENSE.BLOAD SYNC REG -
(2) 007512 012777 020000 172202 MOV #SYNEXT!F IVE 'NOPAR ' 0, aPARCSR
(1) 007520 052777 000020 172164 BIS #SYNSCH, @RXCSR :SET SEARCH SYNC
(2) :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(2) 007526 042777 020000 172172 BIC #CLK,ITXCSR : POKE ch DOWN
(20 007534 052777 020000 172164 BIS ach.atxcsn :POKE CLK UP
(1) 007542 016703 172150 MOV XDBUF ,R3 SET UP FOR ERROR MESSAGE
(1) 007546 012700 000025 MOV c;s ao xpecreb
(1) 00755 81 767 5 171345 MOV :# OF SHIFTS
(1) 0075 12767 5 17171 MOV 325 stnp1 *DATA CHAR
(1) 0075 004797 007230 JSR C ,RPOKE SSHIFT IN THIS CHAR
(1) 007572 105777 172114 1ST8 aaxcsn ;RXDONE ?
(1) 007576 100401 B8M] . +4
(1) 007600 104004 ERROR & XDONE suoumo BE SET
(1) 007602 017701 172110 MOV SRXDBUF , i1 ACTUAL
(1) 007606 020001 CMP RO,R1 “;COMPARE EXPECTED VS. ACTUAL
(1) 007610 001401 BEQ .ol
(1) 007612 104002 ERROR 2 ;RECEIVED DATA DID NOT MATCH
(1) SEXPECTED DATA = CHECK MAINT DATA
(1 :OR RECEIVER LOGIC
(1) 007614 012767 00 171300 MOV #5 SHIFT :# OF SHIFTS
(1) 007622 012767 000025 171650 MOV azS.stnp1 :DATA CHAR
(1) 007630 004767 007166 JSR PC ,RPOKE SSHIFT IN THIS CHAR
(1) ;NOW SHIFT IN A s COND CHARACTER JltNOUT READING RXDBUF
(1) 007634 012767 5 171260 MOV SHIFT # OF SHIFTS
(1) 007642 012767 000025 171630 MOV ozi $THP1 DATA CHAR
(1) 007650 004767 007146 JSR PC ,RPOKE SSHIFT IN THIS CHAR
(1) 007656 012700 140025 MOV #140000'25,R0  :EXPECTED DATA PLUS
(1) :RXERR & OVRRUN
(1) 007660 017701 172032 MOV anxoaur R1 s ACTUAL
(1) 007664 020001 CMP RO.R1  ;COMPARE EXP VS. ACT
(1) 007666 001401 BEQ 4
(1) 007670 104002 ERROR 2 ;SPECIFICALLY LOOK AT RXERR §
5}; SOVRRUN BITS...THEY BOTH SHOULD BE SET
8167 ::THIS TEST VERiFYS WORD LENGTH SELECT OF THE
(1) S:RECEIVER SECTION,1T USES THE ERROR FLAGS
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() ::70 DETERMINE THAT IT WAS SELECTED CORRECTLY

(1) : (OVRRUN, RXERR)

(1) ..noos SYNEXT

(1) :SLENGTH:FIVE

g}; :sCHAR:12

(S) Qt.'t.t'..Q.'Q.QQQQQ'Q.'Q'Q"'QQ.Q"Q"QQ'CQQ..Q'QQ'Q.QQ..Q..'Q

g:; 007672 000004 t§720: SCOPE

(3) 007674 052777 000400 172024 BIS #MRESET,@TXCSR :;MASTER RESET

(i) 007702 012777 020000 172012 MOV #SYNEXT,BPARCSR :SET THE MODE

52; 007710 052777 000400 172010 BIS #MRESET.@TXCSR :MASTER RESET

(2) :SET MAINT DATA,CLK,BREAY,SMAINTENANCE MODE

g;; 007716 012777 064001 172002 MOV #MTDATA! CLK 'MINT !BREAK,@TXCSR

(2) :SET MODE .# OF BITS,PARITY SENSE tboao svuc REG

(2) 007726 012777 020000 171770 MoV #SYNEXT'F IVE | NOPAR

(1) 007732 052777 000020 171752 BIS #SYNSCH,ARXCSR ;SET SEARCH SYNC

(g) ;POKE CLK TO GET LOGIC INTO SYNCRONIZATION

(2) 007740 042777 020000 171760 BIC #CLK,ITXCSR : POKE CLK DOWN

(2) 007746 052777 020000 171752 8IS nch.arxcsn :POKE CLK UP

(1) 00775« 016703 171736 MOV RXDBUF ,R3 -SET ur roa ERROR MESSAGE

(1) 007760 015709 000012 MOV 012 no ;EXPECTED

(1) 007764 012767 000005 171130 MOV IFT :# OF SHIFTS

(1) 007772 012267 000012 171500 MOV 012 srn-s *DATA CHAR

(1) 010000 004767 007016 JSR PC,RPOKE SSHIFT IN THIS CHAR

(1) 810004 105777 171702 TSTB  @RXCSR :RXDONE ?

(1) 010010 100401 BM] .+

(1) 010012 104004 ERROR & : RXDONE SHOULD BE SET

(1) 010014 017701 171676 MOV aRXDBUF ,R1 CTUAL

(1) 010020 020001 CMP RO.R1  ;COMPARE’ EXPECTED VS. ACTUAL

(1) 010022 001401 BEQ ol

(1) 010026 104002 ERROR 2 ;RECEIVED DATA DID NOT MATCH

(1 :EXPECTED DATA = CHECK MAINT DATA

1 :OR RECEIVER LOGIC

(1) 010026 012767 000005 171032 MOV #5,SHIFT :# OF SHIFTS

(1) 010034 012767 000012 1714 MOV 012 $THP1 :DATA CHAR

(1) 010042 004767 006754 JSR C . RPOKE SSHIFT IN THIS CHAR

(1 :NOW SHIFT IN A secono cuanacren WITHOUT READING RXDBUF

(1) 010046 012767 000005 171046 MOV SHIFT :# OF SHIFTS

(1) 010056 012767 000012 171416 MOV 012 :rnr1 *DATA CHAR

(1) 010062 767 006734 JSR C.RPOK SSHIFT IN THIS CHAR

(1) 010066 012700 140012 MOV nloooowz RO :EXPECTED DATA PLUS

(1) nxsnn & OVRRUN

(1) 010072 017701 171620 MOV aRXDBUF ,R1 * ACTUAL

(1) 010076 020001 CMP RO.R1  ;COMPARE EXP VS. ACT

(1) 010100 001401 BEQ +4

(1) 010102 104002 ERROR 2 sSPECIFICALLY LOOK AT RXERR §
8168 ::THIS TEST VERIFYS WORD LENGTH SELECT OF THE

(1) ..necexveu SECTION,IT USES THE ERROR FLAGS

(1) 0 DETERMINE tuAf 1T WAS SELECTED CORRE(TLV

(1 ..(OVkRUN.leRI: .

1M :MODE : SYNEXT
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sOVRRUN BITS...THEY BOTH SHOULD BE SET

| CNDURA . M11 INITIALIZE THE COMMON TAGS SEQ 0048
LM s sLENGTH:F IVE
| g}; i CHAR:37
]
(S) tttt.ttt't'it.t."i.i".".'tt..t'.'.."0.'00.0'...0' (123222222
52; 010104 000004 $8121:  SCOPE
(3) 010106 052777 000400 171612 BIS #MRESET,@TXCSR  :MASTER RESET
(2) 010114 012777 020000 171600 MOV #SYNEXT,SPARCSR :SET THE MODE
2 ; 010122 052777 000400 171576 BIS #MRESET.QTXCSR :MASTER RESET
(5) ;SET MAINT DATA,CLK,BREAK,SMAINTENANCE MODE
gg; 010130 012777 064001 171570 MOV #MTOATA!CLK !MINT 'BREAK,@TXCSR
(2) :SET MODE .# OF BITS,PARITY SENSE,.BLOAD SYNC REG
(2) 010136 012777 020000 171556 MOV #SYNEXT!F IVE 'NOPAR ' 0, aPARCSR
(1) 010144 052777 000020 171540 BIS #SYNSCH.ARXCSR :SET SEARCH SYNC
(5) ;POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(2) 010152 042777 020000 171546 BIC #CLK,ITXCSR ;POKE CLK DOWN
(2) 010160 052777 o;oooo 171540 BIS chx athSl :POKE CLK UP
(1) 010166 0-6703 171524 MOV R3 :SET UP FOR ERROR MESSAGE
(1) 010172 012700 000037 MOV 037 no ;EXPECTED
(1) 010126 012767 000005 170716 MOV 5 SHIFT :# OF SHIFTS
(1) 010206 012767 000037 171266 MOV os?.stnp1 :DATA CHAR
(1) 010212 004767 006604 JSR ¢ .RPOKE SSHIFT IN THIS CHAR
(N 010213 105777 171470 1s18 anxcsu ;RXDONE ?
(1) 010222 100401 8MI Y
(1) 010224 104004 ERROR & - RXDONE SHOULD BE SET
(1) o1o§§$ 17701 171464 . MOV @RXDBUF , R1 CTUAL
(1) 010 20001 CMP RO.R1 ;COMPARE’ EXPECtED VS. ACTUAL
(1) 010236 001401 BEQ +l
(1) 010236 104002 ERROR ;RECEIVED DATA DID NOT MATCH
(1) :EXPECTED DATA = CHECK MAINT DATA
%3] :OR RECEIVER LOGIC
(1) 010240 012767 000005 170654 MOV #5,SHIFT :# OF SHIFTS
(1) 010246 012767 000037 171224 nov #37.,$TMP1 -oarn CHAR
(1) 010256 004767 006542 JSR PC,RPOKE SHIFT IN THIS CHAR
1) :NOW SHIFT IN A secono CHARAC!EI uxruour READING RXDBUF
(1) 010260 012767 000005 170334 MOV HIFT F SHIFTS
(1) 010266 012767 000037 171204 MOV 037 srnp1 °DA!A CHAR
(1) 010276 004767 006522 JSR SSHIFT IN THIS CHAR
(1) 010300 012700 140037 MOV nloooo'sr RO :EXPECTED DATA PLUS
(1 nxean £ OVRRUN
(1) 010306 017701 171406 MOV aRXDBUF ,R1 :ACTUAL
(1) 010310 020001 CMP RO.R1 :COMPARE EXP VS. ACT
(1) 010312 001401 BEQ +4
g}; 010314 104002 ERROR 2 sSPECIFICALLY LOOK AT RXERR &
(1)
8169 ::THIS TEST VERIFYS WORD LENGTH SELECT OF THE

(1) *SRECEIVER SECTION,IT USES THE ERROR FLAGS

(1 2370 DETERMINE THAT IT WAS SELECTED CORRECTLY

(1) :: (OVRRUN, RXERR)

(1) 2 sMODE : SVNEXY

(1) S:LENGTH:F IVE

g}; ooc AR:O
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CNDURA.M11  29-0CT-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0049
(S) 2212233313312 3232332322323233322322323232323232333323333232332323223232323232323233]]
52; 010316 000004 t8122:  SCOPE
(3) 010320 052777 000400 171400 BIS #MRESET,3TXCSR :MASTER RESET
<§> 010326 012777 020000 171366 MOV #SYNEXT.@PARCSR :SET THE MODE
gzg 01033¢ 052777 000400 171364 BIS #MRESET.3TXCSR :MASTER RESET
(2) :SET MAINT DATA,CLK,BREAK,BMAINTENANCE MODE
55; 010342 012777 064001 171356 MOV #MTOATA! CLK 'MINT 'BREAK ,@TXCSR
(2) :SET MODE ,# OF BITS,PARITY SENSE,ELOAD SYNC REG
(2) 010350 012777 020000 171344 MOV #SYNEXT!FIVE 'NOPAR'0,3PARCSR
(1) 010356 052777 000020 171326 BIS #SYNSCH.SRXCSR :SET SEARCH SYNC
(2) :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(2) 010364 042777 020000 171334 BIC #CLK,@TXCSR :POKE CLK DOWN
(2) 010372 052777 020000 171326 BIS #CLK .@TXCSR *POKE CLK UP
(1) 010400 016703 171312 MOV RXDBUF ,R3 *SET UP FOR ERROR MESSAGE
(1) 010406 012700 000000 MOV mno sEXPECTED
(1) 010410 012767 000005 170504 MOV #S.SHIFT :# OF SHIFTS
(1) 010416 012767 000000 171054 MOV lO.S!H&I :DATA CHAR
(1 010453 004767 006372 JSR PC . RPOKE ssuxrr IN THIS CHAR
(1) 010430 105777 171256 TSTB  @RXCSR ;RXDONE
(1) 010436 100401 BMI .+
(1) 010436 104004 ERROR & ;RXDONE SHOULD BE SET
(1) 010640 017701 171252 MOV aRXDBUF ,R1 ACTUAL
(1) 010444 020001 CMP RO.R1  ;COMPARE EXPECTED VS. ACTUAL
(1) 010446 001401 BEQ +4
(1) 010450 104002 ERROR é ;RECEIVED DATA DID NOT MATCH
(1) SEXPECTED DATA = CHECK MAINT LATA
(1) :OR RECEIVER LOGIC
(1) 010452 012767 000005 17044% MOV #5,SHIFT :# OF SHIFTS
(1) 010460 012767 000000 17101 MOV #0.$THP1 :DATA CHAR
(1) 010466 004767 006330 JSR PC ,RPOKE SSHIFT IN THIS CHAR
(1) :NOW SHIFT IN A s COND CHARACTER' WITHOUT READING RXDBUF
(1) 010472 012767 000005 170422 MOV LSHIFT Y or SHIFTS
(1) 010500 012767 000000 170772 MOV co stnp1 :DATA CHAR
(1) 010503 004767 006310 JSR SSHIFT IN THIS CHAR
(1) 010512 012700 140000 MOV ntoooo'o RO .exmreo DATA PLUS
(1) xe R & OVRRUN
(1) 010513 017701 171174 MOV aRXDBUF ,R1 ACTUAL
(1) 010522 020001 CMP RO.R1  °:COMPARE EXP VS. ACT
(1) 010524 001401 BEQ 4
(1) 010526 104002 ERROR 2 sSPECIFICALLY LOOK AT RXERR B
s:; *OVRRUN BITS...THEY BOTH SHOULD BE SET

8170 ::THIS TEST VERIFYS WORD LENGTH SELECT OF THE
(1) SSRECEIVER SECTION,IT USES THE ERROR FLAGS
(1 *:TO DETERMINE THAT IT WAS SELECTED CORRECTLY
%) +: (OVRRUN, RXERR)
(1) 22MODE:SYNEXT
(1) S SLENGTH:SIX
5;; 5 CHAR:25
(S) . 'tt'tit:‘t'.t!!t'!""'t."Q"t'.t!.t..tttt!ttt'tt'ttt.t'.".t'.
:2; 010530 000004 TS123: score
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(3) 010532 052777 000400 171166 BIS #MRESET,3TXCSR :MASTER RESET
(g) 010540 015777 020000 171154 MOV #SYNEXT.3PARCSR :SET THE MODE
gzg 010546 052777 000400 171152 8IS #MRESET.TXCSR :MASTER RESET
(2) :SET na:nr DA A,CLK,BREAK,BMAINTENANCE MODE
gg; 010554 012777 064001 171144 #MTOATA! CLK'MINT 'BREAK,3TXCSR
(2) ;SET MODE .# OF BITS,PARLTY SENSE.ZLOAD SYNC REG
(2) 010562 012777 022000 171132 MOV #SYNEXT!SIX!NOPAR!O,3PARCSR
(1) 010570 052777 000020 171114 BIS #SYNSCH. SRXCSR :SET SEARCH SYNC
(2) ;POKE CLK TO GET LOGIC INTO SYNCAONIZATION
(2) 010576 042777 020000 171122 BIC #CLK,3TXCSR :POKE CLK DOWN
(2) 010604 052777 020000 171114 8IS ach.arxcsn :POKE CLK UP
(1) 010612 016703 171100 MOV 3 :SET UP FOR ERROR MESSAGE
(1) 010616 012700 000025 MOV azs no :EXPECTED
(1) 010622 012767 000006 170272 MOV #6,SHIFT’ :# OF SHIFTS
(1) 010630 012767 000025 170642 MOV nzs.srnp1 :DATA CHAR
(1) 010636 004767 006160 JSR PC ,RPOKE SSHIFT IN THIS CHAR
(1) 010642 105777 171044 TSTB  @RXCSR ;RXDONE ?
(1) 010646 100401 BMI .+
(1) 010650 104004 ERROR & :RXDONE SHOULD BE SET
(1) 010652 017701 171040 MOV aRXDBUF ,R1 sACTUAL
(1) 010656 020001 CMP RO,R1 ";COMPARE”EXPECTED VS. ACTUAL
(1) 010660 001401 BEQ
(1) 010662 104002 ERROR 2 ;RECEIVED DATA DID NOT MATCH
(1) ;EXPECTED DATA = CHECK MAINT DATA
513 1 12767 00 170230 MOV & °' "“‘!‘8 Lgcfcrs
(1) 8106 2 815767 008832 170600 MOV 35 8!!91 :DATA CHAR
(1) 010700 004767 006116 JSR RPOKE SSHIFT IN THIS CHAR
(1) :NOW SHIFT IN A sscouo CHARACTER WITHOUT READING RXDBUF
(1) 010704 012767 000006 170210 MOV HIFT :# OF SHIFTS
(1) 010712 012767 000025 170560 MOV 0 5.STHP1 :DATA CHAR
(1) 010720 004767 006076 JSR PC ,RPOKE SSHIFT IN THIS CHAR
(1) 010726 012700 140025 MOV c1£oooo'zs RO :EXPECTED DATA PLUS
(1 -nxsan £ OVRRUN
(1) 010730 017701 170762 MOV aRXDBUF ,R1
(1) 010734 020001 CMP ao n1 * s COMPARE’ exp vs. ACT
(1) 010736 001401 BEQ .+
(1) 010740 104002 ERROR 2 sSPECIFICALLY LOOK AT RXERR &
g}; *OVRRUN BITS...THEY BOTH SHOULD BE SET

8171 ;:THIS TEST VERIFYS WORD LENGTH SELECT OF THE
(N “SRECEIVER SECTION,IT USES THE ERROR FLAGS
(1 ::TO DETERMINE THAT IT WAS SELECTED CORRECTLY
(1 + : (OVRRUN, RXERR)
(1 * SMODE : SYNEXT
(1 S SLENGTH:SIX
s}; 5 CHAR:
(S) 'tttttt't.tt.t't't"tt'.""itttttt'ttt'tt..tt.t't!'t.t"it."t
gz; 0107642 000004 t6724:  SCOPE
(3) 010744 35 777 000400 170754 BIS #MRESET,ATXCSR ;MASTER RESET
(g) 10752 012777 020000 17074 MOV #SYNEXT.BPARCSR :SET THE MODE
(3) 010760 052777 000400 17074 BIS #MRESET.3TXCSR :MASTER RESET
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INITIALIZE THE COMMON TAGS

29-0CT-82 16:31

000006
000052
005704

000006
000052
005664
140052

170550

000400
020000
000400

064001

170732

170016
170366

167776
170346

170520

:SET MAINT DATA,CLK,BREAK,SMAINTENANCE MODE
MOV #MTDATA! CLK'MINT 'BREAK ,@TXCSR
;SET noos c GF BITS,PARITY SENSE ILOAD SYNC REG
#SYNEXT 'SIX'NOPAR aPARCSR
axs #SYNSCH.ARXCSR :SET SEARCH SYNC
:POKE CLK TO GET LOGIC INTO svnchoanArxou
BIC #CLK,aTXCSR ;POKE CLK ooun

BIS #CLK.ITXCSR :POKE CLK UP
MOV RXDBUF ,R3 *SET UP FOR ERROR MESSAGE
MOV osz ao 0 ;EXPECTED

MOV 4 OF suxrrs
MOV wsé.stnp1 :DATA CHA

JSR PC , RPOKE “SHIFT 1n THIS CHAR

;g}e aRXCSR ;RXDONE ?

ERROR 4 - RXDONE SHOULD BE SET

MOV aaxoau 1 ;ACTUAL

gg: *LR1 : COMPARE expecreo VS. ACTUAL
ERROR ;RECEIVED DATA DID NOT MATCH

sEXPECTED DATA = CHECK MAINT DATA
:OR RECEIVER LOGIC

MOV #6,SHIFT' :# OF SHIFTS

MOV #52,8THPY :DATA CHAR

JSR PC, RPOKE SSHIFT IN THIS CHAR
:NOW SHIFT IN A secouo CHARACTER” WITHOUT READING RXDBUF

MOV SHIFT OF SHIFTS

MOV csé.stnp1 iDATA CHAR

JSR SSHIFT IN THIS CHAR

MOV c1loooo'sz RO expscreo DATA PLUS

:RXERR & OVRRUN
MOV anxoaur R1 ACTUAL
ggs REL : COMPARE  EXP vs. ACT
ERROR 2 ;SPECIFICALLY LOOK AT RXERR &
:OVRRUN BITS...THEY BOTH SHOULD BE SET

sTHIS TEST VERIFYS WORD LENGTH SELECT OF THE
..RECEIVER SECTION,IT USES THE ERROR FLAGS
::T0 DETERMINE THAT IT WAS SELECTED CORRECTLY
2 ; (OVRRUN,RXERR)
: ;MODE : SYNEXT
s sLENGTH:SIX
..CHAR 77

tttttﬁtttlttt't"tt't'tt'tt't"tttt.ﬁttitttttttitttt"ttitlttt.

t§r25:

SCOPE

BIS #MRESET ,@TXCSR ;MASTER RESET
MoV #SYNEXT ,aPARCSR ;SET THE MODE
BIS #MRESET ,@TXCSR ;MASTER RESET

sSET HAI:; DATA,CLK ,BREAK ,EMAINTENANCE MODE

#MTOATA!CLK'MINT !BREAK,@TXCSR

SEQ 0051
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2)
(2) ;SET MODE .# OF BITS,PARITY SENSE.ZLOAD SYNC REG
(2) 011206 012777 022000 170506 MOV #SYNEXT!SIX!NOPAR0,aPARCSR
(1) 011214 052777 000020 170470 BIS _ WSYNSCH,RXCSR ;SET SEARCH SYNC
(2) ;POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(2) 011222 042777 020000 170476 BIC #CLK,ITXCSR ;POKE CLK DOWN
(2) 011230 052777 0620000 170470 BIS #CLK.ATXCSR :POKE CLK UP
N 011233 016703 1704564 MOV RXDBUF ,R3 SET UP FOR ERROR MESSAGE
(1) 011242 012700 000077 oV #77.R0° ;EXPECTED
(1) 011246 012767 ooooog 167646 MOV #6,SHIFT :# OF SHIFTS
(1) 011256 012767 000077 170216 MOV #77,8THP1 :DATA CHAR
(1) 011262 004767 005534 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1 011263 105777 170420 TSTB  @RXCSR ;RXDONE ?
(1) 011272 100401 BMI .+
(1) 011274 104004 ERROR 4 -RXDONE SHOULD BE SET
(1) 011276 017701 170414 MOV aRXDBUF , R1 :ACTUAL
(1) 011302 020001 CMP RO.R1  :COMPARE EXPECTED VS. ACTUAL
(1) 011304 001401 BEQ YA
(1) 011306 104002 ERROR 2 :RECEIVED DATA DID NOT MATCH
N :EXPECTED DATA = CHECK MAINT DATA
(1) *OR RECEIVER LOGIC
(1) 011310 012767 000006 167604 MOV #6,SHIFT :# OF SHIFTS
(1) 011316 012767 000077 170154 MOV #77,8TMP1 :DATA CHAR
(1) 011324 004767 005472 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1N :NOW SHIFT IN A SECOND CHARACTER WITHOUT READING RXDBUF
(1) 011330 012767 000006 167564 MOV #6,SHIFT ;# OF SHIFTS
(1) 011336 012767 000077 170134 MOV #77,8TMP1 :DATA CHAR
(1) 811;44 004767 00545 JSR PC, RPOKE SSHIFT IN THIS CHAR
(1) 011350 012700 14007 MOV #140000'77,R0  :EXPECTED DATA PLUS
(1) :RXERR & OVRRUN
(1) 011354 017701 170336 MOV aRXDBUF ,R1 *ACTUAL
(1) 011360 020001 CMP RO,R1 :COMPARE EXP VS. ACT
(1) 011362 001401 BEQ .+
(1) 011364 104002 ERROR 2 :SPECIFICALLY LOOK AT RXERR &
g}; : SOVRRUN BITS...THEY BOTH SHOULD BE SET
8173 ::THIS TEST VERIFYS WORD LENGTH SELECT OF THE
(1M SSRECEIVER SECTION,IT USES THE ERROR FLAGS
(1 ::T0 DETERMINE THAT IT WAS SELECTED CORRECTLY
(1) : : (OVRRUN, RXERR)
(1 3 SMODE : SYNEXT
(1 :SLENGTH:SIX
ﬂ; ::CHAR:0
(S) -:ittttt;;titttttt*tt*tittttttttttttttttttitttttttttttttttitttitt
gz; 011366 000004 7S126: SCOPE
(3) 011370 052777 000400 170330 BIS #MRESET,@TXCSR :MASTER RESET
(2) 011376 012777 020000 170316 MOV #SYNEXT.@PARCSR :SET THE MODE
53; 011404 052777 000400 170314 BIS #MRESET.TXCSR :MASTER RESET
(2) :SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
55; 011412 012777 064001 170306 MOV #MTOATA! CLK'MINT 'BREAK,aTXCSR
(g) ;SET MODE .# OF BITS,PARITY SENSE.ELOAD SYNC REG
(2) 011420 012777 022000 170274 MOV #SYNEXT!SIX!NOPAR!0,3PARCSR
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16:31 INITIALIZE THE C

000020 170256 BIS

:POKE CLK TO GET'

sggggg g g

MOV #0,.R :sxpecreb
167434 MOV 0 "SHIFT ;¥ OF SHIFTS
oog 170004 MOV #0.$THP1 :DATA CHAR
JSR PC . RPOKE SSHIFT IN THIS CHAR
170206 ;:Ia agzcsn ;RXDONE ?
ERROR 4 :RXDONE SHOULD BE SET
170202 MOV XDBUF ,R1 sACTUAL
gg: “2;“‘ ; COMPARE EXPECTED VS. ACTUAL
ERROR 2 ;RECEIVED DATA DID NOT MATCH
SEXPECTED DATA = CHECK MAINT DATA
.on RECEIVER LOGIC
16737 MOV cs LSHIFT ;¥ OF SHIFTS
000 16774 MOV .$THP1 :DATA CHAR
5260 JSR KE SSHIFT IN THIS CHAR
;NOW SHIFT IN A sséono cnnnncrsu WITHOUT nenoxuc RXDBUF
16735 MOV LSHIFT :# OF SHIFTS
16772 MOV srnp1 :DATA CHAR
5240 JSR SSHIFT IN THIS CMAR
MOV o1loooo'o RO  EXPECTED DATA PLUS
uxsna OVRRUN
170124 MOV gu
gg: no R .conruue sxr VS. ACT
ERROR é ;SPECIFICALLY LOOK AT RXERR &
‘OVRRUN BITS...THEY BOTH SHOULD BE SET
::THIS TEST VERIFYS WORD LENGTM SELECT OF THME
..nece:ven SECTION,IT USES THE ERROR FLAGS
:TO DETERMINE THAT IT WAS SELECTED CORRECTLY

B 5
OMMON TAGS

#SYNSCH,ARXCSR ser senacu SYNC
LOGIC into SYNCRON
LK °POKE ch DOWN
OCLK.OIXSSR *POKE CLK UP

RXDB LSET uv FOR ERROR MESSAGE

; COVRRUN, RXERR)
..HODE SYNEXT

QQttQ'Q.t.t.....'.Q"Q’Q'Q'QQ'.".Q.'..Q.QQQQQ..QQ'.Q"...'Q..Q

t8127: scope

e B
17 183 8IS
sSET MAINT DATA,

064001 170074 MOV

024 17
0508?8 17 8IS
sPOKE CLK TO GET

020000 170052 8IC

;SET MODE ,# OF
MOV

..LENGTN gEVEN

#MRESET,@TXCSR ;MASTER RESET
#SYNEXT,@PARCSR ;SET TME MODE
#MRESET,@TXCSR ;MASTER RESET

CLK,BREAK, BMAINTENANCE noog
#MTOATA! CLK 'MINT !BREAK ,@TXCSR

BITS PARITY SENSE =§8Ao SYNC REG

#SYNEXT! SEVEN'!NOPA CSR

#SYNSCH, @RXCSR ;SET Sgaacu SYNC
LOGIC INTO SYNCRONI

#CLK,3TXCSR :POKE CLK DOWN

SEQ 0053
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CNDURA.M11 16:31 INITIALIZE THE COMMON TAGS SEQ 0054
(gx 11656 05277 ?; 170044 BIS oCLx.atxgsn :POKE CLK UP
(1) 011662 01670 MOV nxggur R *SET UP FOR ERROR MESSAGE
(1) 0N 127 01 MOV #125,R0 ;EXPECTED
(1) 119 1276 127§;5 MOV #7,SHIFT :# OF SHIFTS
(1) 0N 12767 125 167 MOV #125,8THP1 ‘DATA CHAR
(1) 11703 797 005110 JSR PC, RPOKE “SHIFT IN THIS CHAR
(1) 011712 105777 167774 TSTB  @RXCSR ;RXDONE ?
(1) 011716 100401 BMI . +4
(1) 011720 104 ERROR & :RXDONE SHOULD BE SET
(1 0117 17701 167770 MOV aRXDBUF , R1 sACTUAL
(1 0117 0001 CMP RO,R1 ;COMPARE EXPECTED VS. ACTUAL
(1 0117 1401 BEQ .+
(1) 011732 104002 ERROR 2 ;RECEIVED DATA DID NOT MATCH
(1) SEXPECTED DATA = CHECK MAINT DATA
(1) :OR RECEIVER LOGIC
(1) 01173% 012767 880 7 1671?0 MOV #7,SHIFT :# OF SHIFTS
(1) 011762 012767 125 167530 MOV #125,8THPY :DATA CHAR
(1) 011750 004767 005046 JSR PC , RPOKE SSHIFT IN THIS CHAR
(1) :NOW SHIFT IN A s;éono CHARACTER WITHOUT READING RXDBUF
(1) 011754 81 767 000007 167140 MOV it gunrr :# OF SHIFTS
(1) 011762 012767 000125 167510 MOV #1285, $THP1 :DATA CHAR
(1) 011770 004767 oosozg JSR PC , RPOKE SSHIFT IN THIS CHAR
(1) 0117764 012700 14012 MOV #1400001125,R0 :EXPECTED DATA PLUS
(1) *RXERR & OVRRUN
(1) 012000 017701 167712 MOV aRXDBUF ,R1 *ACTUAL
(1) 012006 020001 CMP RO,R1  :COMPARE EXP VS. ACT
(1) 012006 001401 BEQ +4
(1) 012010 104002 ERROR 2 ;SPECIFICALLY LOOK AT RXERR &
g}; SOVRRUN BITS...THEY BOTH SHOULD BE SET
8175 ;:THIS TEST VERIFYS WORD LENGTH SELECT OF THE
(1 S RECEIVER SECTION,IT USES THE ERROR FLAGS
(1) 2370 DETERMINE THAT IT WAS SELECTED CORRECTLY
(1) 2 s (OVRRUN,RXERR)
(1) 2 2MODE : SYNEXT
(1) ::LENGTH:SEVEN
il -
(S) . ttitit;;ttttttttttitttt'ti'i'.t.'tﬁtt'ttt.t!t!tt'."t"!'t.!'..
52; 012012 000004 TST30: SCOPE
(3) 012014 052777 000400 167704 BIS #MRESET,@TXCSR ;MASTER RESET
(;) 012022 012777 020000 16767 MOV #SYNEXT.SPARCSR :SET THE MODE
g ; 012030 052777 000400 16767 BIS #MRESET.@TXCSR :MASTER RESET
(2) :SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
g ; 012036 012777 064001 167662 MOV #MTDATA! CLK 'MINT 'BREAK,@TXCSR
(2) :SET MODE ,# OF BITS,PARITY SENSE,ELOAD SYNC REG
(2) 012044 012777 024000 1orasg MOV #SYNEXT ! SEVEN'NOPAR !0, aPARCSR
(1) 012052 052777 gooozo 16763 8IS #SYNSCH.ARXCSR ;SET SEARCH SYNC
(2) ;POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(2) 012060 777 8$oooo 16764g BIC #CLK,ATXCSR ;POKE CLK DOWN
(2) 012066 052777 16763 BIS #CLK.ATXCSR :POKE (LK UP
(1) 012076 016703 1 613 MOV RXDBUF ,R :SET UP FOR ERROR MESSAGE
(1) 012100 012700 ogoos MOV #52,R0° ;EXPECTED
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'CNDUR=A MACY11 30(1046) 14=DEC=82 09:58 PAGE 61=41
icnoua M zg-ocr- 2 16:31 INITIALIZE THE COMMON TAGS SEQ 0055
L) 012104 31 767 000007 167910 MOV #7,SHIFT :# OF SHIFTS
oM 0 118 12767 000052 167360 MOV #52,$THPI :DATA CHAR
L 0121 004797 004273 JSR PC , RPOKE SSHIFT IN THIS CHAR
L (1) 012126 105777 16756 TSTB  @RXCSR  ;RXDONE 1
| (1) 012130 100401 BM] . +4
LM 0 1;2 104004 ERROR & :RXDONE SHOULD BE SET
L (1) 012136 017701 167556 MOV aRXDBUF , R1 :ACTUAL
| D 0 1Ag 020001 CMP RO,R1  ;COMPARE EXPECTED VS. ACTUAL
L (1) 012142 001401 BEQ +4
(1) 012144 104002 ERROR 2 ;RECEIVED DATA DID NOT MATCH
(1) ;EXPECTED DATA = CHECK MAINT DATA
(1) :OR RECEIVER LOGIC
(1) 012146 012767 000007 166746 MOV #7,SHIFT :# OF SHIFTS
(1) 012156 012767 000052 167316 MOV #52,$THP1 :DATA CHAR
(1) 012162 004767 004634 JSR PC, RPOKE SSHIFT IN THIS CHAR
(1) :NOW SHIFT IN A s;éouo CHARACTER WITHOUT READING RXDBUF
(1) 012166 015767 000007 166726 MOV #7,SHIFT :# OF SHIFTS
(1) 012176 012767 000052 167276 MOV #52,$THP1 :DATA CHAR
(1) 012202 004767 004614 JSR PC , RPOKE SSHIFT IN THIS CHAR
(1) 012206 012700 140052 MOV #140000'52,R0  :EXPECTED DATA PLUS
(1) ;RXERR © OVRRUN
(1) 012512 017701 167500 MOV aRXDBUF ,R1 *ACTUAL
(1) 012216 020001 CMP RO,R1  :COMPARE EXP VS. ACT
(1) 012220 001401 BEQ +4
(1) 012222 104002 ERROR 2 ;SPECIFICALLY LOOK AT RXERR §
g}; :OVRRUN BITS...THEY BOTH SHOULD BE SET
8176
(2) :END OF PASS
(s) :TYPE NAME OF TEST
(2) SUPDATE PASS COUNT
(2) sCHECK FOR EXIT TO ACT=11
;5; *RESTART TEST
cs) 0122264 000004 JEOP:  SCOPE
(2) 012226 004767 000340 JSR PC.CKSWR
2) 0 5 104401 TYPE :TYPE NAME OF TEST
(2) 012234 01536§ MEPASS
(2) 01 ssg 104413 012470 CONVRT  ,OUTCRY
(2) 815 %2 104401 01 501 TYPE  ,DEVICE
(2) 01 243 105767 166700 TSTE  MULTD - ;ARE YOU RUNNING MULTIPLE DEVICES ?
(2) 012252 001511 BEQ cce :NO, JUMP AROUND
(2) 01525& 005767 166706 ST ACTREG :ARE ANY DEVICES ACTIVE ?
(2) 012260 001007 BNE RUNIT  ;YES
(2) 012262 104401 015213 TYPE MCOW  :NO
(2) 015263 16700 166674 MOV ACTREG,RD :DISPLAY ACTREG
(2) 01227 HAL T :SELECT SOMETHING TO RUN @ ACTREG:
(2) ;SELECT SWITCHMES & WIT CONTINUE (PUT SWO00 =1)
(2) 15§53 000167 1 7655 JMP .START :START OVER AGAIN......YOU DESELECTED EVERYTHING
() 01 ossm 10 166646 RUNIT: ADD #10,BASEADD ;NEXT BLOCK (ADDRESSES)
g ; }2;92 52; 10 166646 ZERO: ff? #10.BASELV ;NEXT BLOCK (VECTORS)
(2) 1§§1 167 166646 ROL ROTADD :UP DATE ROTATING POINTER
(2) 012322 103410 BCS 2 ;1S 1T THE LAST DEVICE
(2) :T0 BE TESTED IN THIS PASS ?
(2) 012326 036767 166640 166634 BIT ROTADD,ACTREG  ;TEST TMIS DEVICE FOR ACTIVE STATUS
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'CNDURA.M11 2 16:31 INITIALIZE THE COMMON TAGS SEQ 0056
(@) 81 gz 882 BEQ RUNIT  :IF NOT AC!IVE. TRY NEXT ADDRESS
@ 0N 000034 JSR PC,REPLAY ;CALCULATE NEW PARAMETERS
() oog 888850 JMP $§TRT YES IT UAS ACTIVE TEST THIS DEVICE
() 012767 1 166616 2%: MOV SET UP ROTATING
(D) ronnrea ron uext MULTIPLE PASS
@ 0 gzs 016767 166688 166574 MOV KEEPADD,BASEADD ;RESTORE BASE ADDRESS
(@) 01 016767 166600 166574 MOV KEEPIV,BASEIV uestons BASE INTERRUPT VECTORS
L@ 0 883167 000002 JSR PC ,REPLAY C NEW PARAMETERS
L (@) 01237 A ; B8R ccé : JUMP ARbUND REPLAY

(2) 012374 016767 166554 004416 REPLAY: MOV BASEADD, DUBASE T UP FOR NEW ADDRESSES

(2) 012402 004767 ooagoo JSR PC ,DUADDR .CREA!E NEW ADDRESSES

(2) 012406 016767 166550 167322 MOV BASEIV,DURIV  :CREATE DURIV

(2) 012414 062767 oooogf 166540 ADD #2,BASELV

(2) 015‘55 016767 166536 167310 . MOV BASEIV DURIS  ;CREATE DURIS

(2) 012430 062767 166524 ADD 2.BASEIV

(2) 012436 016267 1665 167;76 MOV BASEI outtv ; CREATE DUTIV

(3) 012444 767 166510 ADD cz.ansénv

(2) 012452 016767 167294 MOV BASEIV,DUTIS  :CREATE DUTIS

(2) 012460 016767 167252 166474 MOV DURIV,BASEIV  :RESTORE

gg; 012466 000207 RTS PC

(2) 012470 000001 OUTCRY: 1

(2) 012472 006 002 .BYTE 6.2

gs; 012474 001712 RXCSR

(2) 012476 ccc:

(2) 012476 005067 166700 CLR $TSTNM ;CLEAR TEST NUMBER

(5) 013502 885067 166710 CLR SERRPC SCLEAR LAST ERROR PC

2) 01 sos 5067 165371 CLR SERFLG :CLEAR ERROR FLAG

(2) 012512 005267 166374 INC PASCNT SUPDATE PASS COUNT

(2) 012516 016767 166370 166356 MOV PASCNT,LIGHTS .DlSPtAV PASS COUNT

(2) 012526 016767 16636% 167002 MOV PAS NT,SPASS ASS COUNT TO APT

(2) 012532 013701 00004 MOV ri cuecx FOR ACT=11 OR DDP

(2) 012536 001402 BEQ aesrit :IF NO CONTINUE TESTING

(2) 012540 RESET

(2) 012542 5 RESET

(2) 012544 004711 $ENDAD: JSR PC, (R1)

(s) 012546 000240 NOP

(2) 015550 000240 NOP

(2) 012552 000240 NOP

(5» 012554 RESTRT:

(2) 012554 012767 003376 166624 MOV otsr1oz sLPAon ;LOAD LAST ADDR

(2) 012562 004767 000004 JSR PC,CKSW

55; 012566 000167 170516 JMP .eéclu

(g) ;CHECK SWITCH REGISTER ROUTINE.

(2) *CHECKS TO ALLOW FOR <*G> tg ALLOV

;z; :THE CHANGING OF LOCATION 176

(2) 012572 005737 000042 CKSWR: TST ane2

(2) 012576 001040 BNE ouT

(2) 15600 022767 000176 166632 CMP #SWREG, SWR ;SOFTWARE SWR PRESENT?

(2) 81 608 0010 BNE 027 :NO==LEAVE

(2) 012610 105777 166630 1STB  @$TKS SCHECK TTY READY

(2) 81 614 100031 BPL ouT *NO==LEAVE

(2) 012616 017767 166626 000422 MOV a$TkB, .MSG ‘GET CHARACTER

L : TR T e S S L ik
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'CNDURA.M11  29-0CT-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0057
L (2) 012626 062767 177600 000414 BIC 0177600..HSG :STRIP JUNK
(2) 012632 122767 000007 000406 CMPB  #7,.MSG SIS IT <*6> ?
L (2) 012640 001017 BNE out *NO
: (g> 012642 1044g 015767 TYPE MCNTG
(D) 012643 005137 012709 CNTLU: COM S#RDSW
| (2) 012652 104401 01577 TYPE JMMSWR
L (2) 012656 106413 CONVRT
g (%) 012660 012710 SWREGL
(2) 012662 1064406 016010 INSTR, MMNEW
(2) 012666 104410 PARAM
(2) 012670 000000 0
L () 012672 177777 177777
(2) 012674 000176 SWREG
(2) 012676 000 001 .BYTE 0.1
(2) 012700 005037 012706 ouUT:  CLR SN#RDSW
(2) 012704 000207 RTS PC
(2) 012706 000000 RDSW: .WORD O
(2) 012710 000001 SWREGL: 1
(2) 012712 006 002 .BYTE 6,2
gg; 012714 000176 SWREG
:;; 012716 000005 5
253 :CHECK FOR FREEZE ON CURRENT DATA
(2) 012720 004767 177646 .SCOP1: JSR PC,CKSWR
(2) 012724 032777 001000 166506 BIT #5409, aSWR
(s) 0157§2 001402 BEQ 1$
(2) 01273 016716 166150 MOV LOCK, (SP)
(2) 012740 000002 18: RTI
gg; .SBTTL TYPE ROUTINE
(3) ttttttttttttt.tti't..tt't.'iQ'."tﬁtt.ittl.ti.t..i..il'.Q..'.Q'
(2) “%ROUTINE TO TYPE ASCIZ MESSAGE. MESSAGE MUST TERMINATE WITH A O BYTE.
(2) “«THE ROUTINE WILL INSERT A NUMBER OF NULL CHARACTERS AFTER A LINE FEED.
(2) SeNOTE1: SNULL CONTAINS THE CHARACTER TO BE USED AS THE FILLER CHARACTER.
(2) -uors $FILLS CONTAINS THE NUMBER OF FILLER CHARACTERS REQUIRED.
gg; -nors $FILLC CONTAINS THE CHARACTER TO FILL AFTER.
(2) -c LL:
(2) te1) USING A TRAP INSTRUCTION
gg; "oa TYPE  ,MESADR ;:MESADR IS FIRST ADDRESS OF AN ASCIZ STRING
:'
(2) A TYPE
(2) e ME SADR
&
(2) 015762 105767 166511 $STYPE: TSTB  STPFLG :;1S THERE A TERMINAL?
(2) 01 748 100002 BPL 13 :BR IF YES
(2) 01275 oooogg HALT ..HALT HERE IF NO TERMINAL
(2) 012752 0004 B8R 3s : LEAVE
(2) 81 756 01004 18: MOV ng -(SP) $:SAVE RO
(2) 0127 0179 000002 MOV a2(sP).RO S2GET ADDRESS or ASCIZ STRING
(2) 81 762 122767 000001 166556 CMPB  #APTENV,SENV  ::RUNNING IN APT MODE
(2) 012770 001011 BNE 62% *NO,GO CHECK FOR APT CONSOLE
(2) 012772 132767 000100 166547 BIT8  #APTSPOOL,SENVM :>SPOOL MESSAGE TO APT
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'CNDUR=A MACYT 0(2?&32 o8

SEQ 0058
TYPE ROUTINE
/CNDURA.M11 iy CHECK FOR CONSOL
[ @ o 140 e 8% $I%ET0P MESSAGE ADDRESS FOR APT
(@ 013002 890922 16477 ISR SC:SAIVB 334y Mg i M
B 01301 628:  BITB.  MAPTCSUP,SENVA :iABT CONSOLE SURTRESSED
| (2) 81 13 60%7 4 000040 166525 62%: BNE ?23)’ v ':E;sgﬂsg.l'l:ﬂ;f’fn 10 BE "’f‘grggm STACK
L@ 0 28:  MOVE -~ 2SBRIF IT ISN'T THE TERMI
S 8}§§ ¢ 00700 TS (seye SF TERRINATOR POP IT OFF THE STACK
i HEE I OB TR N

8 8RB ow WA mE et

(2) 01304 4$:  CMPB  #WT, i

122716 000011 :

(5) 013066 081430 SHPB  WCRLF, (SP) ::BRANCH IF NOT <CRLF>

(2) 013050 122716 000200 BNE  5S i R><LF> EQUIV

(5) 013054 001006 13 (SP)+ ssPOP  <C

(5 N3¢ Mares TYPE ::TYPE A CR AND LF

& g s QR sgwor e qucren, com

R i A i PRI .

( 68: ( . ::IF NO GO GET NEXT CHAR.

(8} 13303 Ootssg o633 Bve <3 :3GET # OF FILLER CHARS. NEEDED

(2) 013102 001350 MOV SNULL ,=(SP) ::GE L CHAR.

(2) 013104 016746 166344 o FAND THE NULL CHAR. ey

() 013110 105366 000001 el gl 18 [l Bl M L @

14 2;9§ PC,STYPEC ::60 TYPE A

fgg 13e 006 00003¢ DECB  SCHARCNT :100 NOT COUNT AS A COUNT

cg) 013122 105367 0000 B8R 78 il

(2) 013126 000770

(2 :HORIZONTAL TAB PROCESSOR i)

' ; ;REPLACE TAB WITH
(§) B WE L e :TYPE A SPACE
13130 112716 000040 : B $ivpec S TVPE

(3 01313 00476 000005 000052 1 BITe P SCMARCNT J3QRARCH JF WOT AT

(3) 013146 0013rg 1 T 11P0B SPACE OFF STACK

) Qiish Cosrad o 8 (TR -

(2) 013156 105777 1662 BPL_ STYPEC ::LOAD CHAR TO BE TYPED INTO DATA REG.

3 013160 100573 166262 MOVE  2(SP),aSTPB  ::LOAD

(2) 013162 116677 000002 Ll

(2) 0000 00000 #CR,2(SP) ::1S CHARACTER A

(5) Di3176 55¥53§ > P e $CHARCNT I VESo-CLEAR CHARACTER COUNT

f%g 313200 105 000014 Sk" STYPEX s JEXIT ACTER A LINE FEED?

(2) 013204 0004 2 18: CMPB #LF,2(SP) 218 ‘"ﬁ'xr VES

(2) 81%506 122766 000012 00000 y BEQ STYPEX $SCOUNT THE CHARACTER

(2) 013214 00140 INB  (PC)+ ::COUN T STORAGE

f § 013553 00020 STYPEX: RIS

(

(%)

(2)
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' CNDURA . M11 ~0CT=- TYPE ROUTINE SEQ 0059
(2)
i 5 ; ;ASCII STRING INPUT ROUTINE
(@) 013226 017667 000014 .INSTR: MOV a(sP), .MSG ;PICK UP MESSAGE
(@) mé 9?9 ucmg ADD #2,(SP) :JUMP AROUND MESSAGE FOR RTI
@D 0N 105767 166 TST8  SENV :APT CONTROL
L) 013242 0010 BNE INSTR2 :YES NO TYPE
L (@) 013244 104401 JINST1: TYPE
@ 0 4.8 MsG: O
L (2 01325 015704. 016022 MOV # INBUF , R4 :GET STARTING LOC OF INBUF
L (2) 013254 012703 000007 MOV #7.R MAX # OF CHARS
L (@) 013260 105777 166160 18: 1ST8  @asTkS  ;TTY FLAG
(D) mgga. 100375 8PL 18
() 01 ?3 117714 166154 MOVB  @$TKB, (R&) ;TAKE CHAR
(2) 013272 142714 0002 BICB  #200,(R4) :STRIP
(2) 01 73 121427 00002 CMP8  (R&).#25 (IS IT <*6>
(2) 013 001760 BEQ JINSTY
(5) 013306 122427 000015 CMPB  (R&)+, M5 :CHECK FOR CR
(2) 013310 00141 BEQ INSTR
(2) 013312 105777 166132 28: TST8B  @$TPS  :TEST FLAG
(2) 01”33 100375 BPL 2$
(2) 0133 117777 166122 166124 MOVE  @$TKB,asTPB ;ECHO CHARACTER
(2) 013326 00530 DEC R3 :DID YOU TYPE TOO MANY CHARS ?
(2) 013330 00135 BNE
(2) 013332 104401 JINSTE: TYPE
(2) 01333¢ 015307 MOM :?
(2) 013336 ooong BR CINST1 ;RETRY
: ; 013340 00000 INSTR2: RTI
gg ;CONVERT ASCII STRING TO OCTAL
(2) 013342 011605 .PARAM: MOV (SP),RS :PUT CONTENTS OF SP INTO RS
(2) 013344 012567 oomg‘z’ MOV (RS)+,LOLIN :PUT LOW LIMIT INTO LOLIM
(2) 013350 012567 0001 MOV (R5)+,HILIN :PUT HIGH LIMIT INTO WILIM
(2) 013354 012567 888155 MOV (R5)+.DEVADR  :PUT STORE LOC INTO DEVADR
(2) 013360 112567 154 MOVB  (RS)+,LOBITS  ;PUT MASK INTO LOBITS
(2) mss% 112567 000151 MOVB  (RS)+.ADRCNT  ;PUT COUNT INTO ADRCNT
(2) 0133 010512 MOV RS, (SP) ;RESTORE RETURN ADDR ON STACK FOR RTI
(2) 013372 00500 PARAM!: CLR RS
(2) 013374 015704. omozi MOV #1NBUF ,RG
2) 1;200 122714 00001 cMP8  #15, (RE) :CR ?
(2) 013404 ogugg BEQ PARERR :YOU TYPED CR TOO SOON '
(2) 1§og 121427 000060 18: CMPB  (R&),#60 :LOW LIMIT ASCIi ©
(2) 013412 002415 BLT PARERR
(2) 013414 551‘27 000067 CMPB  (R&),#67 :HIGH LIMIT ASCII 7
2) 8134 3012 BGT PARERR
(2) 013422 142714 000060 BICB  #60,(R4) :CONVERT TO OCTAL
(2) 013426 152405 BISB  (R&)+,RS :STORE AWAY ITS AN OK CHAR
(2) 013430 122714 000015 CMPB  #15, (R&) ‘CR ?
(2) 013434 001414 BEQ L;uhs :NOW CHMECK FOR HIGH BLOW LIMIT CONDS
(2) 013436 006305 ASL R :ALLOCATE ROOM FOR NEXT CHAR
(2) 01344 ggs ASL RS
(2) 1§:A 5 ASL RS
(2) 013444 760 BR 1%
(2) 013% 714 000015 PARERR: CMPB  #15, (R4} :CR?
(2) 01345 1003 BNE 1208
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' CNDURA . M11 TYPE ROUTINE SEQ 0060
f 013454 005737 012706 ST SNRDSW :CK SWR USED
. 01 gg 0010 BNE PARTI
01 1044 1208: INSTER ;RETRY
! 013464 000742 BR PARAM1
;TEST TO SEE IF NUMBER IS WITHIN LIMITS
01 gg 020567 000042 LIMITS: CMP RS, MILIN b
81 101365 BHI PARERR ;THE # IS TOO HIGM
13476 020567 000032 CMP RS,LOLIM
813500 1 m; BLO PARERR :THE # IS T0O LOW
13502 136705 000032 BIT8  LOBITS.RS sTEST BY MASKINGTHE #
013506 001357 BNE PARERR
;STORE NUMBER AT SPECIFIED ADDRESS
o1§s1o 016704 000022 MOV ogvnoa R4 :GET STARTING ADDR OF
013514 010524 18: MOV RS, (R4)+ SSTORE AT THIS ADDR
013513 062705 ooooog ADD #2.,RS
01355 105397 00001 DECB  ADRCNT :HOW MANY TIMES + 2 ?
013526 0013 5 BNE 1%
013530 00000 PARTI: RTI
013532 000000 LOL IM:
013534 000000 HILIM:
013536 000000 DEVADR:
013540 000000 LOBITS:
013541 ADRCNT=LOBITS+1

sSAVE PC OF TEST TMAT FAILED AND RO-RS
013542 016667 000004 165356 .SAVOS: MOV &(SP) ,SAVP(C

:SAVE RO-RS
013550 010567 165720 Sv05: MoV RS, SREGS
81 35564 010467 165712 MOV R& , SREG4
13560 810367 165704 MOV R3.SREG

013564 010267 165676 MOV R2,SRE
013570 010167 165670 MoV R1,$REGT
013576 010067 165662 MOV RO,$REGO
013600 000002 RTI

;RESTORE RO-RS

.~ T~ T~~~ T~~~ T~~~ T~~~ T~~~ T~~~ T~~~ T T~ T~~~ T~ T~ P P P P P P P
LNL NN N NN NT NN N NN NN ST NT N NT NN ST NT N NTNTNTNT NN NTNT NI NN NINT NN NI TN IS S ST N NN TS LN LN IS VL S ST V¥
o N o N e e N N N N P e e N N N N N N N N N N N N o N o o N o N N N N P N T N b N b T T P

013602 016700 165654 .RESOS: MOV SREGO,RO

13606 016701 163652 MOV  SREGI.RI

13612 016702 165650 MOV  SREG2.R

13616 016703 163648 MOV  SREGS.RS

1 16704 165644 MOV  SREGA.R4

1 016705 165642 MOV  SREGS.RS

013632 000002 RTI

;CONVERT OCTAL NUMBER TO ASCII AND OUTPUT TO TELEPRINTER

013634 104401 .CONVR: TYPE

01363 015313 MCRLF  ;CR LF
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'CNDURA.M11  29-0CT 6:31 TYPE ROUTINE SEQ 0061
(@) 013640 17901 MOV a(SP) ,R1 CK UP DATA POINTER
() 013644 19 ADD #2,(SP) ;SET UP sp FOR RT]
| (2) 013650 01216 8831 MOV (RT)+,WRDCNT PICK UP # OF WORDS FROM TABLE
(2) 013656 112167 1 g 18: MOVB  (R1)¢.CHRCNT  :PICK UP # OF CHMARS FROM TABLE
() 01 112167 0001 MOVB  (R1)+.SPACNT  :PICK UP # OF SPACES FROM TABLE
, : ; 013664 013167 000120 MOV 8(R1)+,BINWRD :xg: umgo ESS OF MSG
| (2) 013670 016706 000114 28: MOV BINWRD, R4 :SAVE
(2) 013674 ngros 000106 MOVB  CHRCNT.RS +SAVE
(2) 013700 012700 016064 MOV nm RO :STARTING ADDRESS OF TEMP BLOCK
(2) 0137064 01040 38: MOV ; :SAVE
(2) 013706 042703 177770 BIC h 70,83 :CLR OUT UPPER BITS .. SAVE CHAR
(2) 013712 703 000260 ADD c 60,R3 ;CONVERT TO ASCII
(2) 013716 110320 MOVB ,(RO)+’ :STORE AWAY
(2) 013720 04 ASR m. sum FOR NEXT #
(2) 013752 006204 ASR R4 DITT
(2) 013724 04 ASR R4 omo
(2) o1§7 6 005305 DEC RS oec cm COUNT
(2) 013730 001365 BNE 38 DO IT AGAIN ?
(2) 013732 012703 016126 MOV #MDATA,R :STARTING ADDRESS OF MDATA BLOCK
(2) 013736 114023 48: MOVB  =(RO),(R3)+ nemse THE ORDER OF NUMBERS
(2) 013740 105367 000042 DECB  CHRCNT oec cm\i
(2) 013744 001374 BNE 48 DO IT Awu ’
(2) 0137246 105767 000035 TST8 smnt “HOW MANY SPACES ?
(2) 013752 001405 BEQ :TYPE # IF BR =0
(2) 013754 112723 000240 58: MOVB mo (R3¢ :*'SPACE"* IN ASCII
(2) 013760 105367 000023 DECB  SPACNT .occ ¥ of sm:s COUNT
«s) stgm 98'373 BNE 13 é
(2) 013766 10501 6$: CLRB  (R3)  :INSERT "o roa TTY OUTPUT ROUTINE
(2) 013770 104401 TYPE
(2) 013772 016126 MDATA  ;THIS MESSAGE
‘S’ 013774 oos;gr 000004 DEC WRDCNT  ;HOW MANY #°S ?
(2) 014000 001325 BNE 18 ‘DO THIS noumt AGAIN IF NOT EQUAL TO 0
(2) 014002 000002 RTI ;RETURN TO PROGR
(2) 014004 000000 WRDCNT: 0
¢%> 014006 000000 CHRCNT: 0
(2) 14007 SPACNT=CHRCNT +1
gz; 014010 BINWRD: 0
¢S) :COMPARE THE FIRST CHARACTER IN m; TELETYPE INPUT
(5) :BUFFER TO THE CHARACTERS “W'
(2) .u THE CHARACTER IS 'W'* CLEAR ms ruc
53; :IF THE CHARACTER IS '*v** SET THE FLAG
(2) 014012 017605 .SETFLG:MOV 3(SP) RS
(2) 014016 122767 %Ho 001776 CMPB  #°'N, INBUF J1S IT W 2
(2) 014026 00100 BNE 18
(2) 014026 10501 CLRB  (RS) ;000
() 014030 000406 BR 28
(2) 014032 122767 000131 001762 18: CMPB  #°'Y, INBUF J1S IT 'y 2
(2) 01404 omgos BNE 3s
(5’ 01404 115 15 17272777 MOVB  #-1,(RS) :377
(2) ouo«g 062716 000002 28: ADD #2,(5P)
(2) 811.05 00000 RTI
(2) 014054 10440 3s: INSTER :RETRY
(2) 014056 000755 BR "SETFLG
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060

060 105267 165317

064 001775

066 016777 165310 165346
032777 002000 165336
001402
104401 001516
005267 165276
011667 165276
162767 000002 165270
117767 165264 165260
032777 020000 165276
104401 88?‘5)2;
1

2%767 000001 165364
116767 165224 000004

032777 001000 165220

001402
016716 165254
00000
0710067 164662
010167 164620
010;27 164656
010367 164654
10467 164658
10567 16465
16767 165104 164644

14=DEC~-82 09:58 PAGE 61-48

ERROR HANDLER ROUTINE
.SBTTL ERROR HANDLER ROUTINE

AL AL LA LA AR LLLLLL LA hhhiddiidiididubddiduiiiduiddiiindbdduininbd

;*THIS ROUTINE WILL INCREMENT THE ERROR FLAG AND THE ERROR COUNT,
s*SAVE THE ERROR ITEM NUMBER AND THE ADDRESS OF THE ERROR CALL

s*AND GO TO SAVIT ON ERROR

s*THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:

; ;ERROR=EMT AND N=ERROR ITEM NUMBER

:*SW15=1 HALT ON ERROR

:*SW13=1 INHIBIT ERROR TYPEOUTS
:*SW10=1 BELL ON ERROR

;*SW09=1 LOOP ON ERROR

s*CALL

e ERROR N

$ERROR:

7$: 3

INCB SERFLG
BEQ 7%

MOV STSTNM, 3D ISPLAY
BIT gnglO.iSHR

BEQ
TYPE $BELL
18: INC $ERTTL

MOV (SP) ,SERRPC

SUB #2,SERRPC
MOVB  aSERRPC,SITEMB
BIT #81T13,3SWR
BNE 208
JSR PC,SAVIT
TYPE  ,SCRLF

20%:

CMPB 5APTENV.$EHV

$
Move SITEMB,21$
JSR 8C.SAIV4

21$:  .BYTE
‘BYTE 0
22%: £y 22%
2s: TST aSWR
BPL 3s
HALT
3$: BIT #B1T09,aSWR
BEQ 4
MOV SLPERR, (SP)
48: TST $ESCAPE
BEQ 5¢
- MOV $ESCAPE, (SP)
RTI
SAVIT: MOV RO, HLDO

MOV R1.HLD1

MOV R;.HLD
R3,HLD

MOV R& . HLD4

MOV RS HLDS

MOV $TSTNM,HLD6

:SET THE ERROR FLAG
sDON'T LET THE FLAG GO TO ZERO
':géEPLAY TEST NUMBER AND ERROR FLAG

:<BELL ON ERROR?

::NO = SKIP

+sRING BELL

+sCOUNT THE NUMBER OF ERRORS

s:GET ADDRESS OF ERROR INSTRUCTION
s:STRIP AND SAVE THE ERROR ITEM CODE
:sSKIP TYPEOUT IF SET

::SKIP TYPEOUTS

::6G0 TO USER ERROR ROUTINE

RUNNING IN APT MODE

:NO,SKIP APT ERROR REPORT

SET ITEM NUMBER AS ERROR NUMBER
:REPORT FATAL ERROR TO APT

SEQ 0062
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CNDURA.M11 29-0CT-82 16:31 ERROR MESSAGE TYPEOUT ROUTINE SEQ 0063

g; .SBTTL ERROR MESSAGE TYPEOUT ROUTINE

(l.) tttt'ttttttttttt't'tttttt'tttt'tittttttttttttittit.itttitttttti

(3) S%THIS ROUTINE USES THE “ITEM CONTROL BYTE' (SITEMB) TO DE TERMINE WHICH

(3 S«ERROR IS TO BE REPORTED. IT THEN OBTAINS, FROM THE 'ERROR TABLE'® (SERRTB),

g; :«AND REPORTS THE APPROPRIATE INFORMATION CONCERNING THE ERROR.

(3) 014300 SERRTYP: 2 g, o

(3) 014300 104401 001523 TYPE SCRLF :3""CARRIAGE RETURN'* & "LINE FEED

(3) 014306 010046 MOV éo -(SP) ::SAVE RO

(3) 014306 005000 CLR ::PICKUP THE ITEM INDEX

(3) 014310 153700 001414 BISB mnm RO

(3) 014314 001004 BNE 18 ::IF ITEM NUMBER IS zeno JUST

(3) ::TYPE THE PC OF THE ERROR

(4) 014316 016746 165074 MOV $ERRPC,=(SP) :.SAVE $SERRPC FOR TYPEOUT

4) :*ERROR ADDRESS

(&) 014322 104402 TYPOC +:60 TYPE=--OCTAL ASCII(ALL DIGITS)

(3) 014324 000426 BR £ $3GET OUT

(3) 014326 005300 18: DEC RO ::ADJUST THE INDEX SO THAT IT WILL

(3) 014330 006300 ASL RO HH WORK FOR THE ERROR TABLE

(3) 014332 006300 ASL RO

(3) 01433% 006300 ASL RO

(3) 014336 062700 001652 ADD  #SERRTE RO :;FORM TABLE POINTER

(3) 014342 012067 000004 MOV )+,28 ::PICKUP “ERROR MESSAGE'* POINTER

(3) 014346 001404 BEQ 3s :3SKIP TYPEQUT IF NO POINTER

(3) 014350 104401 TYPE ::TYPE THE "ERROR MESSAGE

(3) 014352 2s: WORD O : "ERROR nessAce POINTER soss HERE

(3) oug‘s’g 1046401 335323 TYPE $CRLF .."cm A§ ETURN'' & “LINE FEED'

(3) 014 012067 04 3$: MOV in )+,48 2P 'mm HEADER'' POINTER

(3) 014364 001404 BEQ :.sm rvpepur IFO

(3) 014366 104401 TYPE ::TYPE THE ‘DATA HEADER''

(3) 014370 000000 48: WORD O ::"DATA HEADER'' POINTER GOES HERE

(3) 014372 104401 001523 TYPE  ,SCRLF $3""CARRIAGE RETURN'' & ‘LINE FEED

(3) 014376 011000 58: MOV (RO) ,RO ::PICKUP ‘DATA TABLE'* POINTER

(3) 014400 001004 BNE 78 ::G0 TYPE THE DATA

g; 014402 012600 68: MOV (SP)+,R0 :RESTORE RO

(3) 014404 104401 001523 TYPE  ,SCRLF ::""CARRIAGE RETURN'® & "LINE FEED'

(3) 014410 000207 RTS PC : SRETURN

(3) 014412 78:

(%) 014412 013046 MOV (RO)+,=(SP)  ;:;SAVE @a(RO)+ FOR TYPEOUT

(4) 014414 104402 TYPOC 3360 TYPE-=OCTAL ASCII(ALL DIGITS)

(3) 014416 005710 ST (RO) ::18 meas ANOTHER NUMBER?

(3) 014420 001770 BEQ 6$ :BR IF

(3) 014422 104401 014430 TYPE 8s ..ms ruom SPACES

(3) 014426 000771 BR 7s LOOP

(3) 014430 020040 000 8s: ASCIZ 7 7 :;nmz) SPACES

(3 014434 -EVEN

gz; .SBTTL BINARY TO OCTAL (ASCII) AND TYPE

(g) t!tttttt'tttt.tt'tt'Q'Qtt'tt!t"t.tl'tl'!t't.ttt!!ttt"t't't.!t

(2) -nus ROUTINE IS USED TO cmce A 16=BIT BINARY NUMBER TO A 6=DIGIT

(2) :«OCTAL C(ASCII) NUMBER AND TYPE IT.

g; -wtos---emen HERE TO SETUP SUPPRESS ZEROS AND NUMBER OF DIGITS TO TYPE
. @

(2) te MOV NUM,=(SP) : :NUMBER TO BE TYPED
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000211

000171
000165
000154
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8 PAGE 61-50
BINARY TO OCTAL (ASCII) AND TYPE

TYPOS ::CALL FOR TYPEOUT
BYTE N ::N=1 T0 8 FOR NUMBER OF DIGITS TO TYPE
BYTE M ::M=1 OR

s:1=TYPE LEADING ZEROS
2 :0=SUPPRESS LEADING ZEROS

s *$STYPON===<ENTER HERE TO TYPE OUT WITH THE SAME PARAMETERS AS THE LAST
:*$TYPOS OR $TYPOC

e ®e % %e 0
L IR IR O N

s*CALL:
M MOV NUM,=(SP) ::NUMBER TO BE TYPED
i TYPON 22:CALL FOR TYPEOUT
:l'
:'%}{tﬁt---ENTER HERE FOR TYPEOUT OF A 16 BIT NUMBER
i :
3 MOV NUM,=(SP) ::NUMBER TO BE TYPED
i TYPOC J:CALL FOR TYPEOUT
$TYPOS: MOV a(SP) ,=(SP) ;:PICKUP THE MODE
MOVB 1(SP),S0FILL 2:LO0AD ZERO FILL SWITCH
Move (SP)+,SOMODE+1 ;:;NUMBER OF DIGITS TO TYPE
ADD #2,(SP) 2:ADJUST RETURN ADDRESS
fk STYPON
$TYPOC: MOVB #1,80FILL 22SET THE ZERO FILL SWITCH
MOVB #6,SOMODE +1 :2SET FOR SIX(6) DIGITS
$TYPON: MOVB #5,80CNT 2:SET THE ITERATION COUNT
MOV R3,=-(SP) ::SAVE R3
Mov R4 ,=(SP) ::SAVE R4
MOV RS,=(SP) ::SAVE RS
agga =2HODE+1.84 22GET THE NUMBER OF DIGITS TO TYPE
ADD #6,R4 2:SUBTRACT IT FOR MAX. ALLOWED
MOvB R4 ,$OMODE 2:SAVE IT FOR USE
MOovB $SOFILL R4 22GET THE ZERO FILL SWITCH
MOV 12(SP) ,RS J:PICKUP THE INPUT NUMBER
CLR R ssCLEAR THE OUTPUT WORD
1%: ROL R5 ::ROTATE MSB INTO *C**
B8R 3% ::G0 DO MSB
2$: ROL RS ::FORM THIS DIGIT
ROL &5
ROL RS
MoV RS.R3
3s: ROL R3 2:GET LSB OF THIS DIGIT
DECB $OMODE 2:TYPE THIS DIGIT?
BPL 7$ 2:BR IF NO
BIC #177770,R3 2:GET RID OF JUNK
BNE 48 ::TEST FOR 0
TST R& ::SUPPRESS THIS 0?
BEQ 5$ ::BR !F YES
A ¥ INC R4 ::DON'T SUPPRESS ANYMORE 0°'S
BIS #'0,R3 2:MAKE THIS DIGIT ASCII
5%: BIS # _R3 33MAKE ASCII IF NOT ALREADY
gggg aggés $3SAVE FOR TYPING

2360 TYPE THIS DIGIT
78: DECB  $OCNT *:COUNT BY 1
BGT 28 $:BR IF MORE TO DO
BLT 6% ::BR IF DONE

SEQ 0064
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CNDURA.M11 29-0CT-82 16:31 BINARY TO OCTAL (ASCII) AND TYPE SEQ 0065
(2) 014630 005204 INC R&4 ::INSURE LAST DIGIT ISN'T A BLANK
(2) 014632 000744 BR 2% .GO DO THE LAST DIGIT
(2) 014636 012605 6$: MoV (SP)+,RS ;RESTORE RS
(2) 014636 012604 MoV (SP)+,R4 ..RESTORE R4
(2) 014640 012603 MoV (SP)+,R3 ;RESTORE R3
(2) 014642 016666 000002 000004 MoV 2(SP),4(SP) ::SET THE STACK FOR RETURNING
(2) 014650 012616 MoV (SP)+, (SP)

(2) 014652 000002 RTI s sRETURN

(2) 014654 000 8s: .BYTE 0 s sSTORAGE FOR ASCII DIGIT

(%) 014655 000 .BYTE 0 s s TERMINATOR FOR TYPE ROUTINE
(2) 014656 000 $OCNT: .BYTE 0 ssOCTAL DIGIT COUNTER

(2) 014657 000 SOFILL: BVTE 0 ..ZERO FILL SWITCH

(2) 014660 000000 $OMODE: .WORD 0 sNUMBER OF DIGITS TO TYPE

g%; sENTER HERE ON POWER FAILURE

(2)

(2) 014662 $PWRDN:

(2) 014662 010046 +PFAIL: MOV RO,=(SP) ;SAVE RO-R5 ON PROCESSOR STACK
(2) 014664 010146 MoV R1,=(SP)

(2) 014666 010246 MoV R2.=-(SP)

(2) 014670 010346 MoV R3,-(SP)

(2) 014672 010446 MoV R4 .,=(SP)

(2) 014676 010546 Mov RS,=(SP)

(2) 014676 016746 163122 Mov 24 ,~(SP)

(2) 014702 010667 164210 MoV SP,SAVSP sSAVE STACK POINTER
(2) 014706 012767 014720 163110 MoV #RESTART,24 sSET _UP FOR POWER UP TRAP
(2) 014714 000000 HALT sHALT ON POWER DOWN NORMAL
f%; 014716 000777 BR .

g%; sPROCESSOR WILL TRAP HERE WHEN POWER IS RESTORED

(2) 014720 016706 164172 RESTAR: MOV SAVSP,SP sRESTORE STACK POINTER
(2) 014724 012605 MoV (SP)+,R5 :RESTORE RO-RS

(2) 014726 012604 MoV (SP)+,R4

(2) 014730 012603 MoV (SP)+,R3

(2) 014732 012602 MoV (SP)+,R2

(2) 014736 012601 MoV (SP)+.R1

(2) 014736 012600 Mov (SP)+,RO

(2) 014740 012767 014662 163056 MoV #.PFAIL,24 :SET UP FOR POWER FAILURE
(2) 014746 106427 000300 MTPS #300

(2) 014752 012706 001100 MoV #STACK,SP

(2) 014756 005067 001102 CLR TEMP

(2) 014762 005267 001076 INC TEMP

(2) 014766 001375 BNE =4

(2) 014770 104413 CONVRT

(2) 014772 015014 PFTAB

(2) 014774 104401 TYPE

(2) 014776 01531 MPFAIL

(2) 015000 005067 164377 CLR SERFLG

(2) 015004 005067 164406 CLR SERRPC

(2) 015010 000177 164070 JMP @RETURN

(2) 015014 000001 PFTAB: 1

(2) 015016 006 002 .BYTE 6,2

(2) 015020 000207 : RETURN

(2) 015022 005015 042012 053125 MTITLE: .ASCIZ <15><12-<12>/DUV11 CNDUR-A TAPE B /<15><12>
(2) 015030 030461 041440 042116

et I S i e e o i e i i e i . S
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CNDURA .M11 31 BINARY TO OCTAL (ASCII) AND TYPE SEQ 0067
(2) 015510 042524 020104 02005
(2) 315516 85 1 331117 851848
(2) 015524 0264
(2) 015527 g 4412 020123 MWIREG: .ASCIZ <15><12>/1S SEC XMIT SWITCH ESS5=2 IN? (Y OR N)=/
(2) 0155 ocg go1o 65
(2) 15545 052111 051440 0445
(2) 01555 841524 011 3;5 5
(2) 015556 649; oog 1M |
(2) 15594 0200 44 7442 |
(2) 015572 0 o12§ §4516 5 '
(2) glseoo 00501 1511 51442 MWIRES: .ASCIZ <15><12>/1S SEC REC SWITCH ES5=3 IN? (Y OR N)=/
(2) 015606 041505 051040 04150
(2) 015614 051440 4557 8«1524
(2) 015655 050112 3;5 § 026465
(2) 0156 oog 11 8 0077
(2) 015636 054450 047440 020122
(2) 015644 oz451g 55 .
(2) 015650 005015 051511 047440 MWIREG: .ASCIZ <15><12>/1S OPT CLR ENABLE SWITCH ES5=1 IN? (Y OR N)=/ »
(2) 015656 052120 041440 051114 «
(2) 015696 0462440 o«os1g 046102 |
(2) 015672 020105 053523 052111
(2) 015700 064103 042440 032465
(2) 015706 030455 044440 037516
(2) 015714 024040 020131 051117
(2) 015722 047040 026451 000
(2) 015727 015 005012 031510 MEXTJ: .ASCIZ <15><i2><12>/H315 CONNECTOR ON 2(Y OR N)=/
$8) Qa7 Qu3e3e 0aites D11z
(5) 815755 82;44 828116 834077
(2) 015756 020131 051117 047040
(2) 015764 026451 000
(2) 0157267 015 020012 043536 MCNTG: .ASCIZ <15><12>/ %G /
(2) 015774 020040 oog
(3) 015777 040 053523 036522 MMSWR: .ASCIZ / SWR= /
(2) 0160046 020040 000040
(2) 016010 020040 047040 053505 MMNEW: .ASCIZ / NEW= /
(2) 016016 020075 000040
gg; .EVEN
55; :BUFFERS FOR INPUT=OUTPUT
(2) 016022 000000 INBUF :
(2) 016064 .=.+40
(2) 016064 000000 TEMP: O
(2) 016126 .=, +40
(2) 016126 000000 MDATA: 0
(g) 016170 .=, +40
3 .SBTTL SCOPE HANDLER ROUTINESTARS
(3) ;*THIS ROUTINE CONTROLS THE LOOPING OF SUBTESTS. IT WILL INCREMENT
(3 S*AND LOAD THE TEST NUMBER(STSTNM) INTO THE DISPLAY REG.(DISPLAY<7:0>)
(3 :*AND LOAD THE ERROR FLAG (SERFLG) INTO DISPLAY<15:08>
(3) s«THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:
(3) seSW14=1 LOOP ON TEST
(3 seSW11=1 INHIBIT ITERATIONS
(3 $+SW09=1 LOOP ON ERROR
(3 ;*SW08=1 LOOP ON TEST IN SWR<7:0>
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. CNDUR=A MACY11 30(1046) 14-o£c-az 09:58 PAGE 61-54
E:ggaa M1 3-0 3 6:31 SCOPE HANDLER ROUTINESTARS
) s *CALL
gi; e SCOPE : :SCOPE=10T
| gg; 016170 $SCOPE :
! gg; ;SCOPE LOOP AND INTERATION HANDLER
B N sorer 17u37s SCOPE: ) pe,ckswm
B fes e B8 RG EMTOON o et 1
; gg; 016204 001423 BEQ $XTSTR iYESNO LOOP.
777 163224 TIST: BIT #BIT14,aSWR :THIS CODE IS FOR TESTING FOR BIT 14
I 3 ieshe 33%41; D — BEQ 18 TON LSI WHICH SYSMAC CANNOT HANDLE
(5) o1gg1e 016767 163160 163162 MOV srstun.sLPAon
(5) 016224 oooao; B8R 18
(5) 016253 105777 163212 TSTB  @$TKS KEYBOARD DONE?
(5) 0125 100123 BPL SOVER :BR IF NO
(5) 016234 017766 163206 177776 MOV a$TKB,=2(SP)  :CLEAR DONE BIT
(3) 016242 032777 04 163170 18: BIT #BIT14,35WR ..LOOP ON PRESENI TEST?
(3) 016250 001114 BNE SOVER ES IF SWié=1
(33 16252 000416 s'?z?:"aﬁ' » cgge P *‘?I‘:G::?ze ON_THE "XOR'* TESTER CHANGE
fs) ’ - sTHIS INSTRUCTION TO A "NOP'* (NOP=240)
(3) 016254 013746 000004 MOV SNERRVEC,=(SP) ..save THE CONTENTS OF THE ERROR VECTOR
(3) 010588 °‘§¥’r 015000 00004 T :3?’%%3"’“ $37TME QUT N NOR?
(i, 81 93 3? 637 000034 MOV (SP)+,3#ERRVEC ..REQFORE THE eanon VECTOR
(3) 016276 000463 BR $SVLAD ::G0_TO THE NEXT TEST
¢§) o1esog ozzo§ 5$: CMP (SP)+, (SP)+ CLEAR THE STACK AFTER A TIME OUT
(3) 016302 012637 000004 MOV (SP)+.3#ERRVEC ..nsstoas THE ERROR VECTOR
(3) 015308 000423 BR 7 LOOP ON THE PRESENT TEST
(3) 01631 6$:;MMRRNEND OF CODE FOR THE XOR iEStenapcc
(3) 016310 032777 000400 163122 BIT tgxtoa ,@SWR ::LOOP ON SPEC. TEST?
(3) 016316 001404 BEQ 2 ::BR IF NO
(3) 0163%0 127767 163114 163054 CMPB  @SWR,STSTNM ..ou THE RIGHT TEST?  SWR<7:0>
(3) 016333 001465 BEQ SOVER aa IF YES
:;; 8}2§3L 58?:3: 163047 28: ;g;a g;artc slpnnsnuoa OCCURRED?
(3) 016336 126767 163053 163037 CMPB  SERMAX,SERFLG ..HAX ERRORS FOR THIS TEST OCCURRED?
(3) 016344 121015 BHI 3s :BR IF NO
(3) 016346 032777 001000 163064 BIT ¥BIT09,aSWR ..Looroueunom
(3) 016354 001404 BEQ 4 :BR IF NO
gg; 3;2522 015727 163026 163022 78: EBV :hcggn.savuou 2:SET LOOP ADDRESS TO LAST SCOPE
(g) 016393 %6&06 163011 48: CLRB  SERFLG .zsao THE ERROR FLAG
(3) 016372 005067 163114 CLR STIMES CLEAR THE NUMBER or xtsnnrxons TO MAKE
(3 815353 oogats BR 1$ ZESCAPE TO THE NEXT TEST
8; m 831717; 004000 163032 3$: w nnn.asn "éﬂ?‘}g%"”"“s’
(3) 8164?3 005767 163120 TSt $PASS $:IF FIRST PASS OF PROGRAM
(3) 016414 001439 BEQ 1$ i INHIBIT ITERATIONS
(3) 816416 5267 162762 INC SICNT S INCREMENT ITERATION COUNT
(3) 164;5 6767 163064 162754 CMP STIMES.SICNT  ::CHECK TME NUMBER OF ITERATIONS MADE
(3) 0164 2024 BGE SOVER ::BR IF MORE ITERATION REQUIRED

——— — — —— -_—

SEQ 0068
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SCOPE HANDLER ROUTINESTARS

18:
$SVLAD:

$SOVER:

(S:
BRW:
BRX:

MoV

#1,S1CNT
SMXCNT,STIMES
STSTNM
STSTNM,STESTN
(SP) ,SLPADR
(SP) ,SLPERR

SESCAPE
#1,SERMAX

STSTNM,ADISPLAY

SLPADR, (SP)

SMXCNT: S
.SBTTL TRAP DECODER

SEQ 0069

REINITIALIZE THE ITERATION COUNTER
SET NUMBER OF ITERATIONS TO DO
'§OUNT TEST NUMBERS

S

mm
=g =

sSET_TEST NUMBER IN APT MAILBOX

sSAVE SCOPE LOOP ADDRESS

sSAVE ERROR_LOOP_ADDRESS

s sCLEAR THE ESCAPE FROM ERROR ADDRESS
sONLY ALLOW ONE(1) ERROR ON NEXT TEST
ssDISPLAY TEST NUMBER

:sFUDGE RETURN ADDRESS

s sMAX. NUMBER OF ITERATIONS

AL AL AR R A ARl ARdRddRiddidddidRRididdidiiiiidiialiidilidd]]

:*THIS ROUTINE WILL PICKUP THE LOWER BYTE OF THE °'‘TRAP'* INSTRUCTION

s*AND USE IT TO INDEX THROUGH THE TRAP TABLE FOR THE STARTING ADDRESS
:*0F THE DESIRED ROUTINE. THEN USING THE ADDRESS OBTAINED IT WILL
+*GO TO THAT ROUTINE.

$TRAP:

MOV
MoV
TST
Move
ASL

MOV
RTS

RO,=(SP)
2(5P),RO
-(RO)
(RO) ,RO

RO
S$TRPAD(RO) ,RO
RO

E_RO
RAP ADDRESS
By 2

K

IGHT BYTE OF TRAP
ITION FOR INDEXING
EX TO TABLE
TO ROUTINE

3%
-Oﬂs-l

2:THIS 1S USE TO HANDLE THE °"‘GETPRI'' MACRO

S$TRAP2:

MOV
MOV
RTI

(SP) ,=(SP)

4(SP3,2(sP)

.SBTTL TRAP TABLE

s*THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
:*BY THE "‘TRAP'* INSTRUCTION.

$TRPAD:

ROUT INE

. WORD
STYPE
$TYPOC
$TYPOS
$TYPON

.SCOP1
+INSTR

+INSTER

+PARAM

STRAP2
3sCALL=TYPE
JsCALL=TYPOC
3:CALL=TYPOS
J3CALL=TYPON

2:CALL=SCOP
J3CALL=INSTR
JsCALL=INSTER
23CALL=PARAN
23CALL=SAVOS

::MOVE THE PC DOWN
ssMOVE THE PSW DOWN
s sRESTORE THE PSW

TTY TYPEOUT ROUTINE

TYPE OCTAL NUMBER (WITH LEADING ZEROS)
TYPE OCTAL NUMBER (NO LEADING ZEROS)
TYPE OCTAL NUMBER (AS PER LAST CALL)
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CNDURA .M 29-0CT-82 16:31
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sTHIS UTILITY POKES THE MAINT DATA BASED UPON THE

TRAP+1 (104 g

sCALL=CONVRT  TRAP+135(10441
SETFLG ;:CALL=SETFLG  TRAP+14(104414)

sSHIFT LEFT

¢MOVE THIS TO LESS1
:CREATE LESS1
:CLEAR TNZVC

sLEVEL TO ALLOW INTERRUPTS

XXX0

DUBASE
DUBASE ,HRXCSR  ;XXX1
DUBASE
DUBASE ,RXDBUF  ;XXX2

DUBASE ,PARCSR  ; XXX2

DUBASE
DUBASE ,HRXDBUF  ;XXX3
DUBASE ,HPARCSR  ;XXX3
DUBASE

s XXX&

DUBASE ,HTXCSR  ;XXX5
DUBASE
DUBASE ,TXDBUF  ;XXX6
DUBASE
ggﬂASE.NTXDBUF s XXX7

; INFORMATION CONTAINED IN STMP1 AND IT IS
sSHIFTED IN BY THE CONTENTS OF SHIFT

$THP :PICK_UP CARRY IN BIT 15
’iSH FT INTO BIT 14

sCLR BIT 15
:POKE MAINT DATA
sPOKE CLK

TRAP TABLE
.RESOS  ;:CALL=RESOS
.CONVRT :
;UTILiTIES
:THIS UTILITY CALCULATES PRIORITY LEVEL
DULEV: ASL DUPRT
ASL DUPRT
ASL DUPRT  :
ASL DUPRT
ASL DUPRT  :
MOV oupnr LESST
SUB ESS1
BIC 037 LESS1
RTS
DUPRT: PRS
LESS1: PR&
:NEW DU ADDRESSES
DUADDR: ?gg DUBASE ,RXCSR
MOV
INC
MOV
MOV
INC
MOV
MOV
INC
MOV DUBASE , TXCSR
INC DUBASE
MOV
INC
MOV
INC
MOV
RTS
DUBASE: 0
RPOKE: BIC #MTDATA,STXCSR
CLR $TMP2
ROR $TMP1  :FORCE CARRY
ROR
ASR $STHP
BIC #8IT15
BIS $TMP2 érxcsu
BIC #CLK,STXCSR
BIS #CLK.@TXCSR
DEC SHIFT
BNE RPOKE
RTS PC

SEQ@ 0070
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CNDURA.M11  29-0CT-82 1 TRAP TABLE SEQ 0071
8230 :THIS n0gr1ns CALCULATES ODD PARITY FOR AN 8 BIT CHAR
8231 017110 016767 162364 162364 O0DD8: MOV TMP1,STHP ;SAVE TEMP1
82 017113 005067 162362 CLR $TMP3
azg‘ 017122 012727 000010 MOV #8.,(PC)+
82 017158 000000 48: 0
8235 017130 006067 162346 18: ROR STHP
u§ 017134 005567 162344 ADC STMP
8237 017140 005367 177762 DEC 4
8238 017144 001371 BNE . 18
8239 017143 006067 162332 ROR $TMP3
8240 017152 103404 BCS 2
8241 017154 052767 000400 162316 BIS #BIT8,$THP1 ;SET ODD PARITY
8242 017162 000403 BR 3s
8243 0171664 062767 000400 162306 2%: BIC #BIT8,$THP1 ;CLR EVEN PARITY
8244 -$TMP1 NOW HAS ODD PARITY CHARACTER
ggzg 017172 000207 3s: RTS PC
8247 :THIS ROUTINE CALCULATES EVEN PARITY FOR AN 8 BIT CHARACTER
8248 017174 016767 162300 162300 EVENS: MOV $STMP1,$TMP2 ;SAVE TEMP1
8249 017202 005067 162276 CLR STMP3
8250 017203 012727 000010 MOV #8.,(PC)+
8251 017212 000000 48: 0
8252 017214 006067 162262 18: ROR $TMP2
8253 017220 005567 162260 ADC $TMP3
8254 017224 005367 177762 DEC 4
8255 017230 001371 BNE 1%
gggg o;;zsz ! 7 162246 gg@ g;nrs
8258 817328 02392} 000400 162232 BIS #BIT8,STHP1 ;SET EVEN PARITY
8259 0172646 000403 BR 3s
8260 017250 042767 000400 162222 2%: BIC #BIT8,STHPI :CLR ODD FARITY
8261 $TMP1 NOW HAS EVEN PARITY CHARACTER
gggg 017256 000207 38: RTS PC
8264 017260 062716 000002 TRPREG: ADD #2,(SP) ;ALLOW IT TO "'CRUNCH'* INTO HLT BACK

65 :IN MAIN PART OF THE PROGRAM
66 017264 000002 RTI
8267 017266 POINT=. :SAVE POINTER
(1) 000100 .=100
(1) 000100 017266 $CLKVEC ;LKVEC HANDLER
(1) 000102 000300 300 : INTERRUPT HANDLER PRI
(1) 000140 =140 *BRKVEC
(1) 000140 170000 170000 :0DT START ADDRESS
() 2001 B3 SO0t RESTORE POINTER
.: 4
:}; 8};293 104401 017274 $CLKVEC: L:P;.Cltﬁfs
(1) 317%54 30&05% 5514 55 6 CLKMES: .ASCIZ <1§><1z>/txv5c INTERRUPT = DISCONNECT LTC /
(1 017 3 020103 047111 524
(1) 81731 8 11;; 50152 20124
(1) 017316 290 45 o¢1ss§
(1) 017326 047117 042516 0521
(1) 017332 046040 041524 0
8268 1 LEND
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'CNDURA.M11 C(T-82 16:31 CROSS REFERENCE TABLE == USER SYMBOLS SEQ 0072

'AAA 003200 1500
'ABASE = 000000 150
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' CNDURA .M11 29-0CT-82 16:31 CROSS REFERENCE TABLE == USER SYMBOLS
'DISPRE 000174 1504
‘DNA = 100000 150#
'DNAINT= 000040 150#
DSC = 100000 150#
DSINTE= 000040 150#
DSR = 001098 150#
DSWR = 1775 1504
DTR = 000002 81504
pT 002116 gtsoc
DT4 0021 150#
DUADDR 01 8150 8176 8195#
DUBASE 01 8150 8176 8195 8196 8197 8198« 8199
8206 8207 8208« 8209 8210« 821 8213#
DULEV 016615 8150 8182#
DUPRT 01 8150« 8182 8183 B184+ B185 8186 8187
DURIS 001740 81504 8176+
DURIV 001736 81504 8176+
DUTIS 001744 81504 8176+
DUTIV 001742 8150# 8176+
EIGHT = 006000 81504 8162 8163 8164 8165
EMTVEC= 000030 81504«
EM 0017 8150#
00202 8150#
Em3 00204 8150#
Mé 001746 81504
ERRCNT 001114 8150#
ERRVEC= 81504« 8176+
VENS 17174 82480
EVEPAR= 001400 1504
EVPAR = 0004 8150#
FIVE = 81504 8152 8153 8166 8167 8168 8169
FRMERR= 020000 8150#
GNS = weveee | 8176
HDXEN = 000010 8150#
HILIM 013534 81764+
HLDO 001130 81504 8176+
MLD1 001132 8150# 8176+
MLD. 001134 81504 8176+
MLD 001136 81504 8176+
HLD4 001140 31500 2176'
HLDS 001142 1504 176+
MLD6 001144 81504 8176+
HOLD 001120 8150#
HPARCS 001724 8150# 8203+
HRXCSR 001714 81504 8197+
HRXDBU 001720 81504 8202+
HT = 000011 8150 8176
HTXCSR 001730 1504 8207+
HTXDBU 001734 150# 8211+
INBUF 0160 150 81764
INIFLG 001 81504+
INSTER= 10440 8150 8176#
INSTR = 1044 150 81764
INSTR2 01334 1764
IOTVEC= 000020 1504«
I1SYMoD= 000000 1504 8152 8153 8154 8155 8156 8157

8200 8201+ 8202

8191»

8158 8159 8160

8203

8161

8204+

8162

SEQ 0074

8205

8163
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OVRRUN= 040000
PARAM = 10441% 8176#

152« 81

165« 81

PARAM1 01337
PARCSR 00172

PAREN = 001000
PARER = 010000
PARERR 013446
PARTI 013530
PASCNT 001112

€382

NN OO = b o i e cd e e e e e e e e d e e D e e e D s e i e e [\ D e i i e e e e e e o e
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8176+

PIRQVE= 000240

POINT = 017266

POPRO = 012600

POP1SP= 005726

POP2SP= 022626
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SSIVVTSCLST

Co 0o
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Vo
rf v

=
=
z

PR6 = 000300
= 0
=

PUSHRO= 010046
PUSH1S= 005746
PUSH2S= 024646
PWRVEC= 000024
RDSW 012706
RECACT= 004000
REPLAY 012374
RESTAR 014720
RESTRT 012554
RESVEC= 000010
RESOS = 104412
RETURN 001104
RING = 040000
RINTEN= 000100
ROTADD 001170
RPOKE 017022
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CNDUR=A MACY11_30(1046
CNDURA.M11 29-0CT-82 16:31

8164 8165 8166 8167 8168 8169 8170
RXDONE= 000200 8150#
RXERR = 100000 8150#
SAVIT 014242 8176#
SAVPC 001126 81504 8176+
SAVSP 001116 81504 8176+
SAVDS = 104411 8176#
SCOP1 = 104405 8176#
SEND = 000020 81504
SEREC_ 001150 81504
SETFLG= 104414 8150 8176#
SEVEN = 004000 81504 8158 8159 8160 8161 8174 8175
SEXMIT 001147 81504
SHIFT 001122 81504 8152« 8153+ 8154+ 8155+ 8156+ 8157«
8164 8165+ 8166+ 8167+« 8168+« 8169 8170+
sSIX = 002000 81504 8154 8155 8156 8157 8170 8171
SPACNT= 014007 81764+
SRD = 002000 8150#
STACK = 001100 81504 8176
STD = 000010 81504
STFLG_ 001173 81504+
STKLMT= 177774 81504
STPSYN= 000400 81504
SV05 013550 81764
SWR 001440 81504+ 8176
SWREG 000176 81504 8176
SWREGL 012710 81764
SW0 = 000001 81504
SW00 = 000001 8150#
sSw01 = 000002 81504
sSw02 = 000004 81504
sw03 = 000010 81504
SWo4 = 000020 8150#
SW05 = 000040 81504
SWo6 = 000100 81504
SW07 = 000200 81504
SW08 = 000400 81504
sSw09 = 001000 81504 8176
SW1_ = 000002 81504
SW10 = 002000 81504
SW11 = 004000 81504
SWw12 = 010000 81504
SW13 = 020000 81504
SW14 = 040000 81504
sWwi15 = 100000 81504
SWw2 = 000004 81504
SWw3 = 000010 81504
Swé = 000020 81504
SW5 = 000040 81504
sSwé = 000100 81504
SWw7 = 000200 81504
Sw8 = 000400 81504
w9 = 001000 3150#
SYNCNO 001146 81504+
SYNEXT= 020000 81504 8166 8167 8168 8169 8170 817
SYNINT= 030000 81504

817N

158+
171+
172

8172

8172

8173

8173

8174

8174

8175

8175

SEQ 0077
8199+
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SYNSCH= 000020 150# 815 8153 8154 8155 8156 8157 8158 8159 8160 161 8162 8163
3164 816% 8166 8167 8168 8169 8170 817 8172 8173 3174 8175

SYSTST= 014000 8150#

TBITVE= 000014 81504

TEMP 016064 81764+

TKVEC = 000060 81504

TPVEC = 000064 81504

TRAPVE= 000034 81504+

TRPREG 017260 8264#

TRTVEC= 000014 8150#

TST1 003374 8150 8152# 8176

TST10 005426 8159#

TST11 005654 8160#

ST 006102 81614

ST 006330 81624

1ST14 006556 81634

1ST15 007004 8164#

1ST16 007232 81654

TST17 007460 8166#

TST2 003622 81534

1ST20 007672 81674

TST21 010104 8168#

1ST22 010316 816954

TST23 010530 81704

TST24 010742 81714

TST25 011154 8172#

TST26 011366 81734

TST%?‘ 011600 81744

TSTS : 004050 81544

TST30 012012 8175#

TST4 004276 8155#

TSTS 004524 81564

TST6 004752 81574

TST17 005200 8158#

TTST 016206 81764

TXCSR 001726 31500 8152« 8153+ 8154~ 8155+ 8156+ 8157+« 8158+ 8159+« 8160+ 8161+ 8162« 8163+
164 B165+ 8166+ 8167+ 8168+ 8169+ 8170+ 8171« 8172« 8173« B174+ 8175+ 8205+

8218+ 8224+ 8225+ 8226+

TXDBUF 001732 81504 8209+

TXDONE= 000200 81504

TXINTE= 000100 8150#

TYPE = 104401 8150 81764 8267

TYPOC = 104402 81764

TYPON = 104404 81764

TYPOS = 104403 81764

USER = 000000 81504

voID = 000001 81504

WRDCNT 014004 81764+

ZERO 012306 81764

$APTHD 002136 81504

SASTAT= wrenee | 7010

SATYC 000024 7010#

$ATY1 000000 70104

$ATY3 000006 70104 8176

$ATY4 000016 70104 8176

$SAUTOB 001434 81504
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SGTSWR= teneer |

SCKSWR= teennn |
$CLKVE
$SHIBTS

SERFLG
SERMAX
SERROR
SERRPC
SERRTB
SERRTY
SERTTL
SESCAP
SE TABL
SETEND
SFATAL
S$FFLG
$FILLC
$FILLS
$GDADR
$GDDAT

2 o OTMen S 2
SN i

$Cou]
$COW2
SCHARC

$BASE 00160
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SICNT 001494 31500 8176+
SINTAG 001435 150#
SITEMB 001414 1504 8176+
SLF 001524 1500 8176
SLFLG 000243 0104+
SLPADR 001408 81504+ 8176+
SLPERR 00141 81504« 8176+
$MADR1 001560 81504
$MADR2 001564 81504
$MADRS 001370 81504
SMADRG 001574 ngOﬁ
SMAIL 001526 1504 8176
SMAMS1 001356 81504
SMAMS2 001562 81504
SMAMS 0015?3 81504
SMAMSS 0015 81504
S$MBADR 002140 81504
SMFLG 000%45 70104+
$MSGAD 00154 7010~ 81504
SMSGLG 001544 7010+ 81504
$MSGTY 001526 7010«  8150#
SMTYP1 001557 3150'
SMTYP2 001563 1504
SMTYP 001597 81504
SMTYPG 001573 8150#
SMXCNT 016522 81764

= 000000 68374 81764

L 1456 31520 317?,

SNWTST= 152# 815 81544 81554 B156# 81574 B8158¢ 81594 81604 81614 8162# 81634 81644
81654 Bl66x B1674 B1684 B1694 81704 B1714 81724 81734 8174w B175#
SOCNT 014656 81764+
014660 81764+
SOVER 016502 81764
$PASS 001534 81504+ 8170~
SPASTM 002144 8150#

DN 014 8150 81764
SQUES 001522 81504 8176
SROCHR= teewer | 8176
SRODEC= weewae | 8176
SRDLIN= weeeee | 8176
SRDOCT= weweee | 8178,

SREGAD 001460 815

SREGO 001462 81504 8176+
SREG1 001464 81504 8176+
SRE 0014 1504 8176+
$REG 00147 1504 176+
SREG4 00147 150# 176+
SREGS 001474 1504 176+
SROA = weeeee | 8176

S$SAVRE= teesse | 178

$SCOPE 16179 15 81764
$SETUP= 1 1504 8176
R

$SVP( = 80§?36 1583

$SWR = 177400 64974 8150 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162
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8166 8165 8166 8167 8168 8169 8170 817N 8172 8173 8174 8175

vy
gow

$SWREG 001550
$SWRMK= 000000
STESTN 1532
S$TIMES 1512
$7k8 001446
$TKS 001444
$TMPO 001476
$TMP1 001500

v
+SSSSSRT
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O« 8171+« 8172+« 8173+
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$TN = 0000

$TPB 00
$TPFLG 00
$TPS 001450
STRAP 016524
S$TRAPZ2 016546
$TRP = 000015
S$TRPAD 016560
$TSTM 002142
$TSTNM 001402
STYPBN= ttttnd
STYPDS= nennen
S$TYPE 012742
STYPEC 013154
STYPEX 013222
S$TYPOC 014460
STYPON 014474
$TYPOS 014434
SUNIT 00
SUNITM 002143
SUSWR 00155
001576
001
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7w w®
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Nw
=%
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81724

~NO
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~NO

8163#
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©000
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[+ T ]
pur guard
~N O~
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SVECT1
SVECT2
$XTSTR 01625
SOFILL 01465
S$4LOCAT= wenene |
. = 017340

$
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8174 8175
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.BEGIN 003310
.CONVR 013634
.EOP 01%% B
LINSTE 01
LINSTR 013224
.INST1
-MSG 1324
.PARAM 01334
.PFAI 1466

81764
-RESO 1360

cCc
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.SAVOS 013542
.SCOPE 016170
.SCOP1 (12720
LSETFL 01401
START 00215
SASTA= meenee |
SX = 002136

8176

00 ~J 00 o 0o 0o Co O o~
g3gFa @
$o8e2eT

— ) b e ot o
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COMMEN 15 8150#

ENDCOM 157 815

ERROR 150# 315 8153 154 8155 8156 8157 815? 159 319g 8161 8162 8163 8164 8165

166 1? 8168 169 8170 81N 8172 817 174 1

ESCAPE  1698¢ 8150#

GETPRI 13124 8150#

S g i

NEWTST 162 81504 815 8153 8154 8155 8156 8157 15 8159 8160 8161 8162 8163 8164
816 8166 816; 8168 8169 8170 8171 8172 3172 8174 8175

POP 153¢ 7010 8150#

PRGEND 1154 8176

PRGFRT 72504 8150

PUSH ;145‘ 7010  8150#

PUSSYF

REPORT 54634 64964 81504

RSETUP 74454 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163 8164 8165

o g;?g. g}gz 8168 8169 8170 817 8172 8173 8174 8175

SCOPE 8150# 815; 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163 8164 8165
8166 816 8168 8169 8170 8171 8172 8173 8174 8175 8176

sC1 6828¢ 8176

SETPRI 12794 81504

SETTRA 64954 81764

SETUP 13374  8150#

SKIP 17334 81504

SLASH 15174  8150#

SPACE 8150#

STARS 1485¢ 7010 81504 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163
8164 B165 B166 8167 8168 8169 8170 817 8172 8173 8174 8175 8176

SWRSU 14534  B150#

TRMTRP 81764

TSETUP  7457#

TYPBIN 2088# 81504

TYPDEC 2058# 8150#

TYPNAM 18264 8150#

TYPNUM  2025# 8150#

TYPOCS 1978# 81504

TYPOCT 19414 B150# 8176

TYPTXT 18944  B150#

$BEGIN 7194 8150

$BINAR 334

SBUFFE 71244 8176
SCABLE 8001#

SCATCH 6588¢ 8150
$CK 69648 8176
SCLRVE 7344 8150
$CONVR 135 8176
$ONA 78340

$EOP 6882¢ 8176
SGETFL 6764# 8150
SGETPA 6754# 8150
SGETSY 67704 3150
$HEADE ?6990 150
S$INSTR 011# 8176
$1508 77624

. S — P —— S — - G S ————. et
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SMATCH  7571#

$MER 76324

$MERW 73804

i 7615#

$MSG 7098 8176

SNEED 8103# 8176

SPARAM 70414 B176

tPFAéL ;;ggz 8176

SPOKER  7559# 815; 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163 8164 8165
8166 816 8168 8169 8170 8171 8172 8173 8174 8175

SRCNET B013#

SRECAC  7493#

$SREG 72234 8173

SRESET 73764 815 8153 8154 8155 8156 8157 8158 159 8160 8161 8162 8163 8164 8165
8166 8167 8168 8169 8170 8171 8172 8173 174 8175

SRXACTY 74704

$SCOPE 68334 8176

$SCOP1 6999# 8176

SSETFL 6790# 8176

SSETVE 6599+ 8150

SSTART 6677# 8150

SSTRIP  7803#

$SYMBO 515¢ 8150

:g:;g; 733?: 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163 8164 8165

STSTNO 68404 815; 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163 8164 8165

o 9; 816 8168 8169 8170 817 8172 8173 8174 8175

SVARIA 66154 8150

SWORDF 7701#

SWORDO 76514 815 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163 8164 8165
8166 816 8168 8169 8170 8171 8172 8173 8174 8175

SWORDP 77294

$SCMRE B8150#

$SCMTM  B150#

$SESCA 17114  8150#

SSNEWT 1662# 81504 8152 8153 8154 8155 8156 8157 8155 8159 8160 8161 8162 8163 8164
8165 8166 8167 8168 8169 8170 81N 8172 817 8174 8175

$SSET 8176#

$SSETM  8150#

$SSKIP 17464 B150#

+EQUAT 1894 6495# 8150

+HEADE 618 6494

LNIT sgsac 8150# 8267

LSETUP 12138 64944 8150

. SWRH] 104#

LSACTY S064# 64964 150

LSAPTB  S109# 64964 150#

SAPTH  S370# 64964 150

LSAPTY 55474 64964 010

SASTA  S417»

.SCATC 64944

LSCMTA 1 64944 8150

2

o

&20
g%.‘

481
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64954 176
+SERRT 8 64954 176
SMUL

3AND 45078
- SRDDE 914
. 7974
«SREAD 395#
SR2AZ 49584
SSAVE 39694
.$ L7714
.$SB2C  4874#

$

SSCOP 24544  6L95# 8176
$SUPR

STRAP 40734 6495# 8176

09
.STYPE 854 64944 8176
.STYPO 1128 6495¢ 8176

. ABS. 017340 000

ERRORS DETECTED: O

CNDURA , CNDURA/CRF /NL : TOC=CNMAC2. SML , CNDURT.M11,CNDUR2.M11,CNDURA. M1
RUN-TIME: 17 16 1 SECONDS

RUN-TIME RATIO: 81/35=2.3

CORE USED: &3k (86 PAGES)




